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Abstract 
 

This study aimed to 1) analyze the supply chain of organic egg production, 2) study 

the management of the supply chain of organic egg production, and 3) suggest guidelines 

for developing organic egg production throughout the supply chain. The sample consisted 

of 61 organic egg production farmers certified by the Department of Livestock Development 

in Chiang Rai, Chiang Mai, Chachoengsao, Nakhon Pathom, and Suphan Buri provinces. 

Data were collected through interviews and participatory seminars and were analyzed using 

descriptive statistics and content analysis.  

The results of the research found that 1) the supply chain of organic egg production 

consists of the linkages of various activities in organic egg production, from the upstream 

level, namely organic egg production factors and input procurement, to the midstream level, 

namely organic egg production according to the Agricultural Product Standards, Organic 

Agriculture, Volume 2: Organic Livestock, and to the downstream level, namely organic 

egg product distribution. 2) The management of the supply chain of organic egg production 

using the SCOR Model supply chain management concept, which consists of the following 

main processes: (1) planning of inputs, production, and delivery and return of organic egg 

products; (2) procurement of inputs, namely organic layer breeds, organic layer feed and 

organic egg-laying hen house and equipment; (3) organic egg-laying hen production 

following organic livestock standards; (4) direct delivery of organic eggs to consumers, 

large buyers, egg collection centers, organic agricultural product purchasing companies, the 

Royal Projects or farmer groups or community enterprises;  (5) no returns of products due 

to damage during transportation were found. Customers understood the nature of the product 

and possible damages. 3) Guidelines for developing organic egg-laying hen production 

throughout the supply chain, including upstream level: networking with other farmers to 

produce the production inputs, setting up farmer groups to produce production inputs, and 

training in producing production inputs. Midstream level: sharing knowledge on organic 

egg-laying hen raising among farmer groups, creating mentors for organic egg-laying hen 

raising by farmer groups, and training on organic egg-laying hen raising. Downstream level: 

Farmer grouping/network creation for product distribution, offline and online market 

sourcing, and procurement of additional distributors. 
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2.3 N AP1N2�1O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N1B��6� 

 

3. �อ�N���อ��@#/>�?" 

�6%/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ �CO/>�5$R�O� 6/���1�N���6%
/>�5$�5��N1R��?Q 

3.1 �อ�N���O@��#>�@�# �%4�6�%�?P0@�16 R�OO�N N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?PR�O%5��6%
%5�%1�%4���6%�'>�R�NR�NO'4R�NR�N1>��%?$R�6��%#�0B25�/RQ��?  .0. 2565 � 6�/� 123 %6$ (2 6�5�
 5��6%4��O'4%5�%1�#6�%�6�2>�คO6�0B25�/R �%#�0B25�/R, 2565) N�O6/�O6�?P�0B25�/RQ��O1��?P O'4�CO�?P
N�?P$/�O1� 

3.2 �อ�N���O@��AQ��?P  AQ��?P0@�16ัR�OO�N �5�//5�N�?$�Q/#N �5�//5�N�?$�%6$ �5�//5��ค%��# 
�5�//5��4N�>�N�%6 �5�//5�2B %%��B%?  

3.3 �อ�N���O@�#>">N/ล@ %4$4N/'6Q��6%0@�16�6� 1 �? %4//N6� N�A1��B'6ค# 2565 �@� 
N�A1��5�$6$� 2566 

 

 

 

  



10 

 

 

4. �#อ�O�/ค>��อ��@#/>�?" 

�6%/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ �CO/>�5$R�O� 6/���%1�O�/ค>��1�
�6%/>�5$ �5��?Q 

 

 
 

 @��?Pั1.1 �%1�O�/ค>��1��6%/>�5$ 

 

5.ั�>"@!0?��์ 

5.1ัN�1�#อ>��#?"์ั(organic agriculture)ั/#6$�@� %4���5��6%�6%�'>��O6��6%N�1�%
O��1�คR%/# �?PN�AQ1/�B��N1%4���>N/0 %/#�@�ค/6#/'6�/'6$�6��?/"6  /��%�?/"6  P�$N�O��6%Q�O
/52�B�%%#�6�> /'?�N'?P$��6%Q�O/5��B�>��6��6%25�Nค%64/RO'4R#NQ�O  A� 25�/R /%A1�B'>��%?$R�?PR�O#6�6�
N�ค�>ค�6%�5�O�% 5��B�%%# (genetic modification) #?�6%�5��6%�5��'>�"5��RP�$N�O��6%O�%%C��O/$
ค/6#%4#5�%4/5� N AP1%5�162"6 �6%N�็�N�1�%1>��%?$RO'4คB�"6 �?P2 6ค5��1��'>�"5��RQ��B��5Q��1� 

5.2ั�0B2?�/์อ>��#?"์ั(organic livestock) /#6$�@� �0B25�/R�?P�'>�P�$Q�O%4��N�1�%1>��%?$R 
P�$#?�6%�'>��6#�O1� 6/��/>�?�6%�'>��0B25�/R1>��%?$R�6##6�%�6�2>�คO6N�1�% N%AP1� N�1�%1>��%?$R N'N# 1: 
�6%�'>� O�%%C� O2���'6� O'4� 6/�N6$�'>��'O'4�'>�"5��RN�1�%1>��%?$R (#�1. 9000 N'N# 1-2552) 
O'4#6�%�6�2>�คO6N�1�% N%AP1� N�1�%1>��%?$R N'N# 2 : �0B25�/R1>��%?$R (#�1. 9000 N'N# 2-2561) 

5.3ัR�NR�Nอ>��#?"์ (organic laying hen)ั/#6$�@�ัR�NR�N�?P�'>�P�$Q�%4���0B25�/R1>��%?$R  
5.4ั�@#์!ั(farm) /#6$�@�  AQ��?P� 6�6%N'?Q$�25�/R �5Q��?Q16�#?�6%�'C� A�/%A1 A�16/6%25�/R

%N/#�O/$ 

O�/�6��6% 5��6�6%�'>�R�NR�N
1>��%?$R�'1�/N/�P�N1B��6� 

%C�O���6%�5��6%/N/�P�N1B��6�
�6%�'>�R�NR�N1>��%?$R  
- �O��Q 6 
- �'6��Q 6  
- �'6$�Q 6 

/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R  
- �O��Q 6 
- �'6��Q 6  
- �'6$�Q 6 
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5.5ัหN/�P�NอB��@�ั(supply chain)ั /#6$�@� Pค%��N6$�@P�O2���@�ค/6#N�AP1#P$�N�?P$/ 5�
�5��1�/�N/$�B%�>��N6�N �5Q�O�N�O��Q 6 �'6��Q 6 ���@��'6$�Q 6 N AP12N��N12>�คO6O'4�%>�6%R��1�2�1� 

1B�2�คR�1��CO�%>P"ค 

5.6ัหN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ (supply chain) /#6$�@� Pค%��N6$�@P�O2���@�
ค/6#N�AP1#P$�N�?P$/ 5��5��1��>��%%#�N6�N Q��6%�'>�R�NR�N1>��%?$R �5Q�O�N�O��Q 6 (�ั��5$Q��6%�'>�R�NR�N
1>��%?$R) �'6��Q 6 (�6%N'?Q$�R�NR�N1>��%?$R) ���@��'6$�Q 6 (�6%� 6/�N6$�'�'>�R�N1>��%?$R) 
 

6.ั�#>P"��์�?Pค@�/N@�>R�O#?� 

6.1 N�1�%�%�CON'?Q$�R�NR�N1>��%?$RO'4�CO�?P2�Q��4N'?Q$�R�NR�N1>��%?$RR�OO�/�6��6%�'>�R�NR�N
1>��%?$R�'1�/N/�P�N1B��6��6%�'>� 

6.2 /�N/$�6��?PN�?P$/�O1�26#6%�� 6�O1#C'R�Q�OQ��6%2N�N2%>#N�1�%�%�CON'?Q$�R�NR�N1>��%?$R
�'1�/N/�P�N1B��6��6%�'>� 
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���?Pั2 

Nอ�2@#Oล>�@�/>�?"�?PN�?P"/�Oอ� 
 

�6�/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ #?N1�26%O'4�6�/>�5$�?PN�?P$/�O1� 
�5��?Q 

1. O�/ค>�N�?P$/�5�/N/�P�N1B��6�O'4�6%�5��6%/N/�P�N1B��6� 

2. O�/ค>�N�?P$/�5�N�1�%1>��%?$R 
3. O�/ค>�N�?P$/�5�R�NR�N1>��%?$R 
4. �6�/>�5$�?PN�?P$/�O1� 

 

1.ัO�/ค>�N�?P"/�?�หN/�P�NอB��@�Oล>�@#�?��@#หN/�P�NอB��@� 

 1.1ัO�/ค>�N�?P"/�?�หN/�P�NอB��@�ั(Supply Chain) 
 R#Nค>' 1?.  1%R�N�1%R (Michael E. Porter) R�OQ/OO�/ค/6#ค>�N%AP1��6%�%>/6%�'$B��R�N6�
��ค/6#N%AP1� <How competitive forces shape strategy= O'4�N1#6�? ># R/�5�2A1 <Competitive 

Strategy: Techniques for Analyzing Industries and Competitors= �@P��'N6/�@��6%� 6/���'$B��R
N AP1�6%O�N��5��6��B%�>��@Q�1$CN�5� '5��'5��5� 5 �%4�6% (Porter’s five forces) คA1 "5$คB�ค6#�6� 

�CO%N/#1B�26/�%%#%6$Q/#N "5$คB�ค6#�6�2>�คO6/�%>�6%��O�� 1 6�6�Q��6%�N1%1��1��CO�AQ1 1 6�6�
�N1%1��1��CO�6$/�CO�5�/6�ั��5$�6%�'>� O'4ค/6#%B�O%��1��6%O�N��5�"6$Q�1B�26/�%%# N AP1Q/O/�N/$
�B%�>�N�O6Q��@�2"6 �6%O�N��5��?P� 6'5�N��>�1$CN O'4N2�1�'$B��RN AP1�6%O�N��5��5P/R� 3 �'$B��R (Three 

Generic Strategies) คA1 �'$B��R�6%N�็��CO� 6�O6��O��B� �'$B��R2%O6�ค/6#O���N6� O'4�'$B��R#BN�N�O�
�'6�N� 64�'BN# 1?��5Q�Q��? ค.0. 1985 $5�R�O�? ># R/�5�2A1 <Competitive Advantage: Creating and 

Sustaining Superior Performance= �?PR�O�'N6/�@��'$B��R�6%O�N��5�/'5��?P�4� 6Q/ON�>�ค/6#R�ON�%?$�
Q��6%O�N��5� R�OO�N �'$B��R�6%N�็��CO� 6�O6��O��B�O'4�'$B��R2%O6�ค/6#O���N6� O'4R�ON2�1O�/ค>� 
/N/�P�NคB�คN6 (Value Chain) /N6 /N/�P�NคB�คN6�?QN�็�2>P��?P2%O6�คB�คN6Q/OO�N/�N/$�B%�>��6�ค/6#R�ON�%?$�
Q��6%O�N��5� �@P�/N/�P�NคB�คN6O���N6��6�/N/�P�N1B��6� O#O/N6Q��ั��B�5�/N/�P�N1B��6��4#?ค/6#2 6ค5�
�6��B%�>�N >P##6��@Q� O�NO�/ค/6#ค>��6%/>Nค%64/R1B�26/�%%#P�$�6%Q�OO��� 6'1��'5��5� 5 �%4�6% 
�'$B��RN AP1�6%O�N��5��5P/R� O'4O�/ค>�/N/�P�NคB�คN6�1� R#Nค>' 1?.  1%R�N�1%R 26#6%��%4$B��RQ�O�5��6%
�5��6%/N/�P�N1B��6� (Supply Chain Management) R�O �5��5Q� Q�2N/��?P 1 O�/ค>�O'4�&1�?N�?P$/�5� 

/N/�P�N1B��6��@��%4�1�R��O/$O�/ค>�/N/�P�N1B��6� �6%�5��6%/N/�P�N1B��6� O'4/N/�P�NคB�คN6  
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 1.2 ค/@!ห!@"�อ�หN/�P�NอB��@�ั(Supply Chain)ัOล>�@#�?��@#หN/�P�NอB��@� (Supply 

Chain Management) 
 �6��6%%/�%/#ค/6#/#6$�1�ค 6/N6 /N/�P�N1B��6� R�O#?�CON2�1ค/6#/#6$R/O �5��?Q  
 ค%>2P�N!1%R [Christopher (1992)] Q/Oค/6#/#6$R/O/N6 /N/�P�N1B��6�N�็�Nค%A1�N6$�1�1�คR�%�?P
N�?P$/N�AP1��5��5Q�O�N�O��Q 6O'4�'6$�Q 6 �@P�ค/6#O���N6��1��%4�/��6%O'4�>��%%#�?P�N1Q/ON�>�#C'คN6�1�
2>�คO6O'4�%>�6%�?P2N�#1�Q/O�5��CO�%>P"คค�2B��O6$ 

 Ganeshan O'4 Harrison (1995) Q/Oค 6� 6�5�ค/6#R/O/N6 /N/�P�N1B��6�N�็�Nค%A1�N6$�1� 

2>P�1 6�/$ค/6#24�/�O'4�6�N'A1��1��6%�%4�6$2>�คO6�?P#?/�O6�?PN�?P$/�5��6%�5�/6/5��B�>�O'4�6%O�%
2"6 Q/O�'6$N�็�2>�คO6�5Q��'6�O'4�5Q�2B��O6$ �'1����6%�%4�6$2>�คO62 6N%O�%C�N/'N6�5Q�R�2CN�CO�%>P"ค 

 ���B� 15�$B%?�B'. (2558) R�O�'N6//N6 P�N1B��6�O2���@��6%R/'�1�2>�คO6O'4�%>�6%1$N6�#?�6%
�5��6%�?P�?�6��B�N%>P#�O��1��6%Q�O�ั��5$�6%�'>�2CN�%4�/��6%�'>�O'4#?�6%2N�#1�Q/O2>�คO6O'4�%>�6%
�5Q�#?�6%Nค'AP1�R/'2N��N1���%4�5P��@�#A1�CO�%>P"ค P�$� 6Q/ON�>��6%2%O6��'� 6R%�6��6%� 6N�>��6��?P#?
�%42>��>"6 �1��6%N�AP1#P$��6%Nค'AP1�R/'�1��CO�%4�1��6% O'4�%��6#ค/6#�O1��6%�1��CO�%>P"ค
1$N6�N�็��?P @� 1Q� 

 Vorst van der (2004) �'N6/�@� /N/�P�N1B��6� คA1 ' 6�5��1��%4�/��6%�5�2>�Q�Q��6%
� 6N�>��6% �@P��4#?2>�คO6/52�B�O1#C' O'4N�>��?PR/'N AP1�1�2�1�ค/6#�O1��6%�1�'C�คO6�5Q�2B��O6$�?P
N�>��@Q�"6$Q�O'4%4//N6��5Q��1�Q�/N/�P�N1B��6��?PO���N6��5� P�$/N/�P�N1B��6�R#NN ?$�O�N%/#�@��CO�'>�
O'4�CO�5�2N�/5��B�>�N�N6�5Q� O�N$5�%/#�@�P�NO'4Nค%A1�N6$�?P�@Q�1$CN�5��%4O2P'�>2�>�2R �6%��2N�ค'5�2>�คO6
�6�P��5�%O6�คO6�'?�O'4�CO�%>P"คR#N� 6�5�N ?$�OคN�6% 5��6�'>�"5��RQ/#N �6%�'6� �6%��>�5�>�6% �6%
�5�� 6/�N6$�6%N�>� O'4�6%�%>�6%'C�คO6 O�N#5��4#?�CO�5�2N�/5��B�>�O'4'C�คO6/'6$%6$ 

 Chopra et.al. (2017) �'N6/�@�/N/�P�N1B��6� /N6�%4�1��O/$�5Q��1��5Q�/#��?PN�?P$/�O1��5��5Q�
�6��%�O'4�6�1O1#N AP1N�>#N�O# (fulfill) ค/6#�O1��6%�1�'C�คO6 �5Q��?Q /N/�P�N1B��6�#>R�O/#6$�@�N� 64
OคN�CO�'>�O'4�CO�5�/6/5��B�>� (supplier) N�N6�5Q� /6�O�N%/#�@��CO��2N�2>�คO6 �COคO6�'?� O'4�5/'C�คO6N1�1?��O/$ 

 �6�ค/6#/#6$Q��O6��O� 26#6%�2%B�R�O/N6 /N/�P�N1B��6�N�็�Nค%A1�N6$�1�1�คR�%/'6$1�คR�%�?P
#?�6%N�AP1#P$��5��1��>��%%# �5Q�O�N�>��%%#�6%�5�/6�ั��5$�6%�'>��1��CO�5�/6�ั��5$�6%�'>�%6$O%� 
N�O62CN�>��%%#�6%O�%2"6 Q/O�'6$N�็�2>�คO6�5Q��'6�/%A1�5Q�2B��O6$ O'4�>��%%#�6%�%4�6$2>�คO6�5Q�
R�$5��CO�%>P"คค�2B��O6$ P�$� 6Q/ON�>��6%2%O6��'� 6R%�6��6%� 6N�>��6��?P#?�%42>��>"6 �1��6%
N�AP1#P$��6%Nค'AP1�R/'�1��CO�%4�1��6% O'42�1��1�ค/6#�O1��6%�1��CO�%>P"ค 

 Handfield and Ernest (1999) �6%�5��6%/N/�P�N1B��6� คA1 �6%�C%�6�6%O'4�5��6%�1� 

P�N%4//N6�1�คR�% O'4�>��%%#�N6� N P�$�6%%N/##A1�1�O�N'41�คR�%�@P�#?�%4�/��6%�6��B%�>��?PQ�O
%N/#�5�1$CNO'4#?�6%O�N��ั��O1#C'�N6/26%%4//N6��5�Q�%4�5��?P#6� N AP12%O6�%4����>�5�>�6%�?P#?คB�คN6
15��4� 6Q/O1�คR�%�?PN�?P$/�O1�#?ค/6#R�ON�%?$�Q��6%O�N��5�O��$5P�$A� 
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 Mentzer et, al. (2001) �'N6/�@� /N/�P�N1B��6� /N6N�็��'BN#�1��B%�>��5Q�O�N 3 �B%�>��@Q�R� �?P#?
ค/6#N�?P$/�O1�N�AP1#P$��1��6%R/'�1�2>�คO6 �%>�6% �6%N�>� O'4�O1#C'%4//N6��5� P�$N%>P#�5Q�O�N
O/'N�� 6N�>�2>�คO6/%A1�%>�6%�N6�R�$5��CO�%>P"ค O'4R�OO�N� Supply Chain 11�N�็� 3 %4�5� คA1 %4�5�
�?P 1 Direct Supply Chain %4�5��?P 2 Extended Supply Chain O'4%4�5��?P 3 Ultimate Supply Chain  

%4�5��?P 1 Direct Supply Chain /%A1 /N/�P�N1B��6��6��%� �%4�1��O/$�'BN#�1� 3 �B%�>�
/%A1#6��/N6�?P#?ค/6#N�?P$/�O1��5��5Q�O�N�O��6� (�CO�5�/6) �N6�ค��'6� (�CO�'>�2>�คO6O'4�%>�6%) R����@�
�'6$�6� ('C�คO6) �5Q�Q�2N/��1��6%2N��N6��1�2>�คO6 �%>�6% �6%N�>� O'4�O1#C'%4//N6��5� 

 
 

 @��?Pั2.1 ค/6#25# 5��RQ�/N/�P�N1B��6��6��%� 
�?P#6:  Mentzer, DeWitt, Keebler, Min, Nix, Smith, & Zacharia. (2001). 

 

%4�5��?P 2 Extended Supply Chain /%A1 /N/�P�N1B��6��$6$ �%4�1��O/$�CO�6$�ั��5$
�6%�'>��5Q�2B��O6$ �CO�6$�ั��5$�6%�'>� �%>15� O'4'C�คO6�5Q�2B��O6$ N�็��6%�$6$/N/�P�N1B��6��6��%�
�/O6�11�R�1?�/�@P�%4�5� P�$�4#?�6%N >P#ค��'6��5Q�Q�2N/��1��CO�'>�O'42N/��1�'C�คO6�@Q�#6 N#AP1
%4��/N/�P�N1B��6�#?2#6�>�N >P##6��@Q��5�N�N�Q�%4�5��?P21��?Q �6%�%>/6%�5��6%/N/�P�N1B��6��O�4#?
ค/6#$BN�$6�#6�O'4�5��O1�#6��@Q� N�AP1��6��6%R/'�1��O1#C'�6��6%คO6 ( information flow) �4�O1�
Q�ON/'6�6��@Q�Q��6%2N��N6��6�'C�คO6�5Q��?P 2 R�$5��CO�'>��5Q��?P 2 O'4�O1#C'�6�2N/�16�N�>��6%2C�/6$ 
/%A1#?�6%� 6Q/O�>�N ?Q$�R��6��O1#C'�?PR�O%5�#6�6�'C�คO6P�$�%� 
 

 
 

 @��?Pั2.2 ค/6#25# 5��RQ�/N/�P�N1B��6��$6$ 

�?P#6:  Mentzer, DeWitt, Keebler, Min, Nix, Smith, & Zacharia. (2001). 
 

%4�5��?P 3 Ultimate Supply Chain /%A1 /N/�P�N1B��6��5Q�2B��O6$ �@P�N�็�/N/�P�N1B��6�
%4�5�2C�2B��6#�?PR�OQ/Oค 6� 6�5�ค/6# �@P�N�็��'BN#�1��%>15��?PN�?P$/�O1��5� �5Q��?P1$CN�O��6�O'4�'6$�6� 
P�$�6%2N��N6�2>�คO6/%A1�%>�6% �4N%>P#�O��6��CO�'>�%6$O%�2B� ( initial supplier) R����@��CO�%>P"ค 
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ค�2B��O6$ (ultimate customer) �%4�1��O/$ �CO�5�2N�/5��B�>��5Q�2B��O6$ �CO�5�2N�/5��B�>� �%>15� 'C�คO6 
O'4'C�คO6�5Q�2B��O6$ 

 

 
  

 @��?Pั2.3 ค/6#25# 5��RQ�/N/�P�N1B��6��5Q�2B��O6$ 

�?P#6:  Mentzer, DeWitt, Keebler, Min, Nix, Smith, & Zacharia. (2001).  
 

Q�2N/��%�?�1��%4N�0R�$P�$2N/�Q/�N �6%�5��6%/N/�P�N1B��6��41$CNQ�%4�5� Direct 

Supply Chain O'4 Extended Supply Chain N�N6�5Q� 2N/�Q�%4�5� Ultimate Supply Chain #?N ?$�
�CO�%4�1��B%�>��?PN�็��%>15��O6#�6�>�?P%5�N16�6%�%>/6%�5��6%�1��%>15�O#N�6��N6��%4N�0N�O6#6Q�O 

Council of Supply Management Professionals (CSCMP) (2004) R�OQ/Oค 6�>$6#�1� �6%
�5��6%/N/�P�N1B��6� คA1 �6%/6�O��O'4�6%�5��6%�>��%%#�N6� N �?PN�?P$/�O1��5��6%�5�/6O'4�6%
�5��AQ1 �6%O�%%C� O'4�>��%%#Q��6%�%>/6%�5��6%P'�>2�>�2R�5Q�/#� P�$�?P�>��%%#N/'N6�?Q %/#�@��6%
�%426��6� O'4ค/6#%N/##A1%N/#Q�%4//N6� 5��#>�% �@P�R�OO�N �CO�'>�/5��B�>� ค��'6� �COQ/O�%>�6% O'4
'C�คO6 P�$�?P26%42 6ค5� คA1 �6%%/#�6%�%>/6%1B�2�คRO'41B��6��5Q�"6$Q�O'4"6$�1��%>15�R/O�O/$�5� 
�@P��4�O1��'5��5�Q/ON�>��6%�%426��6��1��%4�/��6%Q��6%� 6�6��N6� N �5Q�"6$Q�O'4"6$�1�
�%>15� R�OO�N �6%�'6� �6%�6$ �6%11�O���'>�"5��R �6%N�>� O'4N�คP�P'$?�6%2AP126% 

 ��>� P2%5��R (2550: 62-102) �'N6//N6 �6%�5��6%/N/�P�N1B��6� N�็��6%� 6N�>��6��?P�$6$
�1��N6$�6�%4�5�"6$Q��%>15� R�2CNค/6#%N/##A1%4//N6��%>15��5Q�Q�2N/��?PN�?P$/�O1��5��CO�'>�/%A1�CO�6$ 
�5Q�O�N�O��Q 6 �'6��Q 6 O'4�'6$�Q 6 คA1 �5Q�O�NO����5��AQ1 �CO�6$/5��B�>� O'4�N6��%4�/��6%�N6� N ���@�
�6%�%4�6$�'>�"5��RR�2CN�CO�%>P"ค�5Q�2B��O6$ O'4R�OQ/OO�/ค>��6%�%4$B��RQ�O/N/�P�N1B��6�R/O/N6�O1�
N%>P#�O��?P"6$Q��%>15� N/�B�'2 6ค5��@P�"6ค�6%�'>��1�ค�R�$R#NคN1$#?ค/6#�O6//�O6Q��6% 5��6
%4��P'�>2�>�2R N/�B�'�@P�2 6ค5�N�>��6��6%R#N#?%4��/N/�P�N1B��6� N %64R#N%CO/N6�4� 6N�>��6%1$N6�R% 
�5Q��?Q �6% 5��6%4��/N/�P�N1B��6��4�O1�N%>P#�O��O/$�6%Q/O#?/N/�P�N1B��6�"6$Q��%>15� P�$�A1O�N'4
O����N6� N N�็� Internal customers’ �@P��4�O1�#?�6%�%>�6%O'4#?%4���6%�%4�5�N/'6 P�$�N6�N�็�
�CO�6$ #?'C�คO6N�็�0C�$R�'6� O'4�N6�� 6N�>��>��%%#�?P2N�N2%>#�6%�'6� %4���6%�'>�O'4�6%�%4�6$
�'>�"5��R #?�6%� 6�6�N�็��?# N AP1Q/O�%>15�26#6%�� 6%��?�ค/6#26#6%�Q��6%O�N��5�Q�16�6�%>N/�
�1��'6� P�$ค/6#/#6$�1� <16�6�%>N/��1��'6�= (Market place) /#6$�@�  AQ��?P�@P�ค%1�ค'B#
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�'BN#'C�คO6�5Q��?PN�็�'C�คO61$CNO'O/ O'4'C�คO6N�O6/#6$/%A1�'BN#�?Pค6�/N6�4N�็�'C�คO6Q�1�6ค� (Prospect 

customer) �@P�/6�N���6%�'6�ค%1�ค'B#Q�%4�5��5�//5� 16�6�%>N/��1��'6��O�4N�็��5�//5� /6�
N�็��B%�>��6%2N�11��?P#BN��6$�'>�"5��RR��%4N�0$BP%� 16�6�%>N/��1��'6��O�4N�็��%4N�0Q�$BP%� 
N�็��O� �5Q��?QP'�>2�>�2RO'4/N/�P�N1B��6��N6�� 6N�>��>��%%#1$CNQ�16�6�%>N/��1��'6�16�N�็� AQ��?P
%4//N6�'C�คO6O'4�CO�6$ �@P�Q�N่�4#?O�NN� 64'C�คO6 O�N�ON�็�16�6�%> N/�N�?$/�5��5�คCN่O�N�O'4"6$Q�O
2"6 O/�'O1#�?PN�็�1B�2%%ค/%A1"5$คB�ค6# (Threat) �5Q��?P16�#6�6�คCNO�N� �6���/#6$O'4��N���R
�N6� N �6�"6ค%5��?PN%?$�/N6 Pค%�2%O6�2N/����1�/>�?�6%�'>� /%A1 Superstructure �@P��42N��'�N1
�%42>��>"6 �1��6%%5�2N�2>�คO6/%A1�'>�"5��R  

 

 @��?Pั2.4 /N/�P�N�6%�'>�2>�คO6N�1�% 

 

�6%�5��6%/N/�P�N1B��6� N�็��%4�/��6%Q��6%�C%�6�6%N�?P$/�5��6%�5��6%ค/6#25# 5��R 
(Relationship) %4//N6� คCNคO6 (Suppliers) O'4'C�คO6 �5Q�O�N�O��Q 6 �@P�N�็�O/'N�� 6N�>��1�2>�คO6-/5��B�>� 
(Origin Upstream) ��2>�คO6O'4/%A1/5��B�>��5Q�R�O#?�6%Nค'AP1�$O6$ �5�N�O�O'42N�#1�Q�O�N'4�N/��1�
/N/�P�N1B��6� ��2>�คO6R�O2N�#1�R��@��CO %5�ค�2B��O6$ (Customers Downstream) R�O1$N6�#?
�%42>��>"6 O'4�%42>��>�'�5Q�Q�N�>��O��B�O'4%4$4N/'62N�#1� 
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 @��?Pั2.5 /N/�P�N1B��6�"6$Q�1�คR�% (Internal Supply Chain) 

�?P#6: ��>� P2%5��R (2550).  
 

/N/�P�N1B��6� (Supply Chain) คA1 �%4�/��6%�?PN�AP1#P$��6%� 6N�>��>��%%#�N6� N N AP1
�1�2�1�ค/6#�O1��6%�1�'C�คO6�'6$�6��5Q�Q��O6�2>�คO6O'4�%>�6% N AP1Q/O'C�คO6#?ค/6# @� 1Q�2C�2B� 
�%4�1��O/$ �B��?P2 6ค5� คA1 �CO2N�#1� (suppliers) P%��6��CO�'>� (manufactures) 0C�$R�%4�6$2>�คO6 
(distribution centers)  O'4%O6�คO6$N1$O'4'C�คO6/%A1�CO�%> P"ค ( retailers or customers)  �5Q ��?Q
ค/6#2 6N%O��?P�4N�>��@Q�Q�/N/�P�N1B��6��4�%4�1��O/$�6%R/'N/?$��1��O1#C'�N6/26% 2>�คO6O'4N�>��B� 
�@P��41$CN%4//N6��5Q��1�O�N'4�%4�/��6%Q��6%�1�2�1��N1ค/6# @� 1Q��1�'C�คO6 

 

 
 @��?Pั2.6 O��"6 /N/�P�N1B��6� (Supply Chain) 

 

�%4�/��6%Q�/N/�P�N1B��6��?P�@Q�1$CN�5��6%� 6N�>��6��?P#?ค/6#25# 5��R�5�ค/6#�O1��6%�1�
�CO�%>P"ค 26#6%�O�N�R�ON�็� 2 O�� คA1 �%4�/��6%�@� (Pull) N�็��6%� 6N�>��6%P�$�6%N%>P#�6�ค 625P�
�6%25P��AQ1�1��CO�%>P"คP�$26#6%�%COค/6#�O1��6%�1��CO�%> P"ค�?PO�N�1� O'4�%4�/��6%�'5� (Push) 

Customer Center

   
       
      
   
           
       

                        

              

                    

          

Information

                 

       

Information

      Information

        

                 

Information

    

Information

Information
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N�็��6%� 6N�>��6%P�$�6%�'>��N1�ค 625P��6%25P��AQ1�1��CO�%>P"ค �@P�N�็�ค/6#�O1��6%�?PR#NO�N�1��O1�#?
�6% $6�%�R'N/�/�O6 
 

 
 @��?Pั2.7 '5�1�4�1�/N/�P�N1B��6�O�� Push/Pull 

 

�6%�5��6%/N/�P�N1B��6� (Supply Chain Management) �%4�1�R��O/$�5Q��1��B� N �5Q��1�
�?PN�?P$/�O1��5Q��6��%�O'4�6�1O1#�?P#?�N1�6%�1�2�1�ค/6#�O1��6%�1�'C�คO6 �@P�R#NN ?$�O�N1$CNQ�2N/�
�1��CO�'>�O'4�CO�5�2N�/5��B�>�N�N6�5Q� O�N%/#�@�2N/��1��CO�5�2N� ค'5�2>�คO6  N1คO6ค��'6�O'4'C�คO61?��O/$ 
2>P��?P N�็��5/N�AP1#�N11�คR�%4�1��N6� N Q�/N/�P�N1B��6� คA1 26$25# 5��R�6��B%�>� (business 

relationship) �5Q�O�N�O��Q 6 (upstream) �@��'6$�Q 6 (downstream) �@P��6%#?26$25# 5��R�?P�?Q��6��B%�>�
�4� 6Q/ON�>�ค/6#R/O/6�Q� (trust) � 6R�2CN�6%N�็� 5��#>�%�6��B%�>� (business alliance) O'4�4� 6Q/O
�6%� 6N�>��6�"6$Q�/N/�P�N1B��6�N�็��'Q��6���>�5�>#6��@Q� �5Q��?Q�6%� 6N�>��6�"6$Q�O/N/�P�N1B��6�
�4 >�6%�6�@��'�6%� 6N�>��6�Q�%4$4$6/�1��B%�>��?P�4�N1Q/ON�>��%4P$��R%N/#�5��1��B��N6$ 
(mutually benefit) �'$B��RQ��6%O�N��5� คA1 �6%%4�Bค/6#�O1��6%�1�'C�คO6�@P�1�คR�%�4�O1�
�1�2�1�ค/6#�O1��6%�5Q�N AP1�?P�4� 6Q/ON�>�ค/6# @� 1Q�Q��'>�"5��R/%A1�%>�6%�1��� �5��5Q� �'$B��R
Q��6%O�N��5��1�1�คR�%�4R�O%5��6%� 6/���� AQ��6��1��6%Q/Oค/6#2 6ค5��1�'C�คO6 P�$�4#BN�
N�O6/#6$�?P'C�คO6/�@P��'BN#/%A1#6��/N6�5Q� P�$ $6$6#�?P�4�1�2�1�ค/6#�O1��6%�1�'C�คO6 คA1 �6%
�%%'B�@�ค/6#N/#642#N�>��'$B��R�1�1�คR�%�4N�AP1#P$�1$CN�5�2>P�2 6ค5� คA1 N�O6/#6$�1��'$B��R/N/�P�N
1B��6� �@P�N�็��6%� 6Q/ON�>�ค/6#2#�B'%4//N6��6%�1�2�1�ค/6#�O1��6%�1�'C�คO6O'4�%42>��>"6  
�4#?�'Q��O6�ค/6#N/#642#N�>��'$B��R�5��'$B��RN�>��6%O�N��5�Q��6%�?P�4� 6Q/O�%%'BN�O6/#6$�?Q 
1�คR�%�4�O1� >�6%�6�@��6%Q�O�5/�5�Nค'AP1�/N/�P�N1B��6��5Q� 4 �O6� R�OO�N 2>�คO6ค�ค'5� �6%��2N� 2>P�
1 6�/$ค/6#24�/� O'4�O1#C'�N6/26% 

O�/ค>��1��6%�5��6%/N/�P�N1B��6�N�็�ค/6#N�?P$/�O1��5�ค/6#25# 5��R�1��6%R/'N/?$��6�
�>��%%#�O��O่6R�2CN�'6$�Q 6#?�6%N�AP1#P$�P�$Q�O26%2�N�0 �6%��2N� �6%�5��6%�6%�'>�1$N6�#?
�%42>��>"6 2C�2B� �@P�P�$2N/�Q/�NO'O/�4�%4�1�R��O/$ 3 2N/��?P2 6ค5� คA1 1) 2N/��1��6%�5��6%
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/5��B�>�N AP1Q�OQ��%4�/��6%�'>� 2) N�็��%4�/��6%�'>�/5��B�>� 3) �6%�5�� 6/�N6$N AP1Q/O�'>�"5��R�@�
#A1�CO�%>P"ค (�#5$ % �C�6�, 2561) �5��5Q� Q��6%N >P#05�$"6  O'4�O1R�ON�%?$��5�คCNO�N�Q��6��'6�P�$
Q�O�'$B��R�N6� N �@�N�>�N�็�O�/ค/6#ค>��6%�5��6%/N/�P�NคB�คN6 P�$�6��6%� 6N2�1�1�  Michel 

Eugene Porter (1986) R�O� 6N2�1�>��%%#Q�/N/�P�NคB�คN6�%4�1��O/$ 2 �>��%%#คA1 �>��%%#/'5� 
(primary activities) O'4�>��%%#2�5�2�B� (support activities) �5��?Q 

1. �>��%%#/'5� �4N�?P$/�O1��5��6%�'>�2>�คO6/%A1�6%2%O6�2%%คR�6��%>�6% �6%�'6� 
%/#�@��6%��2N�2>�คO6R�$5��CO�%>P"ค �4�%4�1��O/$�>��%%#$N1$ 5 �>��%%# คA1 �6%� 6/5��B�>�N�O62CN
�%4�/��6%�'>� (inbound logistics) �6%�'>� (operations) �6%� 62>�คO611�� 6/�N6$ (outbound 

logistics) �6%�6$O'4�6%�'6� (sale and marketing) O'4�6%�%>�6% (service) 
2. �>��%%#2�5�2�B� �%4�1��O/$ Pค%�2%O6� AQ��6� (infrastructure) �6%�5��6%�%5 $6�%

#�B1$R (human resource management) �6% 5��6N�คP�P'$? (technology development) O'4
�6%�5��AQ1�5��O6� (procurement) Q�2N/��1��6%�5��6%/N/�P�N1B��6��1�2>�คO6N�1�% �6��6%� 6N2�1
�1�2�6�5�/>�5$N AP1�6% 5��6�%4N�0R�$ (2553) �4N�O��?P�6%R/'N/?$��1�2>�คO6 N�N� �%%#/>�?�6%�'>� 
'5�1�42>�คO6�N1��6��6%� 6/�N6$O'4P'�>2�>�2R 2N/��6%R/'N/?$��1�26%2�N�0�4ค%1�ค'B#�@�
�%4�/��6%�'>�O'4N�คP�P'$?�O/$ Q�2N/�N%AP1��1�N�>�'��B��4N�O��?P�6%�5��6%ค/6#N2?P$� �@P��4
21�ค'O1��5��6%0@�16�1� 2B�6%5��R  >#'%5���6��R (2560) R�O0@�16�6%�5��6%/N/�P�N1B��6��1�2>�คO6
N�1�%�'O/$R#OQ�1 6N"1 B��#��' Q��5�//5��ค%��# P�$�6��6% 5��6%C�O���6%�5��6%/N/�P�N
1B��6��1��'O/$R#OQ�O/'N��?P0@�16�?Q �/N6N�1�%�%Q/Oค/6#2�Q��6��O6��6%/6�O��#6��?P2B�O'4
%1�'�#6คA1�O6��6%��2N� O'4$5��O1��6% 5��6�6��O6�N�คP�P'$?26%2�N�0#6N AP12N�N2%>#�6%O�N��5�
�6��O6��B%�>�N�N��5� �@P�Q��6%/>Nค%64/R/N/�P�NคB�คN6�4#?O�/ค>�21�ค'O1��5��6%0@�16�1� ��/5��R 0%?�>
26% (2561) R�O0@�16/N/�P�N1B��6��6%�'>��O6//1##4'>�6��BN��B'6%O1�R/O  �/N6 Q�%4��P'�>2�>�2RO'4
/N/�P�N1B��6��1��O6//1##4'>1>��%?$R�6��O6�N�1�%�%�4#BN�N�O��?P�6%�'C�#6��?P2B� 2N/��6��O6��6%
�5��6%� 6/�N6$�4N�็�2N/��1�2/�%�R�6%N�1�% O�N�O$5� ��ั�/6N�?P$/�5��6%�6�ค/6#%CO�O6��6%
%/#�'BN#�1�N�1�%�%O'4O�/ค>��6��O6��6%�'>�N�O��%>#6��6%�'>�#6��/N6คB�"6 N�็�2N/�Q/�N �@P�
�4 �/N6�6��O6��6%�'>��1��6%N'?Q$�25�/RN AP12N�11��O#BN�N�O��6��O6��>��%%#/'5��6��O6��6%�'>�
N�N��5� N�N� �6%0@�16�1��#5$ % �C�6� (2560)  �/N6 �6%N'?Q$��BO�Q�'BN#�Q 626#%O1$$1�-�%6��B%? �6%
N >P#�?�ค/6#26#6%��6��O6��6%O�N��5�คA1�6% 5��6�6%N'?Q$��BO�P�$Q�O%4��1>��%%#�6�> O'4�6%� 6
%4��ค'52N�1%R�BO�N�O6 

N�>� R�%�%6 (2556) R�O� 6�6%0@�16/>�5$Q�N%AP1� �6% 5��6/N/�P�N�6%�'>�O'4�'6�2>�คO6N�1�% 
�'N6/คA1 /N/�P�N�6%�'>� (Production Chain /%A1 Supply Chain) /#6$�@� Nค%A1�N6$�1�ค/6#N�AP1#P$�
�6��B%�>��?PN�?P$/�O1��5��6%�5�/62>�คO6O'4�%>�6%�?PN�็�ค/6#�O1��6%�1��CO�%>P"คค�2B��O6$ �6%�5��6%
/N/�P�N�6%�'>� ค%1�ค'B#�@��6%Nค'AP1�$O6$�5Q�/#�O'4�6%N�O�%5�16/5��B�>� "6%�>��?PN�?P$/�O1��5�
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�%4�/��6%�5�� 62>�คO6ค�ค'5� O'42>�คO62 6N%O�%C��6��B��?P�'>�R�$5��B��1��6%�%>P"ค 2 6/%5��6%�'>�
2>�คO6N�1�%26#6%��%4$B��R�6#O�/ค>�/N/�P�N�6%�'>��?PR�O�'N6/#6O'O/ R�ON�็�/N/�P�N�6%�'>� คA1 �6%
/6�ั��5$�6%�'>� (�O��Q 6) �6%�'>� (�'6��Q 6) �6%%/�%/#�'�'>� O'4�6%ค5�N�%�2>�คO6 �6%คO6/คO62N� 
(�'6$�Q 6) �6%O�%%C�O'4�%%�B/?�/N1 O'4�6%�6$�'?�O'4�6%2N�11� 

 1.3ัNค#Aอ�N@"�อ�หN/�P�NอB��@�ั(Supply Chain network) 
�6�ค/6#/#6$�1�/N/�P�N1B��6� � 6Q/O�%6�/N6Q�/N/�P�N1B��6�P�$�5P/ N R� �4�%4�1��O/$ 

2#6�>�/'5� �@ P�R�OO�N �C O�5�/6�ั��5$�6%�'>�  �C O�'>� O'4�C O�%>P"ค �@ P�#?%C�O���1�ค/6#25# 5��R
P�$�5P/R� �5��?Q  

1) ค/6#25# 5��RQ�O�/�1� (Horizontal Relationship) คA1 �6%�?P2#6�>�Q�/N/�P�N1B��6� 
R�OO�N �CO�5�/6�ั��5$�6%�'>� �CO�'>� O'4�CO�%>P"ค #?ค/6#25# 5��RN�AP1#P$��5�P�$�%� �@P�N�็�ค/6#25# 5��R
1$N6��N6$ �@�#?ค/6#�5��O1��O1$�?P2B� N%?$�/N6 Direct Supply Chain O�N�5Q��?QQ�/N/�P�N1B��6�/�@P� N 16�
#?2#6�>�N >P##6��@Q� R�OO�N ค��'6��5Q�Q�2N/��1��CO�5�/6O'4�CO�%>P"ค � 6Q/O/N/�P�N1B��6��?Q�$6$�/O6�
11�R��6#O�/�1� ค/6#25# 5��R�?PN�>��@Q��@�#?ค/6#�5��O1�N >P##6��@Q��6#R��O/$ N%?$�/N6 Extended 

Supply Chain (R�$$0 O'4#$B� 5��R, 2553)  
/N/�P�N1B��6�/�@P� N 16�$6//%A1#?� 6�/��5Q�#6�/%A1/N/�P�N1B��6�16�25Q�/%A1#?� 6�/��5Q� 

�O1$�OR�Oค/6#$6//%A1� 6�/��5Q�/N/�P�N1B��6��@Q�1$CN�5���6��6%�C%�6�6%�6%�'>� (Backward 

Integration) O'4�N1��6��'6� �CO�'>��?P�'>��ั��5$�6%�'>�N1�/N/�P�N1B��6��425Q� ��4�?P�CO�'>��?P�AQ1 
�ั��5$�6%�'>��6��CO�5�/6"6$�1�/N/�P�N1B��6��O�4$6/ 

2) �6%�5��6%/N/�P�N1B��6� (Supply Chain Management) คA1 �>��%%#�?PN�?P$/�O1��5��6%
�'>� �6%�5�2N�2>�คO6/%A1�6%�%>�6%�6��CO�6$�ั��5$�6%�'>� (�CO�6$�1��CO�6$) 'C�คO6 ('C�คO6�1�'C�คO6) �@P�
�ั�/6�?P�N1Q/O�6%�5��6%/N/�P�N1B��6� คA1 2>�คO6ค�ค'5�N %64#?R/ON AP1%1�%5�ค/6#R#NO�N�1�Q��5  '6$ 
N�N� �6%�%5��%B� 5��6�5  '6$N��Q/O#?�%42>��>"6 N >P#�@Q��4� 6#6�@P�ค/6# @� 1Q��1�'C�คO6�?PR�O%5�
2>�คO6�?P�O1��6%Q�N/'6�?P�C��O1� O'4#?�%>#6��6#�?P� 6/��R/OP�$N2?$คN6Q�O�N6$%/#�'1��5  '6$N���?P
�P 6 �@P��4#?�'Q/O1�คR�%�B%�>�26#6%�/#B�N/?$�N�>�2�R�O%/�N%O/ #?� 6R%N >P##6��@Q� �5��5Q� �6%�6%�5��6%
�5  '6$N���@��N1Q/ON�>��%4P$��R%N/#�5��5Q��5/'C�คO6O'4�B%�>� 

 �'N6/P�$2%B� �6%0@�16�6%�5��6%/N/�P�N1B��6� (Supply Chain Management) คA1 �6%0@�16
��>25# 5��R�1��6%�5��6%�%4�/��6%�N6� N �?PN�?P$/�O1��5�1B��6��1�2>�คO6O'4�%>�6% P�$�6%
��>25# 5��R�4#?'5�1�4N�>��C%�6�6% �@P�#?N�O6/#6$Q��6%�?P�42%O6�#C'คN6N >P# O'42�1��1�ค/6#
�O1��6%�1��'6� �6%�'>� �6%�%4�6$ O'4�6%2N�#1�2>�คO6 %/#�@��6%2AP126%2�N�0�1��O1#C'O'4
�N6/26% P�$#?/5��B�%42�คR�?P�4'��O��B�%/#�1��B%�>� O'4N >P#05�$"6 �1��6%O�N��5� �4N/O�R�O/N6�6%
�5��6%/N/�P�N1B��6�N�?P$/�O1��5��%4�/��6%�N6� N �?PN�?P$/�O1��5�ค/6#%N/##A1�6��B%�>� �5Q�O�NO/'N��1�
/5��B�>��O��Q 6���@��6%2N�#1�2>�คO6O'4�%>�6%�'6$�Q 6 �@P��%4�/��6%N/'N6�?Q �4ค%1�ค'B#�@�
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�%4�/��6%�?PN�?P$/�O1��5��6%R�O#6�@P�/5��B�>� �%4�/��6%2N�N2%>#�>��%%#�6��6%�'6�O'4�6%�'>� 
%/#�@��%4�/��6%Nค'AP1�$O6$2>�คO6���@�#A1�CO�O1��6%2>�คO6 ค/6#26#6%�Q��6%O�N��5��?PN/�A1�/N6 �5Q��?Q 
"6%�>�2 6ค5��1��6%�5��6%/N/�P�N1B��6��4#BN�Q/O'C�คO 6N�>�ค/6# @� 1Q�2C�2B� P�$N�O�Q�N%AP1� 
�%42>��>�'N�>��O��B�O'4�'�1�O���6��B%�>� 

 1.4ัอ�ค์�#>�อ�หN/�P�NอB��@� 

 1) /N/�P�N1B��6��?PN�O62CN�CO�'>� (Upstream Supply Chain) �@P��%4�1��O/$ �%4�/��6%�?P
N�?P$/�5��6%�5�/6P�$#?�CON�?P$/�O1�/'5� คA1 �CO�5�2N�/5��B�>� (Supplier) 
 2) /N/�P�N1B��6�"6$Q��%4�/��6%�'>� (Internal Supply Chain) �%4�1��O/$�%4�/��6%�?P
N�?P$/�5��6%N�'?P$��ั��5$�6%� 6N�O6 (Input) Q/ON�็��'�'>� (Output) 
 3) /N/�P�N1B��6��?PN�O62CN'C�คO6 (Downstream Supply Chain) �@P��%4�1��O/$�%4�/��6%�?P
N�?P$/�5��6%�5�2N�2>�คO6Q/O�@�'C�คO6 (Customer) 

1.5ั�@#�?��@#หN/�P�NอB��@��B#�>��@#N�1�# 
�6%�5��6%/N/�P�N1B��6��A1/N6N�็��6%�5��6%Q�%4�5��'$B��R N�็��6%#1�O��"6 %/# /%A1

N%?$�/N6N�็��6%#1�O��#/"6ค ค%1�ค'B#�5Q�O�N/N/�P�N1B��6�%4�5��O��Q 6 �'6��Q 6 O'4�'6$�Q 6 �@P� <�6%
�5��6%/N/�P�N1B��6�Q��B%�>��6%N�1�%= /#6$�@� �6%N�AP1#P$��>��%%#�N6�N �?P� 6N�>�P�$�CO�%4�1��6%O�N
'4%6$�?P1$CNQ�Pค%��N6$ �5Q�O�N�O��Q 6 คA1 �CO�'>�O'4� 6/�N6$�ั��5$�6%�'>� O'4�CO�'>�2>�คO6N�1�% �'6��Q 6 
คA1 �CO�%4�1��6%�?PN�?P$/�O1��5��6%O�%%C�O'4N�O�%5�16 O'4�'6$�Q 6 คA1 �CO�%4�1��6%�O6��6%�5�
� 6/�N6$ N AP11B��6�2>�คO6O'4�%>�6%Q/ONค'AP1�R/'R�O1$N6�#?�%42>��>"6  �5Q�O�N�B�N%>P#�O��1��6%Q�O�ั��5$
�6%�'>� 2CN�%4�/��6%�'>� O'4#?�6%1B��6�Q/O2>�คO6O'4�%>�6%Nค'AP1�R/'2N��N1���%4�5P��@��CO�%>P"ค 
N AP1Q/ON�>��O��B��?P�P 62B� O'42N�#1�คB�คN62C�2B�Q/OO�N�CO�%>P"ค P�$�6%N�AP1#P$��?QQ/Oค%1�ค'B#�@��6%Nค'AP1�
R/'�1�26%2�N�0�?PN�?P$/�O1��O/$ �'1���#?/�N/$�6�"6ค%5�O'4"6คN1����?PN�?P$/�O1��5�2>�คO6��>��5Q�N 
N�O6#6� 6/�O6�?PN�็��N6$2�5�2�B��6%� 6N�>��6��1�/�N/$�B%�>��N6�N Q�/N/�P�N1B��6� N AP1Q/ON�>�ค/6#
24�/�O'4%6�%AP� P�$#?1�คR�%4�1�2 6ค5� 3 1�คR�%4�1� คA1 �CO�%4�1��6%�?PN�็��CO� 6N�>��6% 
�CO�%4�1��6%�?PN�็��N6$2�5�2�B� O'426%2�N�0 (26$�> $R  P2%5��R O'4���B� 15�$B%?�B', 2565) 

1.5.1ัอ�ค์�#>�อ��อ�หN/�P�NอB��@��B#�>��@#N�1�#ัN#AP1 >�6%�6�6%R/'�1�2>�คO6O'4
�%>�6%Q�/N/�P�N1B��6��B%�>��6%N�1�%�?PN�็�#B##1�O��#/"6ค ค%1�ค'B#�5Q�O�N/N/�P�N1B��6�%4�5��O�
�Q 6 �'6��Q 6 O'4�'6$�Q 6 �5�"6 �?P 2.1 �4 �/N6 #?1�คR�%4�1�2 6ค5� 3 1�คR�%4�1� คA1 �CO�%4�1��6%
�?PN�็��CO� 6N�>��6% �CO�%4�1��6%�?PN�็��N6$2�5�2�B� O'426%2�N�0  

1)ั�CO�#>�อ��@#�?PN�็��CO� @N�>��@# �%4�1��O/$ �CO�%4�1��6%�?P� 6N�>��B%�>�Q�/N/�
P�N1B��6�O�N'4%4�5� R�OO�N  

1.1) �CO�%4�1��6%�?P� 6N�>��B%�>�Q�/N/�P�N1B��6�%4�5��O��Q 6 �@P��%4�1��O/$
�CO�%4�1��6% 2 �'BN# �6#O�/ค>��1�%4���B%�>��6%N�1�% คA1  
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(1) �CO�%4�1��6%�'>�O'4� 6/�N6$�ั��5$�6%�'>��6��6%N�1�% N�N�  5��BR A�-
 5��BR25�/R �BO$ 26%Nค#?�O1��5�O'4� 6�5�05�%C A� $6O'4N/�"5��R25�/R Nค%AP1��5�%�'O'41B��%�RN�1�% 
O'416/6%25�/R �5Q��?QQ/O%/#�@��CO� 6N�O6�ั��5$�6%�'>��6��6%N�1�%�5��'N6/ �'1����6%� 6N�O6/5��B�>�
N AP1�6%�'>��ั��5$�6%�'>��6��6%N�1�% N�N� /5��B�>�16/6%25�/R O#N�BO$Nค#? (N:P:K คA1 R�P�%N��: 
!12!1%52: P�O�2N�?$#) 26%11�&��>NN AP1�6%�'>�26%Nค#?�O1��5�O'4� 6�5�05�%C A� N�็��O�   

(2) �CO�%4�1��6%�'>��6��6%N�1�% 16�> N�1�%�% �CO�'>�  A� �0B25�/R O'425�/R�Q 6  
1.2) �CO�%4�1��6%�?P� 6N�>��B%�>�Q�/N/�P�N1B��6�%4�5��'6��Q 6 �>��%%#

%4�5��'6��Q 6 คA1 �6%� 62>�คO6N�1�%11��6�!6%R#/�6%%5��AQ12>�คO6�6�N�1�%�% �@P��OคA1ค��'6��6�
�6%�'6� �%4�1��O/$ �CO�%4�1��6% 2 �%4N"� R�OO�N �CO%/�%/# O'4�COO�%%C� P�$�6%� 6N�>��6�#?
'5�1�4�1��6%N�AP1#P$��>��%%# 3 '5�1�4 คA1  

(1) �CO%/�%/#O'4�COO�%%C� O�N'4%6$�4#?�>��%%#�?PN�AP1#P$��5�N�1�%�% 

(2) �CO%/�%/#O'4�COO�%%C� #?�6%N�AP1#P$��6%� 6N�>��6�%4//N6��5�O'4�5� 

(3) �CO%/�%/#O'4�COO�%%C� O�N'4%6$#?�>��%%#�?PN�AP1#P$��5��CO�%4�1��6%%6$�5�R� 
R�OO�N 

(3.1) �CO%/�%/# #?�>��%%#�?PN�AP1#P$��5��CO�%4�1��6%Q�/N/�P�N1B��6�
%4�5��'6$�Q 6 R�OO�N �COคO62N� �COคO6�'?� O'4�CO2N�11�  

(3.2) �COO�%%C� #?�>��%%#�?PN�AP1#P$��5� 

�. �CO�%4�1��6%Q�/N/�P�N1B��6�%4�5��'6$�Q 6 R�OO�N �COคO62N� �COคO6�'?� 
O'4�CO2N�11�  

�. �CO�%4�1��6%Q�/N/�P�N1B��6�%4�5��'6��Q 6�O/$�5�  �Q��%�?�1�
�6%O�%%C�2>�คO6N�1�%�6���>� �4#?�6%2N�2>�คO6N�1�%O�%%C�/%A1�'>��' '1$R�O�5Q��N1R�$5�
1B�26/�%%#�N1N�AP1� �5/1$N6�N�N� P%��6��Q 6�6' 2N��Q 6�6'�6$N�O62CN1B�26/�%%#Nค%AP1��AP#�%4N"�
�Q 615�'# O'41B�26/�%%#��#//6� 2N/��'>��' '1$R�O�%4N"��6�1O1$�6$N�O62CNP%��6��'>��1%R�
�6�1O1$ R#O�6�1O1$ O'4�%4�61�6�1O1$ N�็��O�  

1.3) �CO�%4�1��6%�?P� 6N�>��B%�>�Q�/N/�P�N1B��6�%4�5��'6$�Q 6 �>��%%#%4�5�
�'6$�Q 6 คA1 �6%� 62>�คO6N�1�%2N�#1�Q/OO�N�CO�%>P"ค�5Q��'6�Q��%4N�0O'4�N6��%4N�0 �?PN�็�1B�2�คR
Q�2>�คO6N�1�%�5Q�N �@P��OคA1ค��'6��6��6%�'6� �%4�1��O/$�CO�%4�1��6% 3 �%4N"� R�OO�N �COคO62N� 
�COคO6�'?� O'4�CO2N�11� 

2)ั�CO�#>�อ��@#�?PN�็��N@"2�?�2�B� O�N�11�N�็� 3 �'BN# คA1 

2.1) /�N/$�6�"6ค%5� O�N�11�N�็� 2 �'BN# คA1 /�N/$�6�%6��6%�1�%5� O'4
/�N/$�6�"6$Q�O�6%� 6�5�/�N/$�6�%5� 
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2.2) /�N/$�6�"6คN1��� O�N�11�N�็� 2 �'BN# คA1 �B%�>�N1����?P�%4�1��6%N AP1
�'� 6R% O'41�คR�6%N1����?PR#NO2/�/6� 6R%  

2.3) 1�คR�6%%4//N6��%4N�0 O�N�11�N�็� 3 �'BN# คA1 1�คR�6%%4//N6��%4N�0�?P
N�?P$/�O1��O6��6%คO6%4//N6��%4N�0 �O6��6%คO6Q�%4�5�"C#>"6ค O'4�O6�#6�%�6�O'4/>�6�6% 

3)ั2@#2�N�0 �A1/N6N�็�1�คR�%4�1�2 6ค5�Q��6%�5��6%/N/�P�N1B��6��B%�>��6%N�1�%
Q�$Bค�>�>�5' �@P�N�็�$Bค�1��6%O�N��5��?P#?�6%N�'?P$�O�'�คN1��O6�%/�N%O/�1�2"6 O/�'O1#�6��B%�>��?P
ค/�คB#R#NR�O /%A1�OคA12"6 O/�'O1#"6$�1�/�N/$�B%�>� � 6Q/O�CO�%4�1��6%�O1�#?ค/6# %O1#�?P�4
�%5��5/ �5Q��?Q�6%�5�2>�Q�/N6ค/%�4�%5�N�'?P$�R�1$N6�R% �O1�1605$ค/6# %O1# ค/6#ค%��O/� ค/6#
�C��O1�O'4�5�N/'6�1�26%2�N�0�6��B%�>� P�$N�็�26%2�N�0�?P#6�5Q��6��CO�%4�1��6%�?PN�็��N6$
� 6N�>��6%O'4�6��N6$2�5�2�B� �6��CO�%4�1��6%�?P1$CNQ�/N/�P�N1B��6�Q�O�N'4%4�5�N�AP1#P$�
26%2�N�0%4//N6��5� O'426%2�N�0�?P#6�6��CO�%>P"ค�?PN�็�1B�2�คR�O/$  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 @��?Pั2.8 1�คR�%4�1��1�/N/�P�N1B��6��B%�>��6%N�1�% 

�?P#6: 26$�> $R  P2%5��R O'4���B� 15�$B%?�B' (2565) 
 

 
 

N�1�# 
�# 

�CO#/�#/!ั 

�COO�##C� 

อB�2@�##!�NอN�APอ� 

"ูOคOาสN ง 

"ูOคOา!ล?ก 

"ูOสN งออก 

�CO�ล>�Oล>� @ห�N@"ั 
-�?��B ์
-�B๋" 

-2@#Nค!? 
-O#��@� 

-Nค#APอ��BN�O#� 
-ัอAP�N 

(3) %4��$N1$�6%O�%%C� 

2>�คO6N�1�% 

(4) %4��$N1$�6% 

�5�� 6/�N6$ 

P�NอB��@��ล@��Q @ P�NอB��@��ล@"�Q @ 
 

1B�2�คR
�CO�%>P"ค 

1�คR�6%%4//N6��%4N�0 R�OO�N  
1�คR�6%%4//N6��%4N�0�?PN�?P$/�O1�
�O6��6%คO6%4//N6��%4N�0 �O6�
�6%คO6Q�%4�5�"C#>"6ค O'4�O6�
#6�%�6�O'4/>�6�6% 

 

 

"ูO ร>Nภค 
 

-O�!ระเทศ 
 
 
-ตNาง!ระเทศ 

(1) %4��$N1$
�ั��5$�6%�'>� 

(2) %4��$N1$
�6%�'>� 

P�NอB��@��O��Q @ 

/�N/$�6�"6ค%5� R�OO�N  
- /�N/$�6�%6��6%�1�%5�  
- /�N/$�6�"6$Q�O�6%� 6�5�
/�N/$�6�%5� 

/�N/$�6�"6คN1��� R�OO�N 
- �B%�>�N1����?P�%4�1��6%N AP1�'� 6R% N�N� �B%�>�
�6%N�>� �B%�>���2N� �B%�>�ค'5�2>�คO6 �B%�>��6%�%4�5�"5$ 
�B%�>��%%�B"5��R �B%�>��%/�21�คB�"6 2>�คO6 N�็��O� 

- 1�คR�6%N1����?PR#NO2/�/6� 6R% N�N� 2#6ค#�6%คO6 
/1�6%คO6 #C'�>�> 1�คR�6% NGO N�็��O�  

�N@"2�?�2�B� 
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1.5.2ัหล?��@#�?��@#หN/�P�NอB��@�ั/'5��6%�5��6%/N/�P�N1B��6� �%4�1��O/$ 3 
/'5��6% คA1 /'5��6%�%42>��>�'O'4�%42>��>"6  /'5��6%�6%%5��%4P$��R%N/#�5� O'4/'5�ค/6# @�
 1Q��1��CO�%>P"ค 2N/��6%/>Nค%64/R/N/�P�N1B��6��6#O��� 6'1� SCOR /%A1O��� 6'1�1O6�1>��6%
� 6N�>��6�Q�/N/�P�N1B��6� N�็�O��� 6'1��?P1�>�6$'5�1�4O'4O2��Q/ON/O��>��%%#�6��B%�>��5Q�/#��?P
N�?P$/�O1��5��6%�1�2�1�ค/6# @� 1Q��1�'C�คO6 P�$#?�6%� 6/���%4�/��6%� 6�6��N6�N Q/ON�็�
#6�%�6�N�?$/�5�O'4#?Pค%�2%O6�O2��ค/6#25# 5��R%4//N6��%4�/��6% �@P �O��� 6'1� SCOR 

�%4�1��O/$ 6 �%4�/��6% คA1 <PSMDRE= R�OO�N P-Plan คA1 �6%/6�O�� S-Source คA1 �6%�5�/6 
M-Make คA1 �6%�'>� D-Deliver คA1 �6%2N�#1� R-Return คA1 �6%2N�คA�2>�คO6 O'4 E-Enable คA1 
�%4�/��6%2�5�2�B�� 6N�>��6�  

1)ัหล?��@#�#>2>��>�ลOล>�#>2>��> @�ั(effectiveness & efficiency) N�AP1��6�
�CO�%4�1��6%�1��B�1�คR�6%Q�/N/�P�N1B��6��N6�1$CN"6$Q�ON�AP1�R��1��6%#?�%5 $6�%� 6�5� N�N� �?P�>� 
O%��6� N�>��B� Nค%AP1�#A1Nค%AP1��5�%1B��%�R N�็��O� O#O/N6O�N'41�คR�6%�4#?ค/6#O���N6��5�Q��%4N"�
�1��%5 $6�%�?P#?1$N6�� 6�5��O�6# O�N�O �/N6 �B�1�คR�6%�4�O1�#?�O��B�15�N�>��6��6%Q�O�%5 $6�%
�5Q�/'6$ �@��O1�#?�6%�5��6%�6%Q�O�%5 $6�%1$N6��%4/$5� Q/O#?ค/6#2C�N2?$N�>��@Q��O1$�?P2B�/%A1N�็�
0C�$R P�$�CO�%4�1��6%�4�O1��5��6%Q/O#?�%42>��>�'O'4�%42>��>"6 Q��6%� 6N�>��6�  

2)ัหล?��@#�@##?��#>P"��์#N/!�?�ั(mutual benefit) �6%�5��6%/N/�P�N1B��6�
�4�O1�� 6Q/O�CO�%4�1��6%�?PN�?P$/�O1�Q�/N/�P�N1B��6��5Q� �N6�R�O%5��'�%4P$��R P�$R#NN�>��6%�'5�"6%4
�6�1�คR�6%/�@P�R�Q/O1?�1�คR�6%/�@P� �@P��4�N1Q/ON�>�ค/6#2C�N2?$O'4#?�O��B��?P2C��@Q�Q��6%�5��6% �5��5Q�
�@��O1�#?�6%�%426��6�%4//N6�1�คR�6%�'1�/N/�P�N1B��6� P�$N� 64�O6�26%2�N�0 N AP1Q/ON�>��6%
'�ค/6#2C�N2?$R�O�'1�N2O��6��1�/N/�P�N1B��6� O'4N�>�ค/6#R/O/6�Q�Q��6%� 6�6%คO6%N/#�5� ��N�>�
ค/6#$5P�$A�Q��6%N�็� 5��#>�%�6��B%�>�  

3)ัหล?�ค/@!�@��อQ��อ��CO�#>P คั(customer satisfaction)ั�CO�%>P"คN�็�1B�2�คR
�1�2>�คO6 /6��CO�%>P"คR#N @� 1Q��?P�4�AQ12>�คO6�5Q��N1R��4� 6Q/O1B�2�คR'�'� N#AP11B��6�R#NR�O�%5�'�
คA1�6%�'>�2>�คO6R#N'�'� �O�42N��'Q/ON�>��ั�/6�N6�N Q�/N/�P�N1B��6��6##6 N�N� %6ค6�6$'�'� 2�P
1�2>�คO6'O�ค'5�2>�คO6 2>�คO6/#�16$BN %64�6$R#N�5� N�็��O� �5Q��?Qค/6# @� 1Q��1��CO�%>P"ค�?PN�'?P$�R� 
O'4#?�'�N1/N/�P�N1B��6�2>�คO6��>��5Q�N Q/O$5�ค�1$CN/%A1/6$R� � 6Q/O�CON�?P$/�O1�Q�/N/�P�N1B��6��O1�
%N/#�5�� 6�6%�5��6%N AP1O�OR��ั�/6Q/O�5� /%A126#6%� $6�%�R'N/�/�O6 N AP1N�%?$#�6%�1�2�1�ค/6#
�O1��6%�1��CO�%>P"ค�?PN�'?P$�O�'�R� Q/ON�>�ค/6# @� 1Q� 

1.5.3ัNค#APอ�!Aอ�@#/>Nค#@>ห์หN/�P�NอB��@��@!O��� @ลอ�ัSCORัO��� 6'1�1O6�1>��6%
� 6N�>��6�Q�/N/�P�N1B��6� /%A1 SCOR Model (Supply Chain Operations Reference Model)  �C�
 5��6�@Q��5Q�O�N�? ค.0. 1996 �6�ค/6#%N/##A1%4//N6� Supply Chain Council (SCC) �@P�N�็�1�คR�6%
1>2%4�5��%>15�1B�26/�%%#�N6�N #6��/N6 700 �%>15� P�$#?�B��%42�คRN AP12N�N2%>#O'42�5�2�B��%>15�
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/%A11�คR�6%�?P2�Q�Q��6%�5��6%/N/�P�N1B��6�O'4�6%� 6R���>�5�> N AP11�>�6$'5�1�4O'4O2��Q/ON/O�
�>��%%#�6��B%�>��5Q�/#��?PN�?P$/�O1��5��6%�1�2�1�ค/6# @� 1Q��1�'C�คO6 O'4�N/$O�O�ั�/6�6%�6�
#6�%�6�O'4�%1��6%� 6�6���ค/6#N�O6Q��?P�%��5�Q��6% 5��6/N/�P�N1B��6� �6��6%� 6/��
�%4�/��6%� 6�6��N6�N Q/ON�็�#6�%�6�N�?$/�5� O'4#?Pค%�2%O6�O2��ค/6#25# 5��R%4//N6�
�%4�/��6% �1��6��?QQ�O��� 6'1�1O6�1>��6%� 6N�>��6�$5�#?�6%� 6/���5/�?Q/5�2 6/%5�/5��%42>��>"6 
Q�O�N'4�%4�/��6%N AP1� 6/��Q/ON�็�#6�%�6�N�?$/�5� O'4$5�#?�6%N2�1/>�?�6%��>�5�>�6��?P�?�?P2B� 
(best practice) Q�O�N'4�%4�/��6%N AP1�?P�4Q/O�%>15�/%A11�คR�6%26#6%�� 6R��%4$B��RQ�OR�O  

�5Q��?Q SCOR Model N�็�O��� 6'1��?P1�>�6$'5�1�4O'4O2��Q/ON/O��>��%%#�6��B%�>��5Q�/#��?P
N�?P$/�O1��5��6%�1�2�1�ค/6# @� 1Q��1�'C�คO6 P�$#?�6%� 6/���%4�/��6%� 6�6��N6�N Q/ON�็�
#6�%�6�N�?$/�5�O'4#?Pค%�2%O6�O2��ค/6#25# 5��R%4//N6��%4�/��6%  

�%4�/��6%/>Nค%64/R/N/�P�N1B��6��6#O��� 6'1� SCOR �%4�1��O/$ 5 �%4�/��6% 
(Supply-Chain Council, 2010) คA1 <PSMDR= �@P��N1#6R�O#?�6% 5��6P�$�5�Q/O#? 6 �%4�/��6% คA1 
<PSMDRE= ("6 �?P 2.8)  

 @��?Pั2.9 �%4�/��6%�6#O��� 6'1� SCOR 

�?P#6: �%5��%B��6� Supply-Chain Council, (2010) 
 

1) P-Plan คA1 �6%/6�O�� N�?P$/�O1��5��6%/6�O���N6�N �@P�N�็��%4�/��6%�?P� 6/�O6�?P
2%O6�ค/6#2#�B'%4//N6�1B�2�คR (demand) O'41B��6� (supply) �@�N�็��%4�/��6%�?PN�?P$/�O1��5��6%
� 6/��ค/6#�O1��6%O'4�6%� 6N�>��6%N AP1Q/O�%%'B/5��B�%42�คR N�N� �6%/6�O���6%Q�O�%5 $6�% �6%
/6�O���6%�5��AQ1�5�/6 �6%/6�O���6%�'>� �6%/6�O���6%2N�#1� �6%/6�O��%5�คA� �6%/6�O��
�%4�/��6%2�5�2�B�� 6N�>��6� N�็��O�  

2) S-Source คA1 �6%�5�/6 N�็��%4�/��6%�?P� 6/�O6�?P�5�/6 �5��AQ1 O'4�6%��2N�/5��B�>� 
Q/O21�ค'O1��5�O��/%A11B�2�คR �%4�/��6% AQ��6��1��6��5�/6�5��AQ 1 N�N� �6%/6�O���6%�5��AQ1
�5�/6 �6%%5�O'4�%/�21�2>�คO6 �6%2N�2>�คO6Q/O/�N/$�6�1AP� O'4�6%�N6$N�>� N�็��O� �5Q��?QQ/O%/#�@�

 

Plan Supply Chain

Source Make Deliver Return

Enable
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�6%%5�16ค/6#25# 5��R�1��%4�/��6%�5��AQ1�5�/6�5�2N/�1AP�N Q�/N/�P�N1B��6��O/$ P�$�6%�5��AQ1
�5�/6R�O�C��O1�O#N�$ 6 � 6N�็��O1�Q�O�O1#C'�N6�N N�N� O���6%�'>��6�/�N/$�6��'>� �O1#C'%4�5�2>�คO6
ค�ค'5� �N/�N/'6/%A1%4�5��?P�4%5�N�O6/5��B�>� (O���6%%5�/5��B�>�) O���6%�5�2N�/5��B�>� � 6'5��6%�'>�
O'4ค/6#26#6%�Q��6%�1�2�1��1��CO�6$ N�็��O� 

3) M-Make คA1 �6%�'>� N�็��%4�/��6%�?P� 6/�O6�?PN�'?P$�2"6 �1��ั��5$�6%�'>�/
/5��B�>�Q/O1$CNQ�%C�2>�คO62 6N%O�%C�N AP1Q/O21�ค'O1��5�O��/%A11B�2�คR �@�N�?P$/�O1��5��6%�5�2%%�6%Q�O
Nค%AP1�#A1Nค%AP1��5�% O'4�6%�5��6%ค'5�2>�คO62 6N%O�%C��O/$ �6%��>�5�>�6��?PN�?P$/�O1� N�N� �6%%5��ั��5$
�6%�'>�//5��B�>�N�O6#62CN�%4�/��6% �%4�/��6%�1��6%�'>� �6%�%/�21��1��'>�"5��R �6%�%%�B
"5��R N�็��O� 

4) D-Deliver คA1 �6%2N�#1� N�็��%4�/��6%�?P� 6/�O6�?P�5�N�%?$#2>�คO62 6N%O�%C�O'4
�%>�6%Q/O21�ค'O1��5�O��/%A11B�2�คR �%4�/��6%2N�#1� N�N� �6%�5��6%ค 625P��AQ1 �6%�5��6%��2N� 
O'4�6%�5��6%�%4�6$2>�คO6 �6%�%>/6%ค'5�2>�คO6 �6%� 6/��%4$4N/'6Q��6%2N�#1� �N1��6�Q��6%2N�
#1� �6%�CO'%5�16�'>�"5��R�6�P%��6����@�0C�$R�5�� 6/�N6$ (distribution center) /%A1'C�คO6 N�็��O� 

5) R-Return คA1 �6%2N�คA�2>�คO6 N�็��%4�/��6%�?PN�?P$/�O1��5��6%คA�/%A1�6%%5�2>�คO6คA�
�6�'C�คO6 P�$Q/O/#6$%/#�@��6%2N�/5��B�>�คA��'5�R�$5��CO�6$/%A1�CO2N�#1��O/$ Q��%�?�?P�'>�"5��R�?P�C�
2N�คA��6�'C�คO6�4�O/$N/�B�'Q��O�6# �%4�/��6%N/'N6�?Q�4�O1�#?�6%�$6$�'R�2CN�6%�>��6#/'5��6%�AQ1
�1�'C�คO6  

6) E-Enable คA1 �%4�/��6%2�5�2�B�� 6N�>��6� N�็��%4�/��6%Q��6%�5� N�%?$#�� 
�O1�5�ค5�Q��6%� 6N�>��6��%4�1��B%�>�O'4�6%�5��6%�O1#C'26%2�N�0 ค/6#25# 5��R�N6�N �?PN�?P$/�O1�
�5��%4�/��6%/6�O��O'4�%4�/��6%��>�5�>�6% N�N� �%4�/��6%�6��6%N�>� �%5 $6�%#�B1$R %4��
�O1#C'�6%2AP126%O'4N�คP�P'$?26%2�N�0 �%4�/��6%11�O���'>�"5��R �6%�6$ O'4�%4�/��6%
2�5�2�B��N6�N %/#�@��6%�5��6%ค/6#N2?P$�  

�5Q��?Q #6�%/5�2#%%��4 (performance) O��� 6'1� SCOR �@P��4R#N%/#คB�'5�1�4�O6�
คB�"6  (quality) N %64คB�"6 N�็��%4N�O��?P� 6N�็��O1�� 6N�>��6%1$CNO'O/Q��6%�5��6%/N/�P�N1B��6� 
P�$ Supply Chain Council (2010) R�O� 6/��คB�'5�1�4 5 �%4�6% N�็�#6�%/5�2#%%��4 �5��?Q 

(1) ค/6#N�AP1�A1R�O (reliability) /#6$�@� 2#%%��4�1�/N/�P�N1B��6�Q��6%�5�2N�2>�คO6
�?P�C��O1� R�$5�2�6��?P�?P�C��O1� � N/'6�?P�C��O1� Q�N�AP1�R�O'4/?�/N1�?P�C��O1� Q��%>#6��?P�C��O1�  %O1#
�5�N1�26%� 6�5��?P�C��O1� R�2CN'C�คO6�?P�C��O1� �6%/5�2#%%��4�@� >�6%�6�6��%4�/��6%� 6N�>��6%�1�
/N/�P�N1B��6��O1��C��O1��B��5Q��1�/�B��>��%%#Q��6%�5��6%ค 625P��AQ1R�O1$N6�2#�C%�RO'4#?
�%42>��>"6   
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(2) �6%�1�2�1� (responsiveness) /#6$�@� ค/6#N%O/Q��6%�5�N�%?$#2>�คO6Q/OO�N
'C�คO6 �6%/5�2#%%��4�@� >�6%�6�6��6%#?%1�%4$4N/'6�6%N�>#N�O#ค 625P��AQ1 (order fulfillment 

cycle time) �?P25Q�  
(3) ค/6#/N1�R//ค/6#$A�/$BN� (agility/flexibility) /#6$�@� ค/6#ค'N1��5/N AP1

�1�2�1��N1�6%N�'?P$�O�'��1��'6� N AP1Q/OR�O#6/%A1ค�R/O�@P�ค/6#R�ON�%?$�Q��6%O�N��5� N�N� �6%
%1�%5��6%N >P#�@Q��1��%>#6��?P�O1�2N�#1��?PR#NR�O/6�O��/ค6�//5�R/O �6%N >P#�@Q��1��%>#6��6%2N�#1�
�?P� 6R�ON#AP1#?ค/6#�O1��6%N >P#�@Q� N�็��O� �6%/5�2#%%��4�@� >�6%�6�6��6%�%5��5/O'4ค/6#$A�/$BN�
�1�/N/�P�N1B��6��5Q�O�N�O��Q 6�����'6$�Q 6  

(4) �O��B� (costs) /#6$�@� �O��B��N6�N �?PN�?P$/�O1��5��6%� 6N�>��6�/N/�P�N1B��6� 
�6%/5�2#%%��4�@� >�6%�6�6��O��B�%/#N AP1�1�2�1��N1ค/6#�O1��6%�1�'C�คO6 

(5) �6%�5��6%2>��%5 $R (asset management) /#6$�@� �%42>��>"6 O'4�%42>��>�'
Q��6%�%>/6%�5��6%2>��%5 $R�5Q�/#� �6%/5�2#%%��4�@� >�6%�6�6�%1�N/'6�%4O2N�>�2� N�>�'��B� 
15�%6�'�1�O���6�2>��%5 $Rค��?P O'415�%6�'�1�O���1�N�>��B�/#B�N/?$�  
 

2.ัO�/ค>�N�?P"/�?�N�1�#อ>��#?"์ 
2.1 ค/@!ห!@"�อ�N�1�#อ>��#?"์ั 

N�1�#อ>��#?"์ั(organic agriculture) /#6$�@� %4���5��6%�6%�'>��O6��6%N�1�%O��
1�คR%/# �?PN�AQ1/�B��N1%4���>N/0 %/#�@�ค/6#/'6�/'6$�6��?/"6  /��%�?/"6  P�$N�O��6%Q�O/52�B
�%%#�6�> /'?�N'?P$��6%Q�O/5��B�>��6��6%25�Nค%64/RO'4R#NQ�O  A� 25�/R /%A1�B'>��%?$R�?PR�O#6�6�N�ค�>ค
�6%�5�O�% 5��B�%%# (genetic modification) #?�6%�5��6%�5��'>�"5��RP�$N�O��6%O�%%C��O/$ค/6#
%4#5�%4/5� N AP1%5�162"6 �6%N�็�N�1�%1>��%?$RO'4คB�"6 �?P2 6ค5��1��'>�"5��RQ��B��5Q��1� (#�1. 
9000 N'N# 1-2552)  

%4���6%�5��6%�6%�'>��O6��6%N�1�%O��1�คR%/# �?PN�AQ1/�B��N1%4���>N/0 %/#�@�ค/6#
/'6�/'6$�6��?/"6  /��%�?/"6  P�$N�O��6%Q�O/52�B�%%#�6�> /'?�N'?P$��6%Q�O/5��B�>��6��6%
25�Nค%64/RO'4R#NQ�O A� 25�/R /%A1�B'>��%?$R  �?P R�O#6�6�N�ค�>ค�6%�5�O�% 5��B�%%# ( genetic 

modification) #?�6%�5��6%�5��'>�"5��R P�$N�O��6%O�%%C��O/$ค/6#%4#5�%4/5� N AP1%5�162"6 �6%
N�็�N�1�%1>��%?$R O'4คB�"6 �?P2 6ค5��1��'>�"5��RQ��B��5Q��1� (#�1.9000 N'N# 1-2552) 2 6/%5�ค 6
/N6 �0B25�/R1>��%?$R (organic livestock) 2 6�5��6�#6�%�6�2>�คO6N�1�%O'416/6%O/N��6�>R�OQ/O
ค/6#/#6$/N6 �0B25�/R�?P�'>�P�$Q�O%4��N�1�%1>��%?$R (#�1�.9000 N'N# 2-2561)   

Q��N/� 1 - 2 �0/%%1�?P�N6�#6 R�O#?�6%Q/Oค 6� 6�5� ค/6#�1��6%N�1�%1>��%?$R�?P/'6�/'6$
�5Q�Q�%4�5�1�คR�%O'4�Bคค'�N6� N O�NQ�ค/6#/'6�/'6$#?ค/6#/#6$�?PR�Q��>0�6�N�?$/�5� คA1  
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ค�4�%%#�6%/N6�O/$16/6% �1� FAO/WHO (Codex Alimentarius Commission, 1999

). R�OQ/Oค 6� 6�5�ค/6# <N�1�%1>��%?$R= N�็�%4���6%� 6!6%R#�?PQ/Oค/6#2 6ค5��1��6%N >P#�%42>��>"6 
P�$�6%�5�%4���>N/0#6��/N6�6%Q�O�ั��5$�6%�'>��6�"6$�1�!6%R# N�็�%4���?PQ/Oค/6#2 6ค5�Q�
05�$"6 O'4�'�%4���1��6%N�1�%�?P#?�N12>P�O/�'O1# O'425�ค# P�$��N/O��6%Q�O�ั��5$�6%�'>��?PN�็�
26%Nค#?25�Nค%64/R N�N� �BO$Nค#? 26%� 6�5�05�%C A� 26%�5��C� 26%�%B�O�N� $6%5�16P%ค�0B25�/R  5��BR A�
O'425�/R�?P#?�6%�5�O�'� �6� 5��B�%%# O'426%�5#�"6  �5Q��?QP�$�6%�%5��%B�/>�?�6%P�$N�O��6%�5��6%
2"6 �>N/0Q/ON/#642#Q�O�N'4O/N��@P�#?ค/6#O���N6��5� (Site-specific Management) N AP1�?P�4%5�16
O'4N >P# C�ค/6#1B�#2#�C%�R�1��>�O'4�6%�O1��5�05�%C A�Q�%4$4$6/  

2/ 5��R�6%N�1�%1>��%?$R%4//N6��%4N�0 /%A1�?P%CO�5��5�Q��AP1�?PN%?$�/N6 R1P!# (IFOAM) $N1
#6�6� ( International Federation of Organic Agricultural Movement) R�OQ/Oค 6� 6�5�ค/6#�1�
N�1�%1>��%?$RQ� 4 /'5��6% คA1 �O6�2B�1�6#5$ (Health) �O6��>N/0/>�$6 (Ecology) �O6�ค/6#N�็��%%#
O'4N2#1"6ค (Fairness) O'4 �O6�ค/6#%5��>��1��N125�ค# (Cares) (��/�, #��)  

1). /'5��6%�6��O6�2B�1�6#5$ N�1�%1>��%?$Rค/%%5�16O'4N >P# C�2B�1�6#5$�1� �>�  A� 
25�/R #�B1$R O'4�5�%/6' �@P�%/#�5�N�็�/�@P�N�?$/ P�$R#NO$�11��6��5�  

2) /'5��6%�6��O6��>N/0/>�$6 N�1�%1>��%?$Rค/%�5Q�1$CN�� AQ��6��1�%4���>N/0�1�
2>P�#?�?/>��?P#?�6%/#B�N/?$�N�็�/��% P�$Q�O�%4P$��R %5�16O'4N >P# C� Q/O#?ค/6#$5P�$A�1$N6��N1N�AP1�Q�
%4$4$6/  

3) /'5��6%�6��O6�ค/6#%5��>��1��N125�ค# N�1�%1>��%?$Rค/%#?�6%�5��6%�� AQ��6��1�
ค/6#%5��>��1�O'4%4#5�%4/5�Q��6%���O1�2B�"6  O'42"6 ค/6#N�็�1$CN�?P�?�1�#�B1$RO'4
2>P�O/�'O1#�5Q�Q��ั��B�5�O'41�6ค� (��/�, #��) 

2.2 หล?��@#N�1�#อ>��#?"์ั 
N�1�%1>��%?$R�O1�N�็�R��6#/'5��6% (#�1.9000 N'N# 1-2552) �5��?Q  
1.  5��6%4���6%�'>�R�2CNO�/�6�N�1�%�2#�26��?P#?ค/6#/'6�/'6$�1� A�O'425�/R  
2.  5��6%4���6%�'>��'>��?P @P� 6��N1�Q�N%AP1��1�1>��%?$/5��BO'4�6�B16/6%"6$Q�!6%R#  
3. !A้�!CO'4%5�16ค/6#1B�#2#�C%�R�1��>�O'4คB�"6 �Q 6�O/$1>��%?$/5��B N�N� �BO$ค1� �BO$

/#5� O'4�BO$ A�2�1$N6��N1N�AP1� P�$Q�O�%5 $6�%Q�!6%R##6/#B�N/?$�Q�OQ/ON�>��%4P$��R2C�2B� 

4. %5�16ค/6#2#�B'�1�%4���>N/0Q�!6%R# O'4ค/6#$5P�$A��1�%4���>N/0P�$%/# 

5. �O1��5�O'4/'?�N'?P$��6%��>�5�>�?P� 6Q/ON�>�#' >1�N12>P�O/�'O1#  
6. $@�/'5��6%��>�5�>/'5��6%N�O�N�?P$/O'4�6%O�%%C��?PN�็�/>�?�6%�%%#�6�> �%4/$5�

 '5��6� O'42N��'�%4���N12>P�O/�'O1#�O1$�?P2B�  
7. %5�16ค/6#/'6�/'6$�6��?/"6  �1�%4���6%N�1�%O'4%4���>N/0%1��O6� %/#�5Q�

�6%1�B%5�1RO/'N��?P1$CN1605$�%%#�6�>�1� A�O'425�/R�N6 
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8. %5�16ค/6#N�็�1>��%?$R�'1�/N/�P�N�6%�'>� O�%%C� N�O�%5�16 O'4� 6/�N6$  
9. /'?�N'?P$��6%Q�O26%Nค#?25�Nค%64/R�'1��%4�/��6%�'>� O�%%C� O'4N�O�%5�16 

10. �'>��' �'>�"5��R /%A12N/��%4�1��1��'>�"5��R �O1�R#N#6�6��6%�5�O�% 5��B�%%#  
11. �'>�"5��R/%A12N/��%4�1��1��'>�"5��R �O1�R#N�N6��6%�6$%5�2? 

2.3ัหล?��@#�อ��0B2?�/์อ>��#?"์ั 
�0B25�/R1>��%?$R�O1�N�็�R��6#/'5��6% (#�1.9000 N'N# 2-2561) �5��?Q  
1. �O1�1$CN�� AQ��6��6%�5��6%Q/#ค/6#25# 5��R�?P�?N�AQ1�C'�5�%4//N6��A��>�  A� 25�/RO'4Q/O

ค/6#2 6ค5��5�ค/6#�O1��6%�6�2%?%4�1�%N6��6$ O'4 &�>�%%#�1�25�/R O'4�5�Q/O#?16/6%25�/R1>��%?$R
�?P#?คB�"6 1$N6�N ?$� 1 

2. �0B25�/RN�็��>��%%#/�@P��?P25# 5��R�5��A��>� O'4�0B25�/R�O1�#? AQ��?P�'6�O�O�2 6/%5�11�
� 6'5� �5Q��?Q�O1�ค 6�@��@�2/52�>"6 �1��0B25�/R�O/$ 

3. �O1�%5�16%4���>N/0�O1��>P�O'4ค/6#/'6�/'6$�6��?/"6 �1� AQ��?P�6%�'>� N AP 1N�็�
 AQ��?P2 6/%5� A� O'4�?P1605$�1�O#'� O'425�/R�%4� 6�>P��5Q� N�N� �N6  BN#R#O O�/%5Q/�%%#�6�> O'4/�1��Q 6 

4. � 6�/��0B25�/R�O1� 1N/#64�5� AQ��?P P�$ค 6�@��@��6%Q�O�%4P$��R�6� A�Q�!6%R# �6%
�5��6%�6�B16/6%�?P2#�B' %5�16ค/6#1B�#2#�C%�R�1��>� �O1��5��6%� 6'6$/�O 6�>� �O1��5��6%�N1
#' >1�N1O/'N��Q 6 N�N� �6%/#B�N/?$�Q�O AQ��?P �O1��5��6%O�4N'O#�?P#6�N�>�R� O'4�6%�%4�6$#C'25�/R
1$N6�N/#642# 

5. �6%�5��6%�5��0B25�/R Q/O#BN�N�O��6%�$6$ 5��BR�6#�%%#�6�> %5�162B�"6 25�/R �O1��5�
P%ค /'?�N'?P$��6%Q�O$6Nค#? �CO'2/52�>"6 �1�25�/R O'4�6%'�ค/6#Nค%?$� %/#�5Q�/'?�N'?P$��6%Q�O�'
 '1$R�O�6�25�/RN�็�16/6%25�/R 

6. �6%N'?Q$��0B25�/R/'6$��>�Q� AQ��?PN�?$/�5� Q/ON�็�R��6##6�%�6���5��?Q /6�#?25�/R�?P
R#NR�ON'?Q$��6##6�%�6��?QQ� AQ��?PN�?$/�5� �CO�'>��O1��5��6%O$�%4���6%�'>��?P�5�N�� �O1��5��6%
��N�A้1�/%A1�4���?P� 6Q/O2C�N2?$ค/6#N�็�1>��%?$R 

7. �6%�'>�O��คCN��6� �CO�'>��O1�O$�%4���6%�'>�1$N6��5�N�� �O1��5��6%��N�A้1�/%A1
�4���?P� 6Q/O2C�N2?$ค/6#N�็�1>��%?$R 

8. �6%�5��6%Q��6%�'>�25�/RO'4�'>�"5��R�6�25�/R �O1�ค 6�@��@�ค/6#�'1�"5$�1��CO�'>�
O'4�CO�%>P"ค 

2.4 �Oอ� @ห��/>�?�@#�ล>��0B2?�/์อ>��#?"์ 
N�็��O1� 6/���?PN�?P$/�O1��6##6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 1: �6%�'>� O�%%C� 

O2��2'6� O'4� 6/�N6$�'�'>�O'4�'>�"5��RN�1�%1>��%?$R (#�1. 9000 – 2564) O'4�O1� 6/��/>�?�6%
�'>��0B25�/R1>��%?$RQ�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R (#�1. 9000 N'N# 2 – 
2561) �5��?Q 
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2.4.1 2?�/์�?PQ�OQ��@#�ล>��0B2?�/์อ>��#?"์ 
1) �6%N'A1�Q�O��>�  5��BR 26$ 5��BR25�/R �5��?Q  

1.1) #?ค/6#26#6%�Q��6%�%5��5/N�O6�5�2"6 O/�'O1#  

1.2) ค/6#26#6%�Q��6%�O6��6�P%ค  
2) 25�/R�?PQ�O2 6/%5��6%�'>��0B25�/R1>��%?$R�O1�#?'5�1�4 �5��?Q  

2.1) N�>�Q�!6%R#�?P#?�6%�5��6%�6#%4��N�1�%1>��%?$R 
2.2) N�>��6� N1O#N 5��BR�?P#?�6%�5��6%�6#%4��N�1�%1>��%?$R 
2.3) 25�/R�O1��C�N'?Q$�Q�%4��1>��%?$R�'1��N/��?/>��1�25�/R 
2.4) R#NN�'?P$�%C�O���6%N'?Q$�25�/RR�#6%4//N6��6%N'?Q$�%4��1>��%?$R O'4%4���?P

R#NQ�N1>��%?$R  
3) /6��5�/625�/R�?P#?'5�1�4�6#�O1 2) R#NR�OQ/OQ�O25�/R�6�!6%R#�0B25�/R�5P/R�R�OQ��%�?

�N1R��?Q P�$�O1�R�O%5�ค/6#N/O��1��6�/�N/$%5�%1��N1�  
3.1) N AP1�$6$�6%�'>� /%A1#?�6%N�'?P$�O�'��6%Q�O 5��BR25 �/RQ��6%�'>� �?P

�1�2�1�ค/6#�O1��6%�1� �'6� /%A1N�็�25�/R26$ 5��BRQ/#N�?P#?�6%�%5��%B� 5��BR�@Q�#6�O/$/>�?�%%#�6�>  
3.2) N AP12%O6��C�25�/RQ/#N Q��%�?�?P#?15�%6�6%�6$Q��C�2C�#6�  
3.3) N AP1� 625�/RN 0�CO#6Q�ON�็� N1 5��BR 
3.4) /6�R#N#?�6%�'>� 5��BR25�/R�6�%4���0B25�/R1>��%?$RN�็��6%คO6#6�N1�Q� AQ��?P

�5Q� Q/OQ�O25�/R�6�!6%R# �?PR#NR�O�5��6%�6#%4��N�1�%1>��%?$RR�O P�$25�/R�?P� 6N�O6!6%R#ค/%#?16$B�O1$
�?P2B�N�N6�?P�4� 6R�O N�N� /'5�/$N6�# /%A1�5Q�O�N11��6�R�NR#NN�>� 3 /5� P�$�CO�'>��O1�O2��O��%4$4N/'6
Q��6%/6 5��BR25�/R�6�%4���0B25�/R1>��%?$R#6Q�OQ��6%�'>�  

4) �'�'>�/%A1�'>�"5��R�1�25�/R�6#�O1 3) �4%5�%1�N�็��0B25�/R1>��%?$RR�O �O1�#?%4$4
�6%�%5�N�'?P$�%4���6%�'>� P�$�%�?25�/R�?�Q/OR�N �4�O1�Q�O%4$4�6%�%5�N�'?P$�%4���6%�'>� 6 
25��6/R 

2.4.2 �@#�#?�N�ล?P"�#>���@#�ล>�QหON�็�#>���0B2?�/์อ>��#?"์ 
1) �6%�5��6% AQ��?PN AP1Q�ON'?Q$��0B25�/R1>��%?$R �5Q��6%�'C� A�O'4 A�16/6%25�/R �O1�#?

%4$4�%5�N�'?P$� 2 6/%5� A�'O#'B� 12 N�A1� O'4 A�$A��O� 18 N�A1� O'4� 6N�>��6%�6#�?P� 6/��Q� 
#�1. 9000 N'N# 1  

 2) !6%R#/%A1 AQ��?P�6%�'>�Q�N �?PR�O%5��6%%5�%1�N�็�N�1�%1>��%?$R N#AP1#?�6%� 625�/R
�6�!6%R#�?PR#NR�O%5��6%%5�%1��0B25�/R1>��%?$R#6Q�ON AP1�6%�'>� �'>��'/%A1�'>�"5��R�?P�4/6��6$N�็�
2>�คO6�0B25�/R1>��%?$RR�O�4�O1�#?%4$4�6%�%5�N�'?P$�%4���6%�'>� P�$�%�?25�/R�?�Q/OR�N �4�O1�Q�O%4$4
�6%�%5�N�'?P$�%4���6%�'>� 6 25��6/R  
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3) /6� AQ��?P�'C� A�16/6%25�/RO'425�/RN�O62CN%4$4�6%�%5�N�'?P$� %O1#�5� N#AP1 AQ��?P
R�O%5��6%%5�%1�O'O/ �'>��'�0B25�/R�4�O1��N6�%4$4N/'6�6%�%5�N�'?P$�%4���6%�'>��6#�?P� 6/�� �@�
�426#6%�%5�%1�N�็��'>��'1>��%?$RR�O 

4) %4$4�6%�%5�N�'?P$�Q/ON�็��0B25�/R1>��%?$RN%>P#�5��5Q�O�N�CO�'>�R�O��>�5�>�6##6�%�6�
�?Q O'42#5ค%�1%5�%1��N1/�N/$%5�%1� �CO�'>�26#6%��1'�%4$4�6%�%5�N�'?P$�'�R�O /6�#?/'5��6�/N6 
R�O��>�5�>�6#6�%�6��?QO'4R�O%5��6%$1#%5��6�/�N/$%5�%1� 

5) /�N/$%5�%1�%4���6%�'>��0B25�/R1>��%?$R 26#6%��%5�'�%4$4�6%�%5�N�'?P$�O'4
� 6/��/>�?�6%�?PO���N6��6��?P%4�BQ�#6�%�6��?QR�O Q��%�?�N1R��?Q  

5.1) O�'�/�O6/%A1 AQ��?P11�� 6'5�2 6/%5�25�/R1AP��?PR#NQ�N25�/R�>� A� Q/O'�%4$4�6%
�%5�N�'?P$��6#�O1 2.4.2 '�R�O 

5.2) Pค �%4�A1 #O6 O 4 O�4 �6�%4���6%N'?Q$�O���'N1$O�'� /%A1Pค�#Q��N/�
N%>P#�6%�%5�N�'?P$� %4$4�%5�N�'?P$�'�'�R�O�6#�%4/5�>�6%Q�O AQ��?P  

2.4.3 อ@ห@#2?�/์ั 
1) 16/6%�?PQ�OQ��6%N'?Q$�25�/R �O1�ค 6�@��@�คB�"6 16/6%25�/R O'4ค/%Q�O/5��B�>��?P�'>�

�6�!6%R# ��N1�#6��?P2B� /%A116�Q�O/5��B�>��6� AQ��?P1AP�N R�OP�$/5��B�>��5Q��O1�#?�%4�/��6%�'>��?P
21�ค'O1� �5��O1� 6/���1�N�1�%1>��%?$R /%A1N�็�/5��B�>��?PR�O�6��%%#�6�>�@P�#6�6� AQ��?P�?PR#NNค$Q�O� 6
�6%N�1�%/%A1R#NNค$Q�O26%Nค#?�?P/O6#Q�O1$N6��O1$ 3 �?P�$�CO�'>��O1�O2��/'5��6��%4�1��6%  >�6%�6
�N1/�N/$%5�%1�  

2) Q�%4$4N%>P#� 6N�>��6%�%5�N�'?P$� 16/6%25�/R�?PQ�O�O1�#?/5��B�>��?P�'>�Q�%4��N�1�%
1>��%?$RQ� �%>#6�R#N�N่6�/N6 70% �1�/5��BO/O� (dry matter) 2 6/%5�2C�%16/6%25�/RNค?Q$/N1AQ1� O'4 
65% �1�/5��BO/O� 2 6/%5�2C�%16/6%25�/R�%4N 64N�?P$/ 2 6/%5�16/6%�?PR#NR�O#6�6�%4��N�1�%1>��%?$R 
�O1�N�็�/5��B�>� �6� A� 25�/R/%A1O%N�6�B�6#�%%#�6�>  

3) Q��%�?�?P AQ��?P�6%�'>�R#N26#6%��5�/6/5��B�>�16/6%25�/R1>��%?$RR�O 100% 16/6%
25�/R�?PQ�O �4�O1�#?/5��B�>��?P�'>�Q�%4��N�1�%1>��%?$RQ��%>#6�R#N�N่6�/N6 90% �1�/5��BO/O�2 6/%5�
16/6%25�/RNค?Q$/N1AQ1� O'4 80% �1�/5��BO/O�2 6/%5�16/6%25�/R�%4N 64N�?P$/ P�$ค 6�/��6�ค/6#
�O1��6%16/6%25�/R�5Q��?O'4�O1�R�O%5�ค/6#N/O��1��6�/�N/$%5�%1��N1� 

4) /6��CO�'>�26#6%�O2��%6$'4N1?$��?P�N��?Q/N6 R#N26#6%��5�/6/5��B�>�16/6%25�/R�6#�?P
� 6/��R�O N�AP1��6�N/�B2B�/>25$Q�N �O�6# N�N� �6%N�>�"5$�%%#�6�> 2"6 16�60R#N1 6�/$ 26#6%�Q�O
/5��B�>� 16/6%�6��6%�'>�O�����>R�O Q�25�2N/�O'4%4$4N/'6�?P/�N/$%5�%1�� 6/��N�็��%�?R�  

5) 2C�%16/6%�?PQ�Oค/%ค 6�@��@�ค/6#�O1��6%�6�P"��4�1�25�/R O'4�6�2%?%4�1�%4��
$N1$16/6% �5��?Q  

5.1) 25�/RN'?Q$�'C��O/$�#ค/%R�O%5��#O#N N�็�%4$4N/'6�?PN/#642#�6#��>�25�/R  
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N�N� Pค �%4�A1 R#N�P 6�/N6 2 N�A1� O 4 O�4 R#N�P 6�/N6 6 25��6/R O'42B�% R#N�P 6�/N6 4 25��6/R 
5.2) 25�/R�>� A� N�N� Pค �%4�A1 O 4 O�4 /%A1�%4�N6$ �4�O1�R�O%5�16/6%/$6�

Q�%C�2� O/O� /%A1 /#5��OR�ON�็�/'5� 1$N6��O1$�O1�#?16/6%/$6�R#N�P 6�/N6 60% �1�/5��BO/O��1�16/6%
�N1/5� /%A116� >�6%�6�6#ค/6#N/#642#�1�&�C�6'/%A1%4$4�1��6%Q/O�# �5Q��?Q�O1�#?16/6%/$6�R#N
�P 6�/N6 50% �1�/5��BO/O� P�$�CO�'>��4�O1�O2��O���6%�5��6%O�'�/�O6 �6%Q�O�%4P$��RO'4�6%
�'N1$O�4N'O#�'1��?R/OQ/O�%/�21� 

5.3) �N/��6%N'?Q$��B��1�25�/R�?� �O1��6%16/6%�%4N"��5� A�N AP1N�็�O/'N� '5��6�  
5.4) �O1��5�/616/6%/$6� �%4N"�2� O/O� /%A1/#5� Q/O25�/R�?�O'42B�%�B�/5�  
5.5) �6%N'?Q$�25�/RNค?Q$/N1AQ1� /O6#Q�O16/6%/#5�N ?$�1$N6�N�?$/�'1�%4$4�6%N'?Q$�  

6) #?�Q 62416�Q/O25�/R�>�1$N6�N ?$� 1 

7) /5��B�>�16/6%25�/R �O1�N�็�R��6#/'5��6% �5��?Q  
7.1) N�็�/5��B�>�/%A1N�็�26%�?P1�B�6�Q/OQ�O �6# %4%6��5��5�>ค/�คB#คB�"6 

16/6%25�/R  .0.2525 O'4��5�O�OR�N >P#N�># O'4R#N�5��5�/'5��6%�1�N�1�%1>��%?$R  
7.2) N�็�/5��B�>�/%A1N�็�26%�?P#?ค/6#� 6N�็��N1�6%� 6%��?/>� 2B�"6  O'42/52�>

"6 �1�25�/R  
7.3) N�็�/5��B�>�/%A1N�็�26%�?P� 6N�็�2 6/%5�ค/6#�O1��6%�6�2%?%4O'4 &�>�%%#

25�/RO�N'4��>� �@P�#?�O�� 6N�>��6� A� O%N�6�B�%%#�6�> /%A125�/R  
7.4) /5��B�>�16/6%25�/R�?P#?O/'N�� 6N�>��6� A��?PR#NR�O�'>��6�%4���6%�'>� A�

1>��%?$R 26#6%�Q�OR�O �6#�?P� 6/��Q��O1 7.2, 7.3 O'4 7.4 O'4�O1�R#N�N6��%4�/��6%�6�Nค#?Q�N  
7.5) /5��B�>�16/6%25�/R�?PQ�ON�็�O/'N�O%N�6�B />�6#>� /%A126%�5Q��O��1�/>�6#>� 

(provitamin) Q�2C�%16/6% �O1�#?O/'N�� 6N�>��6��%%#�6�> �%�?�6�Oค'�/%A1N/�B2B�/>25$ 26#6%�Q�O
26%25�Nค%64/RO��R�O O�N�O1�#?%6$'4N1?$��1�O/'N��?P#6O'4�%4�/��6%�'>��?P�5�N��  

7.6) R#Nค/%Q�O/5��B�>�16/6%25�/R�?P#?O/'N�� 6N�>��6�25�/R $�N/O� �#O'4�'>�"5��R
�# 25�/R�Q 6O'4 �'>�"5��R �5Q��?Q�@Q��5���%4N�?$��1�O�N'4�%4N�0  

7.7) /O6#Q�O/5��B�>�16/6%25�/R�?P#6�6��' '1$R�O�6�25�/RN'?Q$�'C��O/$�# N�N� N�AQ1
�N� �%4�C��N� N AP1 N�็�16/6%�1�25�/RNค?Q$/N1AQ1� $�N/O� �#O'4�'>�"5��R�#  

7.8) /O6#Q�O26%�%4�1�R�P�%N��25�Nค%64/R /%A126%�%4�1�R�P�%N���?PR#NQ�N
P�%�?� (non-protein nitrogen; NPN)  

8) /5��B�?P N�>#Q�16/6%25�/RO'426%�N/$�%%#/>�?�6%�'>� ( feed additives and 

processing aids) �O1�N�็�R��6#/'5��6%�5��?Q  
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8.1) 26%�?P�N/$Q��6%15�N#O� (binders) 26%�?P�N/$R#NQ/ON�็��O1� (anti-caking agents) 
26%�?P�N/$Q/OO���5/ (emulsifiers) 26%�?P�N/$Q/Oค��5/ (stabilizers) 26%�?P�N/$Q/O�O� (thickeners) 26%�?P�N/$'�
�6%�@��>/ (surfactants) O'426%�?P�N/$Q/ON�>��6%%/#�5/ (coagulants) �O1�#6�6��%%#�6�>  

8.2) 26%�5�/A��O1�#6�6��%%#�6�>  
8.3) 26%��1#16/6%�O1�#6�6��%��%%#�6�>  
8.4) 26%�%B�O�N�2? �'>P� %2 O'426%�%4�BO�ค/6#1$6�16/6%�O1�#6�6��%%#�6�> 
8.5) Q/OQ�O26%N2%>#�?/�4 (probiotics) N1�R�#R O'4�B'>��%?$R�O  
8.6) /O6#Q�O$6��>�?/�4 $6�5��>� $6O���ั��B�5� 26%N%N��6%N�%>�N�>�P� /%A126%

1AP�Q�Q�16/6%25�/R N AP1/5��B�%42�คRQ��6%N%N��6%N�%>�N�>�P�/%A1N >P#�'�'>� 

8.7) 26%N2%>#Q�/�O6/#5�O'426%�N/$�%%#/>�?�6%�'>� �O1�R#NN�็�26%�?PR�O#6�6�
2>P�#?�?/>��5�O�%� 5��BR�%%# 26%�?P1�B�6�Q/OQ�O R�OO�N N�'A1�4N' N�'A12>�N�6/R N1�R�#R $?2�R /6��# 
�Q 6�6'/%A1 �' '1$R�O�6��Q 6�6' (N�N� �6��O่6�6') �Q 6�@Q�  

8.8) O�ค�?N%?$�?P�'>��%�O'��>� 14�>�>� !1%R#>� O'4P�%�>P1�>� /%A1�%�
�%%#�6�>1AP�N 26#6%�Q�OR�O Q��%�?�?PQ�ON#AP12"6 16�60R#NN1AQ11 6�/$�N1�6%/#5� O'4R�O%5��6%%5�%1�
�6�/�N/$%5�%1�%4���6% �'>��0B25�/R1>��%?$R 

2.4.4 �@#�?��@#�O@�2B� @�2?�/์ 
1) �CO�'>��O1�ค 6�@��@��6%�O1��5�P%ค O'4'�ค/6#Nค%?$� N AP1Q/O25�/RO�O�O%�#?"C#>

�O6��6�P%คP�$�%%#�6�>P�$�O1���>�5�>�6#/'5��6%�5��?Q  
1.1) N'A1�Q�O 5��BR25�/R/%A126$ 5��BR�?PN/#642#  
1.2) #?�6%�5��6%�?PN/#642#�6#ค/6#�O1��6%�1�25�/RO�N'4��>� N AP12N�N2%>#Q/O

25�/R#?2B�1�6#5$�? O�O�O%� #?ค/6#�O6��6�P%ค O'4�O1��5��6%�>�N�AQ1  
1.3) #?�6%Q�O16/6%1>��%?$R�?P#?คB�"6 %N/#�5��6%11�� 6'5� O'4�6%�'N1$25�/RO�4

N'O# O'4//%A1Q/O25�/R#?P1�6225#�52�5�2"6 "6$�1�P%�N%A1� N AP12N�N2%>#"C#>คBO#�5�P%ค�6#�%%#�6�>  
1.4) N'?Q$�25�/R�6#� 6�/��?PN/#642#�5� AQ��?P R#NQ/OO115�/%A12N��'�%4���N1

2B�"6 �1�25�/R  
1.5) �5�%4���O1��5�ค/6#�'1�"5$�6��?/"6 1$N6�N/#642# N�N� 2B�1�6#5$25�/R 

�6%� 6/5ค�?� �6%Q�O26%2�5��?/"6  �6%�5�O$�25�/R�N/$ �6%�5��5�25�/R�N1�� 6N�O6�C�Q/O#6 O'4�6%
�O1��5� 6/4� 6P%คN�O6 !6%R#1$N6�N/#642# N�็��O�  

2) Q��%�?�?P25�/RN�O��N/$/%A1R�O%5��6�N�O� �O1�Q/O�6%%5�16P�$�5��? �O6� 6N�็�Q/OO$�
25�/R�N/$11��6��C�O'4�5�Q/O1$CNQ�P%�N%A1��?PN/#642# O#O/N6�'�6%%5�16�?Q�4� 6Q/O25�/R�O1� O��6�
2"6/4�1��6%N�็��0B25�/R1>��%?$R�O�6# O'4�CO�'>��O1����5��@��6%%5�161$6�'4N1?$��@���>��1�$6 
�6%Q�O$6 O'4�6%��>�5�>%4$4/$B�$6  
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3) �6%%5�16P%ค �O1�N�็�R��6#/'5��6% �5��?Q  
3.1) �%�?�?P25�/RN�O��N/$/%A1R�O%5��6�N�O� Q/ON'A1�Q�O A�2#B�R % O%N�6�B�%%#�6�> 

/%A1�6%O �$R�6�N'A1��N1��6%Q�O$6O���ั��B�5�/%A1$6��>�?/�4 P�$ >�6%�6Q/ON/#642#�5�2"6 O'4
��>�25�/R 

3.2) /6��6%%5�16�6#�O1 (1) R#NR�O�' Q/OQ�O$6O���ั��B�5�/%A1$6��>�?/�4R�O 
"6$Q�O�6%�CO'�1� 25�/RO �$R %4$4�6%/$B�Q/O$6�4�O1�N >P#N�็�21�N�N6�1��?P%4�BQ�N1�26%� 6�5�$6 
�%�?�?PR#NR�O%4�BR/OQ/O#?%4$4N/'6�6%/$B�Q/O$61$N6��O1$ 48 �5P/P#�  

3.3) Q� AQ��?P�?PN�>�P%ค/%A12�25$/N6N�>�P%ค /%A1#?�ั�/62B�"6 �?P�6%�5��6%�6#
/'5��6% /%A1$6�?P 1�B�6�Q/OQ�OR#N26#6%�ค/�คB#/%A1%5�16P%คR�O %/#�5Q�Q��%�?�?P� 6N�็��O1���>�5�>�6#
��/#6$O'O/1�B�6�Q/OQ�O/5ค�?� $6� 6�5��%2>�"6$Q�O'4"6$�1� /%A1$6%5�16P%ค1AP�N R�O�6#ค/6#
� 6N�็�O'4#?%4$4N/'6/$B�$6�?P�5�N�� �%�?�?P25�/RR�O%5��6%%5�16�O/$$6O���ั��B�5� O'4//%A1 $6
��>�?/�4 N�>� 2 ค%5Q� "6$Q� 1 �? /%A1 1 ค%5Q� 2 6/%5�25�/R�?P16$BR#N�@� 1 �? �CO�'>��O1�R#N� 6#6� 6/�N6$N�็�
�'�'>��0B25�/R1>��%?$R O'425�/R�5Q�N �4�O1�N�O62CN%4$4�%5�N�'?P$�Q/#N  

3.4) �6%%5�16�O/$21%RP#� �O1�1$CN"6$Q�O�6%�CO'�1�25�/RO �$R  
4) /O6#Q�O$6��>�?/�4 N AP1/5��B�%42�คRQ��6%�O1��5�P%ค  
5) /O6#Q�O26%N%N��6%N�%>�N�>�P�/%A126%1AP�Q� �?P#?�'Q��6%�%4�BO��6%N�%>�N�>�P�/%A1

N >P#�'�'>�  
2.4.5 �@#�?��@#�@#์!ั�@#��2N�2?�/์ัOล>�@#�N@2?�/์ั 

1) #?�6%�CO'O'4�6%�5��6%Q��6%N'?Q$�25�/R1$N6�N16Q�Q2N N�็�R��6#�%%#�6�>#6��?P2B� 
P�$ค 6�@��@� /'5�2/52�>"6 25�/R  

2) �CO�'>��O1�/6�O���5��6% AQ��?P �'C� A�N�็�16/6%25�/RQ�!6%R##6��?P2B� /%A1Q�
Nค%A1�N6$�%>N/�Q�'O O'4/#B�N/?$�Q�O�' '1$R�O�6�!6%R# �6%� 6�'5�#6Q�OQ/#NN�็�16/6%25�/R N AP1Q/O
N�>��6%/#B�N/?$� �6�B16/6% �6%�%4�6$#C'25�/R1$N6�N/#642# O'4N�>�ค/6#$5P�$A�  

3) �6%�$6$ 5��BR25�/RQ/ON�็�R��6#/'5��6%�5��?Q  
3.1) N'A1�Q�O 5��BR25�/R /%A126$ 5��BR�?PN/#642#  
3.2) Q�O/>�?�6%�2# 5��BR�6#�%%#�6�> /6�#?ค/6#� 6N�็�Q/OQ�O/>�?�6%�2#N�?$#R�O  
3.3) /O6#Q�O/>�?�6%$O6$�6��5/1N1�O'421%RP#�Q��6%�$6$ 5��BR25�/R  
3.4) /O6#Q�O/>�?�6� 5��BR/>0/�%%#Q��6%�5�O�% 5��BR�%%#25�/R  

4) �6%N'?Q$�25�/R%4��1>��%?$RP�$�5P/R�R#N1�B�6�Q/O#?�6%�N6�5�/%A1�6%�5��6%�6�1$Q6�
�5�%N6��6$25�/R $�N/O�Q��%�?�?P� 6N�็�O'4R#N#?/>�?1AP��?PN/#642# �5��?Q  

4.1) N AP1�O1��5��6%�N12CO�5� /%A1N AP1�O1��5�2/52�>"6 �1�25�/R/%A1#�B1$R N�N� �6%
�5�/6� �5�N�?Q$/ �5���1$�6� �5�N�6 O'4�O1��11�B�6�/�N/$%5�%1��N1� 
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4.2) N AP1�%5��%B�คB�"6 �1��'�'>� N�N� �6%�1�2B�%N 0�CO N AP1'��'>P�Q�N�AQ12B�%  
4.3) N AP1�6%� 6Nค%AP1�/#6$25�/R � 6�4N�?$�O'4�%5��%B� 5��BR25�/R N�N� �6%�>�N�1%R

/C /O6#Q�O�6%�%4�5��%6�O/$ค/6#%O1�  
4.4) N AP12B�"6 25�/R N�N� �6%%5�/6�O�4 �5Q��?Q�O1�� 6Q��N/�16$B�?PN/#642# P�$�CO�?P

#?ค/6#� 6�6�O'4R#NQ/O25�/R�%#6�  
5) 2"6 O/�'O1#O'4�?P1$CN1605$ �O1�ค 6�@��@�ค/6#N/#642#�5� &�>�%%#�1�25�/R �5��?Q  

5.1) #? AQ��?PN ?$� 1Q/O25�/RR�OO2�� &�>�%%#�6#�%%#�6�>�1�25�/R1$N6�1>2%4   
5.2) ค/%N'?Q$��'N1$%/#�5��6#ค/6#N/#642#�1���>�O'4�%4N"��1�25�/R  
5.3) #?�6%�O1��5��6%N�>� &�>�%%#�>����> �6�N�O�O'4P%ค  
5.4) N�%?$#ค/6# %O1#Q��%�?N�>�1B�5�>N/�B/%A1"6/4�B�N�>� N�N� R!R/#O R!�5� 

Nค%AP1�#A1/$B�� 6�6�  
6) �6%��2N�25�/R O'4�'>��'  

6.1) Q/O� 6N�>��6%�O/$ค/6#%4#5�%4/5� /'?�N'?P$��6%� 6Q/O25�/RN�>�ค/6#Nค%?$� �AP�
�'5/ �6�N�O� /%A1 �%#6� O'4/O6#Q�ONค%AP1��%4�BO�R!!O6 %/#�5Q�$6/%A126%Nค#?�?P#?�'�N1�6%�%5�N�'?P$�
 &�>�%%# N�N� $6�'N1#�%426� N AP1Nค'AP1�$O6$25�/R  

6.2) �6%�5��6%��2N�25�/R �O1�ค 6�@��@�2/52�>"6 25�/RQ/O25�/RN�>�ค/6#Nค%?$�O'4
�%#6��O1$�?P2B�  

6.3) �6%�5��6%��2N�25�/R /%A1�'>��' N�N� �# R�N �O1��O1��5��6%�4�� /%A1
��N�A้1��'>��' �?PR#NR�O#6 �6�%4���0B25�/R1>��%?$R N�N� #?�6%�?Q�N��?P�5�N��  

7) �6%�N625�/R  
7.1) Q/O��>�5�>P�$Q/O25�/RN�>�ค/6#Nค%?$�O'4�%#6��O1$�?P2B� �5Q��?QQ/ON�็�R��6#

��/#6$�?PN�?P$/�O1�  
7.2) �6%�5��6%�'1��6%�N6 �6%� 6O/'4 O'4�6%N�O�%5�16 �4�O1�#?%4���6%

�O1��5��6%�4�� ��N�A้1��5��'�'>��?PR#NQ�O1>��%?$R O'426%Nค#?�?PR#N1�B�6�Q/OQ�OQ�%4���0B25�/R1>��%?$R  
2.4.6 P#�N#Aอ�Oล>�@#Nล?Q"��ลNอ"ั 

1) P%�N%A1�#?'5�1�4�?PN/#642#�5�"C#>16�60O'425�/R26#6%�11�2CN AQ��?P"6$�1�R�O  
2) 2"6 �1�P%�N%A1�N/#642#�5�2"6 O'4 &�>�%%#�1�25�/R �5��?Q  

2.1) 25�/R26#6%�N�O6�@��O่6O'416/6%R�O�N6$ 

2.2) 26#6%��5�O�� �5��� 2416� #?O2�2/N6� O'4�6%%4�6$16�60�6#�%%#�6�>
1$N6�N ?$� 1 N AP1Q/O25�/R1$CN2�6$  
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3) /6�� 6N�็��O1�Q/O25�/R1$CN"6$Q�P%�N%A1��5P/ค%6/ �O 1�#? AQ��?P N ?$� 1Q��6%
Nค'AP1�R// /%A1#?  AQ��?P�'6�O�O�"6$�1�ค1� /6� >2C��RR�O/N6#?ค/6#� 6N�็��O1��5��5� 26#6%�� 6R�OQ�
�%�?�5��?Q  

3.1) �%�?�?P16�60R#NN/#642# N�N� %O1��5� /�6/�5� N�>�"5$�%%#�6�>  
3.2) �%�?N AP1ค/6#�'1�"5$ O'42B�"6 �1�25�/R N�N� 'C�25�/RN�>�Q/#N  
3.3) �%�?N AP1�O1��5��6%� 6'6$O/'N��Q 6 2>P�O/�'O1#  A� O'4ค/6#1B�#2#�C%�R

�1��>� N�N� &�C�'C�/�O6 /%A1O�'�/�O6$5�R#N2#�C%�R  
3.4) �%�?%4$4�6%Q/O�'�'>�25�/R N�N� 25�/R�B�%4$42B��O6$ N'?Q$�O���5�ค1�R�OR#N

N�>� 1/5 �1��N/��?/>� /%A1PคN�AQ1R#NN�>� 3 N�A1� 2B�%R#NN�>� 2 N�A1�  
3.5) �%�?�6%N'?Q$��C�N'O��1�N�1�%�%%6$$N1$ N�N� �6%N'?Q$� N1 5��BRO$��5�N�?P$/ 

�6%N'?Q$�2B�%%/#�C�Q� ค1��?P#?/52�B%1� AQ�Q/O25�/RR�OO2�� &�>�%%# N�็��O�  
4) ��6��1� AQ��?PQ�P%�N%A1�N'?Q$�25�/R ค/%ค 6�@��@�  

4.1) Q/O25�/R1$CN2�6$ N/#642#�5���>�  5��BR 2"6  O'416$B�1�25�/R  
4.2) N/#642#�5���6��1��C�O'4N 0�1�25�/R  
4.3) #? AQ��?PN ?$� 1Q/O25�/RNค'AP1�R//�6#�%%#�6�>  

5) P%�N%A1� ค1� 1B��%�RO'4Nค%AP1�#A1�N6�N �O1�� 6ค/6#2416� O'4//%A1 �N6N�AQ1�6#
ค/6#N/#642# N AP1�O1��5��6%��N�A้1�O'4�6%242#�1�N�AQ1�N1P%ค  

6) 25�/RNค?Q$/N1AQ1��O1�R�O%5��6%�'N1$N'?Q$�Q�O�'�/�O6 25�/R1AP��O1�R�O%5��6%�'N1$Q�
 AQ��?P�'6�O�O� N#AP116�601 6�/$  

7) �6%N'?Q$�O���'N1$Q� AQ��?PN�>� �O1�#?�?P�5�O��O'4�� /%A1�O1��5�ค/6#O�%�%/�
�1�"C#>16�60 1$N6�N/#642#O'4N ?$� 1  

8) �6%�'N1$25�/RO�4N'O#Q��BN�/�O6�%%#�6�>/%A1O�'�/�O6 ค/% >�6%�6Q/O#?� 6�/��?P
N/#642# O'4R#NN�>�ค/6#N2?$/6$�N1ค/6#1B�#2#�C%�R�1��>�O'4O�'�/�O6  

9) �6%N'?Q$�25�/RO��R'N�O1�/%A1Q� AQ��?P�N6/%A1 AQ��?P26�6%�4  AQ��?P�5Q�N �O1�R#NQ�O
26%Nค#?#61$6��O1$ 3 �? O'4ค/6#/�6O�N��1�25�/R�O1�R#N� 6'6$2>P�O/�'O1# /6�#?�0B25�/R�?PR#N�1�6%
%5�%1�1$CNQ� AQ��?PN�?$/�5� �O1�R�O%5��6%�%/�21�O'4N/O��1��6�/�N/$%5�%1��N1� 

�5Q��?Q Q��%�?25�/R�?�#?�O1 >�6%�6N >P#N�>#�?P2 6ค5� �5��?Q 
(1) �O1�N'?Q$�O���'N1$1>2%4 #? AQ��?P"6$�1�N ?$� 12 6/%5�O2�� &�>�%%#�6#

�%%#�6�>�1�25�/R 
(2) 25�/R�?��?P#? &�>�%%#�1��Q 6 �O1�#?O/'N��Q 6R/OQ/O1$N6�N ?$� 1 



37 

 

 

(3) P%�N%A1�25�/R�?��O1�#? AQ�O�O��?Pค'B#�O/$/52�B%1� AQ� 16�N�็�O�'� !6� �?QN'AP1$ 
�%6$/%A1/�O6 O'4P%N�%A1�R�NR�N N�็�R�N �O1�#?%5�R�NN ?$� 12 6/%5�/6�R�N #?ค1��1�2 6/%5�R�N #?��6�
O'4�6%�5�/6�N/#642#�5���>�O'4 &�>�%%#�1�25�/R 

(4) /O6#Q�OO2�R!��O��O2��%%#�6�> N AP1N%N��6%�'>� 

(5) �6%N'?Q$�25�/R�?��O1�#?�6% 5�P%�N%A1�1$N6�N/#642# �N1�� 625�/R�?��B��N1R�
N�O6N'?Q$� 

10) P%�N%A1�25�/R�?��O1�#? AQ�O�O��?Pค'B#�O/$/52�B%1� AQ� 16�N�็�O�'� !6� �?QN'AP1$ 
�%6$/%A1/�O6 O'4P%�N%A1�R�NR�N N�็�R�N �O1�#?%5�R�NN ?$� 12 6/%5��6%/6�R�N #?ค1��1�2 6/%5�R�N #?
��6�O'4�6%�5�/6� N/#642#�5���>�O'4 &�>�%%#�1�25�/R  

11) /O6#Q�OO2�R!��O��O2��%%#�6�> N AP1N%N��'�'>�  
12) �6%N'?Q$�25�/R�?�%4��!6%R#�O1�#?�6% 5�P%�N%A1�1$N6�N/#642# �N1�� 625�/R�?��B�

�N1R�N�O6N'?Q$�  
2.4.7 �@#�?��@#�อ�N2?"ั�6%�5��6%�1�N2?$Q��%>N/��?PQ�ON'?Q$�25�/R �O1�#?/'5��6%�5��?Q  

1) R#N� 6'6$�%5 $6�%�>�O'4�Q 6 
2) R#N�N1Q/ON�>��6%��N�A้1��1�R�N�%�O'4O�ค�?N%?$�?P�N1Q/ON�>�P%ค Q��>�O'4�Q 6 
3) #?�6%/#B�N/?$��1��6�B16/6%Q��>��?PN/#642# 

4) /'?�N'?P$��6%N�6� 6'6$�1�N2?$ O'4�>��%%#1AP��?PR#N21�ค'O1��5�#6�%�6�N�1�%
1>��%?$R$�N/O��6% N�6� 6'6$�6�N AP1ค/�คB#P%ค  

5) �O1�#?#6�%�6%Q��6%� 6�5��6�25�/R 1$N6��C��O1�N/#642#�6#/'5�/>�6�6% N AP1'�
�ั�/6#'"6/4�N1�B#�� O'4'�P1�62�6%O %N�%4�6$P%ค 

6)  AQ��?PO'42>P�1 6�/$ค/6#24�/�Q��6%�5�N�O��1�N2?$ ค/%11�O��Q/O26#6%��O1��5�
�6%��N�A้1�2CN�>�O'4O/'N��O่6R�O 

7) �6%Q�O�BO$#C'25�/RQ� AQ��?PO�'�/�O6/%A1N�1�%�%%# �O1�1$CNQ��%>#6��?PN/#642# R#N
#?�'�%4���N1คB�"6 �1��Q 6Q�O�>�O'4�Q 6�>/�>�  

2.4.8 �@#�?�N�O��?��@��Oอ!Cล  
�CO�'>��O1��5�N�O��5��@��O1#C'�?Pค%��O/�O'4�5�N/�B�6%�R�6#�?P/�N/$%5�%1�� 6/��  

 

3.ัO�/ค>�N�?P"/�?�R�NR�Nอ>��#?"์ 

R�NR�NN�็�16/6%P�%�?��?P#?คB�คN6�6�P"��6�6%2C� %6ค6R#NO � �B�ค�26#6%��%>P"คR�O 
P�$N� 64R�NR�N�?P#6�6��6%N'?Q$�Q�%4��1>��%?$R$>P�#?คB�คN6�6�P"��6�6%2C��/N6R�NR�N�5P/R� �@P�R�NR�N
1>��%?$R�?P#?คB�"6 �?�C�6�'5�1�4R�N�6/�O� R�NO���C�N�N� %2�6�>�? R#NN2?P$��N126%Nค#? #?คB�คN6�6�
P"��6�6%2C�#6� N�N� #?ค'1N'2N�1%1'�O1$�/N6/�@P�Q�26# #?�%�R�#5�1>P#�5/�O1$�/N6/�@P�Q�2?P #?/>�6#>�
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N1#6��/N621�Q�26# #?�%�R�#5�P1N#�O6 3 #6��/N621�N�N6 #?/>�6#>�1?#6��/N626#N�N6 #?N��O6OคP%
�?�#6��/N6N�O�N�N6 N#AP1N�?$��5�R�NR�N�?P#6�6��6%N'?Q$�O���5��%��%��5� (�%#�0B25�/R, 2553) 

3.1 �@#N�#?"!ค/@!�#Oอ!Q��@#Nล?Q"�R�NR�Nอ>��#?"์ั�6% 5��6 AQ��?P N AP1�1%5�%1�#6�%�6��0B
25�/R1>��%?$R-!6%R#R�NR�N �6%N'A1� AQ��?P�?PN/#642#�O1�1$CN/N6�R�'�6�O/'N��B#�� N�็� AQ��?P�?PR#N#?�6%
��N�A้1��6�26%Nค#? #?O�/�O1��5��6�"6$�1�P�$�%%#�6�>$>P��? 

 
 

 @��?Pั2.10 O���5�!6%R#R�NR�N1>��%?$RO#NP�O-O %N 
�?P#6: /%0>'�P #6'5$�1�, O'4 �1�N'?$� �5/�C# (2565) 
 

1. P%�N%A1�R�NR�N�6��6%คO6O'4 AQ��?P�'N1$ 

2. P%�N%A1�R�NR�NN'�21%R�O'4 AQ��?P�'N1$ 

3. P%�N�O�16/6%25�/R 
4. �5��Q 62 6%1� 
5. �N1�Q 6�>/�>� 

6. �N1�>Q��6� 

7.  AQ��?P�'C� A�1>��%?$R 
3.2 2@"�?��B์R�Nั 5��BRR�NR�N �?P� 6#6N'?Q$�Q�%4��1>��%?$R26#6%�Q�O 5��BRQ��OR�O �O6�O1��6%N'?Q$�

O��Q�O�O��B�คN616/6%�P 6 Q/O�'�'>�R�O�? 12#ค/% 26#6%�N'?Q$�R�N 5��BRO�O N�N� R�NP%P�R1%RO'��RO�� �?P
�%5��5/N�O6�5�2"6 O/�'O1#Q��%4N�0R�$R�ON�็�1$N6��?O'O/ /%A1R�NR�N26$ 5��BR�6��6%คO6�?PQ/O�'�'>�R�N
2C� O�N�O1�N'?Q$��C1$N6��? /%A1/6��O1��6%N1�26%'5�1�4N� 64!6%R#�1���N1� �6%N'?Q$�R�NR�N 5��BRO�O
26$ 5��BRN'�21%R��6/ �@P�Q/OR�N�?P#?N�'A1�2?�6/�O26#6%�2%O6�ค/6#O���N6��6�R�NR�N 5��BR�5P/R�R�O 
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 @��?Pั2.11 �O1� 6/��N�?P$/�6%N'?Q$�R�NR�N1>��%?$R 
 

3.3 �@#2#O@��@#์!Oล>P#�N#Aอ��@!!@�#�@�ั�6%2%O6�P%�N%A1�R�NR�N P�$��6��1�P%�N%A1�
�O1�ค 6�/��6�� 6�/�25�/R�?P�O1��6%N'?Q$�Q/OR�O�6##6�%�6��1�R�NR�N1>��%?$R�?P� 6/�� 

1) ��6��1� AQ��?P"6$Q�P%�N%A1� 1 �6%6�N#�%�N1R�N 4 �5/ 

2) 2 6/%5� AQ��?P�'N1$ �@P�1$CN"6$�1�P%�N%A1��O1�#? AQ��?P2 6/%5�R�N 1 �5/ 1$N6��O1$ 4 �6%6�N#�% 
3) ค/%� 6%5Q�'O1# AQ��?PN'?Q$� N AP1�O1��5�05�%C�6#�%%#�6�>O'4�6%O %N�%4�6$�1�P%ค�6�

 6/4��>��N6� N 

3.4ัอ@ห@#Oล>�Q @R�NR�Nอ>��#?"์ 
1) 16/6%�O1��%4�1��O/$/5��B�>��?P�'>��6�%4��1>��%?$R1$N6��O1$%O1$'4 80 �1�/5��BO/O� 
2) /O6#Q�O26%25�Nค%64/RN�>#'�Q�16/6% 

3) �O1�#?�Q 62416�Q/O�>��'1�N/'6 
4) /5��B�>��?PQ�O2N/�Q/�N#6�6� A��?P�'C�Q�%4��1>��%?$R�@P��O1��N6��6%%5�%1��6�/�N/$

%5�%1�O'O/ N�N� �'6$�O6/ % 6 �O6/P � �5P/N/'A1� O'4�%4�>P� N�็��O� 

5) /5��B�>���>�1AP��?PR#NR�O#6�6�%4��1>��%?$R R�OO�N �'6�N� />�N�'O� R�Oค'N�?$#!12N!� 
P�$�O1�ค 6�/�2C�%16/6%Q/O�%��5�ค/6#�O1��6%�1�R�NR�N26$ 5��BR�?PN'?Q$� 
 

4.ั�@�/>�?"�?PN�?P"/�Oอ� 
4.1ั�@#�ล>�R�NR�Nอ>��#?"์ 

/�@P�&�5$ N2�6%61�%R O'4�?%05��>N N >P#�'6� (2562) R�O0@�16�6%2 6%/�%C�O���6%�'>� 

R�NR�N1>��%?$R�1�N�1�%�%%6$$N1$Q� AQ��?P�5�//5�1 6�6�N�%>�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R 
�%4�1�16�? N�1�%�%%#O'4� 6N�1�%�2#�26� (%O1$'4 100) 2N/�Q/�NN'?Q$�R�NR�N1>��?$R#6N�็�N/'6 

R#N�O1$�/N6 1 �? (%O1$'4 45.46) %1�'�#6 คA1 N'?Q$�#6 3-5 �? (%O1$'4 36.36)  5��BRR�NR�N�?PN'?Q$�N�็� 
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26$ 5��BR�6��6%คO6 P�$�AQ1R�N26/16$B�%4#6� 17-18 25��6/R (%O1$'4 100) #6N'?Q$� 16/6%�?PQ�ON�็�
16/6%�2#N1� Q/OR�N�>�/5�'4 1 /%A1 2 ค%5Q� O'4� 6N�>��6%�5��6%N'?Q$��6##6�%�6�!6%R#R�NR�N1>��%?$R 
10 �O1 �1��%#�0B2O�/R �'�'>�R�N�?PR�O� 6N�O�R/O�%>P"คQ�ค%5/N%A1�O'4� 6R�� 6/�N6$ �O6��ั�/6/'5� คA1 
#?�'6�%1�%5�O'416/6%1>��%?$R/6$6� #?%6ค6O � 

1B#6 % 2B/�4, ��>�6�6��R  $5ค�6, "6�B 5��BR �%4"6�>�B' O'4#��%? �ั��6�1� (2565) 
0@�16ค/6#ค>�N/O��1�N�1�%�%%6$$N1$�N1�6%�%5�N�'?P$�R�2CN�6%N'?Q$�R�NR�N1>��%?$RQ��5�//5�N�?$�Q/#N 
 �/N6 N�1�%�%%O1$'4 52.70 N�็�N 0�6$ 16$BN�'?P$ 53.43 �? �%42��6%�RQ��6%N'?Q$�R�NR�NN�'?P$ 2.82 �? 
%6$R�O�6��6%N'?Q$�R�NR�NN�'?P$ 2,099.26 �6��N1N�A1� คN6Q�O�N6$Q��6%N'?Q$�R�NR�NN�'?P$ 2 ,401.64 �6��N1
N�A1� R�O%5��O1#C'�N6/26%�O6��6%N'?Q$�R�NR�N1>��%?$RN�'?P$ 3.38 ค%5Q��N1N�A1� #?ค/6#ค>�N/O��N1�6%
�%5�N�'?P$�R�2CN�6%N'?Q$�R�NR�N1>��%?$RQ�"6 %/#%4�5�#6� �5Q��O6�P%�N%A1�O'4�6%N'?Q$��'N1$ �6%�5��6%
2B�"6 25�/R �6%�5��6%!6%R# �6%��2N� �6%�N625�/R O'4�6%�5��6%�1�N2?$ 16/6%25�/R �6%N�O�%5�16
O'4�6%�%%�B/?�/N1 2 6/%5��6%�%5�N�'?P$�%4���6%�'>�Q/ON�็�%4���6%�'>��0B25�/R1$CNQ�%4�5�#6� 
$�N/O�O/'N��?P#6�1�R�NR�NO'4�6%�5�N�O��5��@��O1#C'1$CNQ�%4�5��6��'6� 2 6/%5��ั��5$�?P#?ค/6#25# 5��BR
N�>��/��5�ค/6#ค>�N/O��N1�6%�%5�N�'?P$�R�2CN�6%N'?Q$�R�N1>��%?$R R�OO�N N 0 O'4คN6Q�O�N6$ (P<0.05) O'4
�6%R�O%5��O1#C'�N6/26%N�?P$/�5��6%N'?Q$�R�NR�N1>��%?$R (P<0.01) �5Q��?Q#?�O1N2�1O�4Q/ON�O6/�O6�?Pค/%#?�6%
N�O6R��>��6#/%A1Q/Oค/6#%CO1$N6�2#P 6N2#1 N�AP1��6�N�1�%�%�6�ค/6#%COQ��6%N'?Q$�R�NR�N1>��%?$R 

2B%N�1�R �>��> $R, � 6N O� N�?$///6� O'4"%�? �N6�/>/5��R (2556) R�O0@�16�6%N'?Q$�R�NR�N
O'4�6%�%>/6%�'BN#N�1�%�%�CON'?Q$�R�NR�N 1 6N"1�BN��O6� �5�//5��N6�  �/N6 2#6�>��'BN#N�1�%�%�CON'?Q$�  

R�NR�N 2N/�Q/�NN�็�N 0�6$ #?16$BN�'?P$ 48.33 �? ���6%0@�16%4�5��%4�#0@�16 #?2#6�>�Q�ค%5/N%A1�
N�'?P$ 3.67 ค� #?� 6�/� AQ��?P� 6�>�N�'?P$ 4.35 R%N �?P�>�2N/�Q/�N�4R#N#?N1�26%2>��>N ���6�/�O6�?PQ�
�B#��2N/�Q/�NN�็��%%#�6%/#CN�O6� #?%6$R�O�6��6%N'?Q$�R�NR�N 2N/�Q/�N�P 6�/N6 2 ,000 �6��N1N�A1� 
Q��N/� 2 �? �?P�N6�#6N�1�%�%2N/�Q/�NR�O%5��6%�@�1�%#�6%N'?Q$�R�NR�N #6O'O/ 2 ค%5Q� O%��6��?PQ�OQ��6%
N'?Q$�R�NR�NR�O�6�2#6�>�Q�ค%1�ค%5/N�็�/'5� O'4N�1�%�%#?/�?Q2>��6��6%�CO$A#N�>�'��B�N'?Q$�R�NR�N P�$
�CO$A#�6��1��B�/#CN�O6�/%A1�'BN#11#�%5 $R#6��?P2B� 2 6/%5�N/�B�'/'5��?PN�1�%�%�5�2>�Q� N'?Q$�R�NR�N 
คA1 ค>�/N6#?%6$R�O�? �6%Q/O16/6%  �/N6 2N/�Q/�NQ/O16/6%2 6N%O�%C� �6%�O1��5�O'4ค/�คB#P%ค2N/�Q/�N
� 6/5ค�?��O1��5�P%คN�็��6�ค%5Q� O/'N�� 6/�N6$R�NR�N#?�6%� 6/�N6$R�NR�NQ/OO�NN AP1��O6�Q�'ONค?$�#6��?P2B� 
2 6/%5��ั�/61B�2%%ค คA1 N�1�%�%�CON'?Q$�R�NR�N�6�ค/6#%COQ��6%N'?Q$�R�NR�N�?P�C��O1� O'4#BN� //5�Q�
�'�%4P$��R#6�N�>�R� 16/6%R�NR�N $6O'4N/�"5��R #?%6ค62C� � 6Q/O�O��B�Q��6%�'>��1�N�1�%�%
2C��@Q�O'4N�1�%�%$5�R#NN/O�ค/6#2 6ค5��1��6%%/#�'BN# R#NN�O6Q�Q����6�/�O6�?P�1���N1� N�1�%�%
�6�1 6�6�Q��6%�N1%1��5��%>15�Q/�NN N�AP1��6�%4���6%�'>��?PR#N2#�C%�R� 6Q/O�6%�'>�R#NN ?$� 1
O'4�6�%6$R#N#?คB�"6  �'BN#N�1�%�%�@�#?ค/6#�O1��6%Q/O/�N/$�6��5��6%�@�1�%#Q/Oค/6#%COO�N�'BN#
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N�1�%�%1$N6��N1N�AP1�  %O1#�5Q�2%O6��>�2 6�@�Q��6%%5��>��1��N1��N1� O'4�6%N2?$2'4Q/OO�N2#6�>�Q�
�'BN# %/#�@��6%�5�/6�N1��6��O6��6%�'6�N >P#N�># 

4.2ัหN/�P�NอB��@�2>�คO@N�1�# 
�%?/%%� �5��%Rค� ��"5� �N/$�C/�C O'4�%4 ��R #'>/5'$R (2564) R�O0@�16N%AP1� /N/�P�N

1B��6�R�N AQ�N#A1� �%�?0@�16�5�//5��ค%0%?�%%#%6� /5��B�%42�คRN AP10@�162"6 �6%�'>�O'4�6%�'6�
R�N AQ�N#A1�Q� AQ��?P�5�//5��ค%0%?�%%#%6� 0@�161�คR�%4�1��1�/N/�P�N1B��6� �6%� 6N�>��>��6%�1�
1�คR�%4�1�Q�/N/�P�N1B��6�R�N AQ�N#A1�Q� AQ��?P�5�//5��ค%0%?�%%#%6�O'4N2�1O�/�6��6%�%>/6%
�5��6%/N/�P�N1B��6�R�N AQ�N#A1�Q� AQ��?P�5�//5��ค%0%?�%%#%6� �'�6%/>�5$ �/N6N�1�%�%�>$#� 6/�N6$
Q/O N1คO6%/�%/#Q��O1��>P�#6��?P2B� �O6��CO�%>P"ค  �/N6�CO�%>P"คR�N AQ�N#A1�2N/�Q/�NQ/Oค/6#2 6ค5��5�
2N/��2#�6%�'6� P�$N� 64�ั��5$�O6��'>�"5��R �@P�2N��'�N1�6%�5�2>�Q��AQ1N�AQ1R�N AQ�N#A1�#6��?P2B� Q�
N%AP1��1�ค/6#2� O'4คB�คN6�6�P"��6�6%�1�N�AQ1R�N AQ�N#A1� %1�'�#6 คA1 �ั��5$�O6�%6ค6 %6ค6�?P
2#N/�B2#�' R#N2C���N�>�R� O'4�ั��5$�O6��N1��6��6%�5�� 6/�N6$ Q�N%AP1�2�6��?P�5�� 6/�N6$�?P24�/� 
Q�'O�O6� O'426#6%�/6�AQ1R�O�N6$ %/#�5Q��ั��5$�O6��6%2N�N2%>#�6%�'6�Q��%4N�O��1��6%�%>�6%�?P�? 
�6%#?2N/�'� O'4�6%P�1�6 �%4�625# 5��R�N6�2AP1�N6� N �6#' 6�5� 2N/�Pค%�2%O6��'6�R�N AQ�N#A1� 
N�็�'5�1�4�'6��CO�6$�O1$%6$ (pure oligopoly) คA1 Q��'6�#?� 6�/��CO�6$�O1$%6$ �?P#?2>�คO6N/#A1�
/%A1Q�'ONค?$��5��B��%4�6% �6%N�O62CN�'6��1��CO�6$%6$Q/#N� 6R�OคN1��O6�$6� O'41 6�6��6%� 6/��
%6ค6�@Q�1$CN�5� N1คO6%/�%/#O'4 N1คO6�6$2N� �O6��6%0@�16/N/�P�N1B��6�R�N AQ�N#A1�Q� AQ��?P�5�//5�
�ค%0%?�%%#%6� O2��Q/ON/O�/N6/N/�P�N1B��6�R�N AQ�N#A1�Q� AQ��?P�5�//5��ค%0%?�%%#%6� �%4�1��O/$ 
N�1�%�%�CON'?Q$�R�N AQ�N#A1�  N1คO6 %/�%/#R�N#?�?/>�  N1คO6�6$2N�/�6$�'?�R�N� 6O/'4 %O6�คO6/%A1
�CO�%4�1��6%%O6�16/6% O'4�CO�%>P"คค�2B��O6$ 

 �6%5� �%?�6�%�R O'4 2B"6/�? N/'N6&��>%5��R (2558) R�O0@�16N%AP1� O�/�6��6%O�OR�
�ั�/6ค/6#R%O2#�B'�1��'6�R�NR�N�N6�/N/�P�N1B��6� #?/5��B�%42�คRN AP10@�162"6 �ั�/6ค/6#R%O2#�B'
Q��'6�R�NR�N%4//N6��CO�'>���6��N6� N %/#�@�N�AP1�R�ค/6#R%O2#�B'Q��%�?�N6� N �N6�/N/�P�N1B��6��1�
1B�26/�%%#R�NR�N />Nค%64/R�ั�/6ค/6#R%O2#�B'Q��'6�R�NR�N"6$Q�O2�6��6%�R�?PN�>��@Q�O'4Q/O�O1N2�1
N�>��P$�6$Q��6%2%O6�2#�B'Q��'6�R�NR�N�?P21�ค'O1��5��ั�/6  �/N6 �ั�/6ค/6#R%O2#�B'�1��'6�R�NR�N
N�็��ั�/6N�>�Pค%�2%O6��?PN�>��6��6%� 6%�1$CN�1�1 6�6��C��6��'1�/N/�P�N1B��6�1B�26/�%%# � 6Q/O
�'R�%6ค6R#N26#6%�24�O1�2"6 �6%O�N��5�O#O�41>�1$CN�5�1B�2�คRO'41B��6��6%�'6� P�$
�%>15��CO�'>�%6$Q/�N� 6�/��O1$N�็��N6$2%O6�� 6R%R�O�6#2�6��6%�R�?PN�็�1$CNP�$Q�O�5Q�N�>�O'41 6�6�
N/�A1�'6��1���N1� Q���4�?PN�1�%�%%6$$N1$� 6�/�#6�N�็��CO%5�%6ค6�'6�O'4R%O1 6�6��N1%1� 

� 6Q/O/'6$%6$�O1�11��6��'6�R� ค/6# $6$6#Q��6%O�OR��ั�/6 ค/6#R%O2#�B'�1��'6�R�NR�N2N/�Q/�N
#5�Q�O�P$�6$�6��O6�1B��6� P�$�6%ค/�คB#�%>#6�O#NR�N$A��%� N AP1Q/O�%>#6�1B��6�R�NR�N#?ค/6#
21�ค'O1��5�1B�2�คRR�NR�N�1�%4��N0%1��>� �@P�R#NR�O�%42��'2 6N%O�N2#1R� 1?��5Q��'2 6N%O��?PN�>��@Q� 
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R#N#?ค/6#$5P�$A��%6�Q��?P1 6�6��C��6�$5�� 6%�1$CNQ�Pค%�2%O6�1B�26/�%%#R�NR�N �6%0@�16Q�ค%5Q��?QR�O
�O1N2�1O�4N�>��P$�6$R/O 5 �O6� R�OO�N 1) �6%�C%�6�6%/�N/$�6�Q��6%O�O�ั�/6ค/6#R%O2#�B'�1�
�'R'%6ค6Q��'6�R�NR�N 2) �6%O�O�ั�/6ค/6#R%ON2�?$%"6 �1�%6ค6R�NR�N �O/$O�/�6��N6� N 16�> �%5�
2#�B'1B�2�คR1B��6� 2%O6�%6ค6�'6�R�NR�N �%>/6%�5��6%�O6�1B��6�Q/Oค%1��5Q�/N/�P�N N�็��O� 3) �6%
�%5�1 6�6��N1%1�%4//N6��CO�AQ1O'4�CO�6$"6$Q�/N/�P�N1B��6� 4) �6%�%5����/����6�"6ค%5�Q��6%
O�OR��ั�/6Q�1B�26/�%%#R�NR�N O'4 5) �6%2%O6��1��B��%4�5�ค/6#R#N#?N2�?$%"6 �1�%6ค6R�NR�N  

Chopra, Laux, Schmidt, & Rajan. (2017) R�O0@�16N%AP1� �6%%5�%CO�5/�N��?Q�%42>��>"6 Q�
/N/�P�N1B��6�16/6%N�1�%: �%�?0@�16%4���6%�%4�6$2>�คO626�6%�4�1�1>�N�?$  �/N 6 ค/6# %O1#
�1�16/6%�?P#?คB�คN6�6�P"��6�6% ค/6#�'1�"5$ O'4%5��%4�5�/N6�B�ค%5/�4R�O%5�16/6%�'1�N/'6 
2N��'Q/Oค/6##5P�ค��6�16/6% ค/6# %O1#�1�16/6%Q�%6ค6�?PN/#642#$5�N�็��ั��5$2 6ค5� �ั��B�5��6/
1>�N�?$%5��6'� 6N�>��6%%4��� 6/�N6$26�6%�4 N AP1Q/ON�>�1B�/�B2>�คO6O�Nค%5/N%A1�/'6�/'6$ �CO#?2N/�R�O
2N/�N2?$�5Q�"6ค%5�O'4N1���#?2N/�%N/#Q��6%�5�/6 �5�N�O� O�%%C� O'4�5�� 6�N6$�%4�/��6%� 6�6� 
�6%#?2N/�%N/#�1��CO#?2N/�R�O2N/�N2?$� 6�/�#6� �@P�O�N'4ค�#?ค/6#2�Q��N6��5� ค/6#�5��O1�O'4$6�  

Q��6%%4�B�5/�N��?Q�%42>��>"6 �1�/N/�P�N1B��6� �'�6%/>�5$ �/N6 ค/6#25# 5��R%4//N6��CO#?2N/�R�O 
2N/�N2?$�?P#?2N/�%N/#Q�%4��� 6/�N6$26�6%�4O'4/>�?�6%N/'N6�?Q คA1 %4���6%�5�� 6/�N6$ �6%�5��6%
/N/�P�N1B��6��O6/Q� %5� Chhattisgarh �1��%4N�01>�N�?$ N AP1�%/�21����6�O'4ค/6#25# 5��R�1� 

�CO#?2N/�R�O2N/�N2?$ ' 6�5�O%� คA1 /N/�P�N1B��6��O6/�C��%5��%B�2%O6�#6�%�6�  
0>%>%5��R �%�/5��6/B�> (2561) R�O0@�16N%AP1� �6%/>Nค%64/R/N/�P�N1B��6�P%�2?�O6/1>��%?$R

��6�N'O��5�//5�N�?$�Q/#N P�$�5/O��� 6'1�1O6�1>��6%� 6N�>��6�/N/�P�N1B��6� /5��B�%42�คRN AP1
/>Nค%64/R�ั�/61B�2%%ค�%4�/��6%O'4�>��%%#/N/�P�N1B��6�P%�2?�O6/1>��%?$R P�$�6%�%4$B��RQ�O
O��� 6'1�1O6�1>�/N/�P�N1B��6�N AP1�%6��@�'5�1�4�6%� 6N�>��6�Q��ั��B�5� %/#�@�O�/�6��6%
�%5��%B��>��%%#�6%� 6N�>��6�/N/�P�N1B��6��1�P%�2?�O6/1>��%?$R �'�6%/>�5$ �/N6 �%4�/��6%/'5��?P
ค/%�%5��%B� R�OO�N �6%/6�O��/N/�P�N1B��6� (sP1) �6%�5��6%�6#ค 625P��AQ1 (sS2) �6%�5�2N��O6/N�'A1�
N AP1N�O� (sD1) O'4�6%�'>�N AP1%1� 6/�N6$ (sM1) 2N/��%4�/��6%2�5�2�B��?Pค/%�%5��%B� R�OO�N �6%
/6�O���%42>��>"6 ค'5�2>�คO6 (EP2) �6%�%4N#>��%42>��>"6 Q��6%�5�/6�O6/N�'A1� (ES2) �6%�5��6%
��2N��O6/N�'A1� (ES6) O'4�6%�%4N#>��%42>��>"6 Q��6%�5�/6%�O6/N�'A1� (ES2) �6%�5��6%��2N�
�O6/N�'A1� (ES6) O'4�6%�%4N#>�Q��6%�'>� (EM2) Q��6%0@�16�?QR�OO2���ั�/61B�2%%ค�%4�/��6%
O'4�>��%%#/N/�P�N1B��6��1�P%�2?�O6/1>��%?$R2 6/%5�O�4� 6P%�2?��6�N'O�O'4N�1�%�%�%5��%B��6%
� 6N�>��6%/N/�P�N1B��6�Q/O#?�%42>��>"6 #6��@Q� '��O��B�O'4N >P#%6$R�O  

�%�คR 1�B 5��R 05��>N�6 1N6�/5���>� O'42B"'5ค�R /�0RR 06''5�1�R (2561) R�O0@�16N%AP1� 
�6%2%O6��O�O��/N/�P�N16/6%�1��'BN#/>26/�>��B#���%4#� AQ��O6�N�1�%1>��%?$R2CN�6%N�AP1#P$��B %�>�
�6%�N1�N�?P$/�B#�� (�'6��N1�N�?P$/�B#�� P%�O%#%?21%R�P2#N2�$R) Q��6%2%O6�#C'คN6N >P#N�>� 6�>�$R��
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N0%1��>��6�%6��?P#5P�ค��5�//5��5���B%?O'4�5�//5��%6� #?/5��B�%42�คR�?P� 6�6%0@�16 คA1 1) N AP10@�16
�%4�/��6%�5��6%/N/�P�N16/6%�1��'BN#/>26/�>� �B#���%4#� AQ��O6� �'BN#/>26/�>�N�1�%1>��%?$R 
�'6��N1�N�?P$/�B#�� P%�O%# %?21%R� P2#2N�$R 2CN�6%N�AP1#P$��B%�>��6%�N1�N�?P$/�B#��Q��6%2%O6�
#C'คN6N >P#N�>� 6�>�$R��N0%1��>��6�%6��?P#5P�ค��5�//5��5���B%?O'4�5�//5��%6� 2) N AP1 5��61�คR
ค/6#%CO�O6��/5��%%#16/6% �6%O�%%C� �6%��1#16/6% �6%'��6%2C�N2?$ 2%O6�/5���%%#�O1��>P��O6�
�B%�>��N1�N�?P$/�B#�� N AP1$�%4�5�N�็�O/'N��6%�N1�N�?P$/O'416/6%�1��'BN#/>26/�>��B#���5�//5�
�5���B%?O'4�5�//5��%6� 3) N AP10@�16ค/6# @� 1Q� คB�"6  %6ค6 �6%�5�2N� �6%�%>�6% �1��CO#6N�?P$/ 
(�CO�%>P"ค16/6%) Q��B#���?P#?�N1�6%R�O�%>P"ค16/6%N AP12B�"6 �6��CO�%4�1��6%�B%�>��N1�N�?P$/�B#�� 
(�'6��N1�N�?P$/�B#�� P%�O%# %?21%R� P2#2N�$R) O'4 4) N AP12%O6��O�O��/N/�P�N16/6%�1��'BN#/>26/�>�
�B#�� �%4#� AQ� N�1�%1>��%?$R 2CN�6%N�AP1#P$��B%�>��6%�N1�N�?P$/�B#�� (�'6��N1�N�?P$/ �B#�� P%�O%# 
%?21%R� P2#2N�$R) Q��6%2%O6�#C'คN6N >P#N�>� 6�>�$R��N0%1��>��6�%6��?P#5P�ค� N2%>#2%O6�ค/6#N�O#O�O� 
$�%4�5��6%�'>� 2%O6�#C'คN6N >P# N >P#�?�ค/6#26#6%�2CN26�'�5�//5��5���B%?O'4�5�//5��%6� �'
�6%0@�16 �/N6  

 1) �%4�/��6%�5��6%/N/�P�N16/6%�1��'BN#/>26/�>��B#���%4#� AQ��O6� N�1�%
1>��%?$R �'6��N1�N�?P$/�B#�� P%�O%# %?21%R� P2#2N�$R 2CN�6%N�AP1#P$��B%�>��6%�N1�N�?P$/�B#�� Q��6%
2%O6�#C'คN6N >P#N�>� 6�>�$R��N0%1��>��6�%6��?P#5P�ค��5�//5��5���B%?O'4�5�//5��%6�  �/N6 �'BN#
/>26/�>��%4#� AQ��O6�#?�6%�5��6%/N/�P�N1B��6� � 6Q/ON�>�/N/�P�N16/6%�?P#?คB�คN6�6��6%�5�25�/R�Q 6�6�
O/'N��4N'Q��B#���?P#?คB�"6 2� 2416� O�N#?�%>#6�R#NO�N�1�Q�O�Nค%5Q� O'O/R�O� 6�6%2N�� 6/�N6$
Q/O�5��B%�>��6%�N1�N�?P$/�B#��N�็��6%2%O6�#C'คN6N >P#Q/O�5�ค%1�ค%5/O'4N�็�16�? �?P#5P�ค�26#6%�N'?Q$�
ค%1�ค%5/R�O �'BN#/>26/�>�O�%%C��'>�"5��R�%4#� AQ��O6�#?�6%�5��6%/N/�P�N1B��6�Q��6%%5��AQ116/6%
�4N'2��6��6/�%4#�Q� AQ��?P�?P1$CNQ��B#��O'O/� 6#6��1#16/6% O�%%C�2>�คO6�?P#?'5�1�4N�็�
N1�'5�1�R�1��'BN# #?�6%� 6�%%�B"5��R2%O6��%62>�คO6�1��'BN#N1� � 6R�� 6/�N6$Q/O�5��5��N1�N�?P$/N�็�
/'5�O'42N��6$�N1Q/O�5��B%�>�P2#2N�$RO'4%?21%R� �'BN#/>26/�>��B#��N�1�%1>��%?$R#?�6%�5��6%/N/�P�N
1B��6�Q��6%N%>P#�O��'>�2>�คO6�%4N"��'R#O �5� O'4 R�NR�N16%#�R�? �?P#?คB�"6  �'1�"5$R%O26%Nค#? #?
�6%� 6�6%O�%%C��O1$ �6%� 6/�N6$�6$Q/ONค%A1�N6$�'6�2B�"6 N�็�/'5� �5Q�26#�'BN##?05�$"6 �6�
N�ค�>คQ��6%N >P##C'คN626#6%�� 6R�OQ�%4�5��?�/N6 O�NN#AP1� 6�6%N�%?$�N�?$��O6#�'BN#�CO�'>�/�COคO6Q�/N/�
P�N1B��6��'BN#/>26/�>�$5�Q�O/>�?�6%�5��6%1$CNQ�O���5Q�N�>#  

 2) �6% 5��61�คRค/6#%CO�O6��/5��%%#16/6% �6%O�%%C� �6%��1#16/6% �6%'��6%
2C�N2?$ 2%O6�/5���%%#�O1��>P��O6��B%�>��N1�N�?P$/�B#�� N AP1$�%4�5�N�็�O/'N��6%�N1�N�?P$/O'416/6%
�1��'BN#/>26/�>��B#���5�//5��5���B%?O'4�5�//5��%6�  �/N6 N�O6�1��>��6%P2#2N�$RR�ON�O6#6#?2N/�%N/#
Q��6%�6% 5��61�คRค/6#%CO�O6��/5��%%#16/6%Q�Pค%��6%/>�5$O'O/R�O� 6ค/6#%CO�6��6%N�O6%N/#Pค%��6%
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R�� 6�6%O�%%C� �6%��1#16/6% �6%�%B�16/6% �6%'��6%2C�N2?$ 2%O6�#C'คN6N >P#Q/O�5��B%�>��>��6%
P2#2N�$R�1���N1� O'4� 6R�2CN�6%N�>�/5���%%#16/6%�4N'�%4#� AQ��O6�N�>�N�AP1#P$��5��B%�>��B#��  

 3) ค/6# @� 1Q��1��CO�%>P"ค16/6%�4N'�?P#?�N1�O6�คB�"6  %6ค6 �6%�5�2N� �6%�%>�6% 
�1��CO#6N�?P$/ (�CO�%>P"ค16/6%) Q��B#���?P#?�N1�6%R�O�%>P"ค16/6%N AP12B�"6 �6��CO�%4�1��6%�B%�>�
�N1�N�?P$/�B#�� (�'6��N1�N�?P$/�B#�� P%�O%# %?21%R� P2#2N�$R)  �/N6  &�>�%%#ค/6#�O1��6%� 6%
�%>P"ค6/6%�4N' �6%#6�N1�N�?P$/O'4�6%�AQ1N AP1�6%�%>P"ค16/6%�4N'2N/�Q/�N O/'N��AQ116/6%�4N'
�N1$�?P2B�คA1P2#2N�$R %5��%4�6�16/6%Q�%O6� #C'คN6�6%�%>P"ค16/6%�4N'#?#C'คN6 1,000 – 3,000 

�6� #?ค/6# @� 1Q��?P#?�N1คB�"6 16/6% �4N'2� O'4%6ค6N/#642#�5�คB�"6 2>�คO6 Q�%4�5�#6�
�?P2B� �6��6%�?PN�O6#6�N1�N�?P$/O'4�%>P"ค16/6%Q��B#�� 

�5�$�% �>�"  0>%>'5�1�R N#�25��R O'4 �5���6 �5��%R�%%�� (2561) R�O0@�16N%AP1� �6%
�5��6%/N/�P�N1B��6�P�$/>26/�>��B#���'>��O6/1>��%?$RQ�N��"6ค�'6��1��%4N�0R�$ /5��B�%42�คR คA1  
1) N AP12 6%/�2"6 O'4�ั�/6�1��6%�5��6%/N/�P�N1B��6�Q�/>26/�>��B#���'>��O6/1>��%?$RQ�N��"6ค
�'6� P�$ >�6%�6�6��%4�/��6%�5��6%O��  SCOR Model  2) N AP10@�16ค/6#25# 5��R�1�
�%4�/��6%�5��6%/N/�P�N1B��6��5�"C#>�ั��6�O1��>P� Q�/>26/�>��B#���'>��O6/1>��%?$RQ�N��"6ค�'6�
�?P�%42�ค/6#2 6N%O� 3) N AP1N2�1O�/�6��6%�5��6%/N/�P�N1B��6��1��'BN#/>26/�>��B#���'>��O6/
1>��%?$RQ�N��"6ค�'6� P�$�C%�6�6%�5�"C#>�ั��6�O1��>P�O'4�%5��6�1�N0%1��>� 1N ?$� �'�6%/>�5$
 �/N6 O�/�6��6%�5��6%/N/�P�N1B��6��1��'BN#/>26/�>��B#���'>��O6/1>��%?$RN AP1Q/O26#6%�� 6N�>�
�>��6%�O6��6%N�1�%R�O1$N6�N�O#O�O�O'4 @P� 6��N1�R�O"6$Q�O AQ��6��1�"C#>�ั��6�O1��>P�O'4�6%� 6
/'5��%5��6N0%1��>� 1N ?$�#6Q�OQ��6%� 6N�>��?/>�O'O/ �CO/>�5$R�O0@�16 �1�คR�%4�1��?PN�็��ั��5$
2N�N2%>#ค/6#2 6N%O�Q��6%�5��6%/N/�P�N1B��6��1��6%�'>��O6/1>��%?$R R�OO�N �'BN#�ั��5$ 6 �'BN# คA1  

1) �'BN#�ั��5$ 8S R�OO�N Story, System, Skill, Staff, Situation, Standard, Satisfaction O'4Sustainable  

2) �'BN#�ั��5$ 5P R�OO�N Product, Packaging, Perception, Publicize O'4 Policy 3) �'BN#�ั��5$ 3C R�OO�N 
Customer, Creditable O'4 Culture 4) �'BN#�ั��5$ 1 N R�OO�N Network 5) �'BN#�ั��5$ 1 B R�OO�N Brand  

6) �'BN#�ั��5$ 1 M R�OO�N Management 

#��>%6  %#�? O'4ค�4 (2565) �6%0@�16O��� 6'1�1O6�1>��6%� 6N�>��6�/N/�P�N1B��6� 
(SCOR Model) �%�?0@�16: �CO�%4�1��6%�B%�>�!6%R#�>Q�/%?� �B#���O6�O2��1 � 6�'�5/Q/�N 1 6N"1�Q 6
 1� �5�//5��1�O�N� #?/5��B�%42�คRN AP1�5�� 6 SCOR Model 2 6/%5��6%� 6/��Pค%�%N6�/N/�P�N1B��6� 
�%4�1�R��O/$ �6%/6�O�� �6%�5�/6 �6%�'>� �6%�5�2N� O'4�6%2N�คA� N AP12%O6�O��� 6'1��6%1O6�1>�
�6%� 6N�>��6�/N/�P�N1B��6� O'4� 6R�/>Nค%64/R%N/#�5��5/�?Q/5� 5 �O6� �%4�1�R��O/$ ค/6#�N6N�AP1�A1 
�6%�1�2�1� ค/6#$A�/$BN��O��B� O'4�%42>��>"6 �6%�5��6%2>��%5 $R N AP1N >P#�%42>��>"6 �6%
�%>/6%�5��6%N 64N'?Q$��>Q�/%?� O'4N AP1'��O��B�O'4'��6%2C�N2?$�?P16��4N�>��@Q�Q�/N/�P�N1B��6� 
 �/N6 �O6��6%/6�O���CO�%4�1��6%!6%R#�>Q�/%?� R#N#?�6%/6�O���6%N 64N'?Q$� Q��O6��6%�5�/6
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�CO�%4�1��6%!6%R#�>Q�/%?� #?�6%�5�/6�?P%/�N%O/N�AP1��6�N�็�%O6�คO6"6$Q��B#�� Q��O6��6%�'>�
�CO�%4�1��6%!6%R#�>Q�/%?� R#N#?ค/6#�N6N�AP1�A1 N�AP1��6�N�็��6%�'>�N AP1%1ค 625P��AQ1 Q��O6��6%2N�#1�
�CO�%4�1��6%!6%R#�>Q�/%?� #?ค/6#�N6N�AP1�A1 O�N�6%�1�2�1�$5�1$CNQ�%4�5��N1 2N/�Q��O6��6%2N�คA�R#N#?
�6%2N�คA� N�AP1��6�Q��6%�AQ1�6$Q�ON���RคB�"6 N�็�/'5�Q��6%ค5�N'A1� 2N��'Q/O2>�คO6#?คB�"6 2C� 

P��>ค�>� �5��5$�'6� (2563) �6%�%4$B��RQ�OO��� 6'1� SCOR Model N AP1�6%�5��6% 

/N/�P�N1B��6��1��B%�>� SMEs �CO�'>�Q�1B�26/�%%#15�#�?O'4Nค%AP1��%4�5�Q�"6คN/�A1 /5��B�%42�คR
N AP10@�16�6%�5��6%/N/�P�N1B��6��1�/>26/�>���6��'6�O'4��6�$N1# Q�1B�26/�%%#15�#�?O'4
Nค%AP1��%4�5�N�AP1��6�15�#�?N�็��'BN#2>�คO62N�11��?P2 6ค5��1��%4N�0 O'4N AP1N >P#�%42>��>"6 Q��6%
� 6�6��1�1B�26/�%%#Q/O�?$>P��@Q�  �/N6 �CO�%4�1��6%#?�'�6%� 6N�>��6��?PR#N�?#6��5� O'4R#N#?�6%
'��B�Q��?P�>�16ค6%O'41B��%�RN >P#Q��N/��? 2558-2560 1?��5Q�$5��%42��ั�/6Q��O6�2"6 ค'N1�O'4
�6%N�O6�@�O/'N�N�>��B� �5Q��?Q $5��%42��5��ั�/6�?P�O1�%?�O�OR�Q�/'6$ N �O6� �>��%%#�O��Q 6 N%AP1�
/5��B�>��?P�O1�� 6N�O6�6��N6��%4N�0 �>��%%#�'6��Q 6 คA1 �6%�6�Oค'��5�14 O'4คB�"6 �1��?#A1
O%��6��?P���1$ �6%N�O6�@��6%Q�ON�คP�P'$?Q��6%�'>�N AP1'��O��B�O'4ค/6#2C�N2?$%4//N6�
�%4�/��6%�'>� �'1����>��%%#�'6$�Q 6 คA1 �6��5�14�6%11�O��O'4�6%�'6� �6��6%/>Nค%64/R 
SCOR model  �/N6 9 '5�1�4�1��6%� 6N�>��6��1�/N/�P�N1B��6�P�$2N/�Q/�N�5�1$CNQ�N���R%4�5��?P
�? 2%B�R�O/N6 �6%Q�O�6%� 6N�>��6�/N/�P�N1B��6��1��B%�>� SMEs �CO�'>�Q�1B�26/�%%#15�#�?O'4
Nค%AP1��%4�5�Q�"6คN/�A1 #?ค/6#26#6%�Q��6%N >P#�%42>��>"6 Q��O6��6%�'>�R�O�?$>P��@Q� �@P�26#6%�
N2�1O�/�6�O��� 6'1� SCOR Model R�ON�็� 5 O�/�6� R�OO�N 1) O�/�6��6%O��/N/�P�N1B��6�  
2) O�/�6�'��O��B�/5��B�>� 3) O�/�6��6% 5��6�6%�'>� 4) O�/�6�Q��O6��6%2N�#1�2>�คO6 O'4  
5) O�/�6�Q��6%2N�คA�2>�คO6 

��#R�5��6 �5�/6�0B" 5��R (2562) �6%/>Nค%64/RO'4�%4N#>�1�คR�%4�1��6%�5��6%/N/�P�N
1B��6��1��CO�%4�1��6%�B%�>�!6%R#�>Q�/%?�: �%�?0@�16�5�//5�2B%>��%R #?/5��B�%42�คRN AP1/>Nค%64/RO'4
�%4N#>�1�คR�%4�1��6%�5��6%/N/�P�N1B��6��1��CO�%4�1��6%�B%�>�!6%R#�>Q�/%?��%�?0@�16�5�//5�
2B%>��%R P�$Q�OO�/ค>��5/O��1O6�1>��6%� 6N�>��6�/N/�P�N1B��6�  �/N6 �CO�%4�1��6%�B%�>�!6%R#�>Q�/%?�
#?�6%� 6/�N6$�'�'>�O��N�O��6%�6$�'?�O'4N�O��6%�6$2N� %C�O���6%� 6N�>��6�#?�5Q�!6%R#�?P�'>�
1$N6�N�?$/ O'4!6%R#�?P�'>�O'4%/�%/#�'�'>� '5�1�4�6%� 6N�>��6�#?�5Q��?PN�็�!6%R#N�?P$/ !6%R#N�?P$/
O'4#?'C�!6%R# !6%R#Nค%A1�N6$�?P#?'C�!6%R#� 6�/�#6� !6%R#�?PN�็�/>26/�>��B#�� O'4!6%R#�?PN�็�  

'C�!6%R# �CO�%4�1��6%�B��%4N"�#?�6%�5��6%�>��%%#/'5��6#1�คR�%4�1�Q�/N/�P�N1B��6��6# 

�5/O��1O6�1>��6%� 6N�>��6�P�N1�B�6� R�OO�N �6%/6�O�� �6%�5�/6/5��B�>� �6%�'>� �6%�5�2N�O'4 

2N�#1��'�'>� O'4�6%2N�คA��'�'>� N#AP1�%4N#>�O�N'41�คR�%4�1��1��6%�5��6%/N/�P�N1B��6�  �/N6 
�CO�%4�1��6%!6%R#�6$�'?��O1��%5��%B�ค/6#�N6N�AP1�A1 ค/6#$A�/$BN� O'4�O��B� Q�N%AP1��6%  
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/6�O���6%�'>� �6%�5�/6/5��B�>� �6%�'>� O'4�6%2N�#1� 2N/��CO�%4�1��6%!6%R#�6$2N�ค/%�%5��%B�
Q�N%AP1��O��B��6%�5�/6/5��B�>� �6%�'>� �6%�5�2N�O'42N�#1��'�'>� 

/>"6/? �&1�4"C�> O'42#Q� 0%?/'O6 (2563) R�O0@�16/>�5$ N%AP1� /N/�P�N1B��6��6%N'?Q$�
�>Q�/%?�N�>� 6�>�$R�1�N�1�%�%Q��5�//5��1�O�N�  �/N6 1) �O��Q 6�1�/N/�P�N1B��6��%4�1��O/$ �6%
2%O6�P%�N%A1�P�$Q�ON26�C�/%A1R#O$Cค6'>��52 #B�/'5�ค6�O/$25��42?  O'4�N11>�P�$%1�2C��%4#6� 60 
N���>N#�% �6%N'A1�Q�O/52�B1B��%�R�%4N"��N1N'?Q$��5��Q 6 '62�>� �6�Q2N�Q 6O'416/6% �O6�6�N6$�%1�
O2�O'4O��R�N�%4�61 �6%N'A1�26$ 5��BRP�$N'A1��>Q�/%?��O6��>Q�/%?� 5��BR�1�� 6O'4�>Q�/%?� 5��BR
�1�O��) �6%N'?Q$�O'4�CO'P�$�@Q�1$CN�5�/��%�?/>��1��>Q�/%?� �'1����6%N�O�N�?P$/P�$Nค64O��R�N  
�%4�61Q/O�>Q�/%?�%N/�/'N�'��4'4#5�O'4�O1��5��6��N1 2) �'6��Q 6�1�/N/�P�N1B��6�N�?P$/�O1��5��6%
� 6/�N6$O'4�6%��2N��>Q�/%?��O/$�6%�?PN�1�%�%�5�/#6$ N1คO6ค��'6�Q/ON�>��6�N�O6#6%5��AQ1�>Q�/%?�Q�
/#CN�O6�N#AP1�@�%4$4P�N�O#/5$  N1คO6ค��'6��4N�็��CO� 6/��%6ค6�AQ1O'4�6$�>Q�/%?�P�$ >�6%�6�6�26$
 5��BRO'4&�C�6' 3) �'6$�Q 6�1�/N/�P�N1B��6� �/N6 �CO�%>P"ค%6$$N1$#?/'6$�'BN#�O/$�5� R�OO�N 'C�คO6
/%A1�CO�%>P"ค�6� AQ��?P�N6�N �5Q�Q� AQ��?PO'4�N6��5�//5�Q�"6ค�4/5�11�N�?$�N/�A1 N�1�%�%N'?Q$��>Q�/%?�
Q��%>#6��?PR#N#6��5� �CON�>��6�#60@�16�C�6� O'4�5��N1�N�?P$/�@P�Q��%>#6�R#N#6��5� �AQ1R��%>P"ค/%A1
N�็�N/$AP12 6/%5����'6 N�1�%�%N�็��CO� 6/��%6ค6�6$�'?��N6��6%�%4�B#/#CN�O6� 
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���?Pั3 

/>�?� @N�>��@#/>�?" 
 

�6%/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ #?/>�?� 6N�>��6%/>�5$P�$� 6/��
%C�O���6%/>�5$ />�?�6%/>�5$ �%4�6�%O'4�'BN#�5/1$N6� Nค%AP1�#A1�6%/>�5$ O'4�6%/>Nค%64/R�O1#C' �5��?Q 
 

1. �#>�@�#Oล>�ลBN!�?/อ"N@� 
1.1 �#>�@�# 

�%4�6�%�?PQ�OQ��6%0@�16/>�5$ค%5Q��?Q คA1 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?PR�O%5��6%%5�%1�%4���6%
�'>�R�NR�NO'4R�NR�N1>��%?$R�6��%#�0B25�/RQ��?  .0. 2565 � 6�/� 123 %6$ (2 6�5� 5��6%4��O'4%5�%1�
#6�%�6�2>�คO6�0B25�/R �%#�0B25�/R, 2565) N�O6/�O6�?P�0B25�/RQ��O1��?P O'4�CO�?PN�?P$/�O1� 

1.2 �ลBN!�?/อ"N@� 
�'BN#�5/1$N6��?P� 6�6%0@�16/>�5$Q�ค%5Q��?Q R�OO�N N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?PR�O%5��6%%5�%1�

%4���6%�'>�R�NR�NO'4R�NR�N1>��%?$R�6��%#�0B25�/RQ��?  .0. 2565 � 6�/� 61 %6$ N'A1��5/1$N6�O��N�64��
�6�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?PR�O%5��6%%5�%1�%4���6%�'>�Q��5�//5��ค%��# 2B %%��B%? �4N�>�N�%6 
N�?$�Q/#N O'4N�?$�%6$  

�6%25##�6O��#?2N/�%N/# �COQ/O�O1#C' R�OO�N N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?PR�O%5��6%%5�%1�%4��
�6%�'>�R�NR�NO'4R�NR�N1>��%?$R�6��%#�0B25�/RQ��?  .0. 2565 N�O6/�O6�?P�0B25�/RQ��O1��?P O'4�CO�?PN�?P$/�O1� 
� 6�/� 10 %6$ N'A1��5/1$N6�O��N�64��  

 

2. Nค#APอ�!Aอ�?PQ�OQ��@#/>�?" 

Nค%AP1�#A1�?PQ�OQ��6%/>�5$ค%5Q��?Q �%4�1��O/$ O��21��6#2 6/%5�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  
2.1 �?Q��อ��@#2#O@�Nค#APอ�!Aอ 

Nค%AP1�#A1�?PQ�OQ��6%/>�5$�?Q R�OO�N O��21��6# P�$#?�5Q��1�Q��6%2%O6�Nค%AP1�#A1 �5��?Q 
2.1.1 0@�16O�/ค>� �&1�? O'4N1�26%�6�/>�5$�?PN�?P$/�O1��5�2>�คO6N�1�%1>��%?$RN AP1

� 6/���1�N��Q��6%2%O6�O��21��6#Q/Oค%1�ค'B#�6#/5��B�%42�คR�1��6%/>�5$ 

2.1.2 0@�16/>�?�6%2%O6�O��21��6#�6�/�5�2A1O'4N1�26%�?PN�?P$/�O1� N AP1� 6/��
�1�N��O'4N�AQ1/6Q/O#?ค/6#�5�N���6#/5��B�%42�คR�1��6%/>�5$ 

2.1.3 � 6N�>��6%2%O6�O��21��6#Q/O21�ค'O1��5�/5��B�%42�คR�1��6%/>�5$ O'4� 6
O��21��6#�?P2%O6��@Q�R��%@�16�?P�%@�16 O'O/�%5��%B�O�OR��6#ค 6O�4� 6 

2.1.4 � 6O��21��6#�?PR�O�6��6%�%/�21�#6� 6�6%�%5��%B�O�OR�Q/O2#�C%�R 
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2.2 Nค#APอ�!Aอ�?PQ�OQ��@#/>�?" 

�6%/>�5$ค%5Q��?QQ�OO��21��6#N�็�Nค%AP1�#A1Q��6%N�O�%/�%/#�O1#C'ัP�$O�N�O��21��6#
11�N�็� 4 �1� �5��?Q 

�1��?P 1 �O1#C'�5P/R��1�N�1�%�% N�็�ค 6�6#O��N'A1��1� O'4N�>#ค 6Q��N1�/N6� R�OO�N N 0 
16$B %4�5��6%0@�16 � 6�/�2#6�>�Q�ค%5/N%A1� � 6�/�O%��6�  16�? /'5� 16�? %1�  AQ��?P�A1ค%1� 
%6$R�O O/'N�N�>��B� O/'N�N�>��CO O/'N�O'4�%4N�O�ค/6#%CON�?P$/�5��6%�5��6%N'?Q$�R�NR�N1>��%?$R 

�1��?P 2 �O1#C'N�?P$/�5��6%N'?Q$�R�NR�N1>��%?$R 
�1��?P 3 �6%��>�5�>�6##6�%�6��0B25�/R1>��%?$R P�$N�็�O��21��6#��>�ค 6�6#�'6$�>� 

(close-ended question) N�็��6%/5�O�� likert scale #? 5 %4�5� (�B��# 0%?2416�, 2545) P�$Q/O
ค4O��%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RR�OO�N #6��?P2B� #6� �6��'6� �O1$ O'4�O1$�?P2B� 
Q�ON���R�%4N#>��5��?Q 

#6��?P2B� #?คN6N�N6�5�  5 

#6�  #?คN6N�N6�5�  4 

�6��'6� #?คN6N�N6�5�  3 

�O1$  #?คN6N�N6�5�  2 

�O1$�?P2B� #?คN6N�N6�5�  1 

�1��?P  4 �ั�/6O'4�O1N2�1O�4Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% 
O��21��6#N�?P$/�5��ั�/6Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% N�็�O��21��6#��>�
ค 6�6#�'6$�>� (close-ended question) N�็��6%/5�O�� likert scale #? 5 %4�5� (�B��# 0%?2416�, 
2545) P�$Q/Oค4O��%4�5��ั�/6 R�OO�N #6��?P2B� #6� �6��'6� �O1$ O'4�O1$�?P2B� Q�ON���R�%4N#>��5��?Q 

#6��?P2B�  #?คN6N�N6�5�  5 

#6�   #?คN6N�N6�5�  4 

�6��'6�  #?คN6N�N6�5�  3 

�O1$   #?คN6N�N6�5�  2 

�O1$�?P2B�  #?คN6N�N6�5�  1 

O��21��6#N�?P$/�5��O1N2�1O�4Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�%
N�็�O��21��6#��>�ค 6�6#�'6$N�>� 
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2.3 �@#�#/�2อ�คB� @��อ�Nค#APอ�!Aอ 

2.3.1 �@#�#/�2อ�ค/@!�C��Oอ��อ�N�AQ อห@ั (content validity) ั P�$�CO /> �5$� 6
O��21��6##6�%/�21�ค/6#�C��O1��1�N�AQ1/6 �6��5Q�� 6N2�1Q/O�5��CO�%�คB�/B�>� 6�/� 3 �N6� 
�%/�21�O'4Q/O�O1N2�1O�4N�?P$/�5��%4N�O�N >P#N�>#/%A1O�OR�N AP1Q/OO��21��6##?ค/6#�C��O1�
2#�C%�RO'4N�?P$��%��6#N�AQ1/6 � 6N�>��6%O�OR��6#�O1N2�1O�4�1��CO�%�คB�/B�> 

2.3.2 �@#�#/�2อ�ค/@!N�APอ!?P�ั(reliability)ั�N1��6%N�O�%/�%/#�O1#C' � 6�6%��21�
Nค%AP1�#A1 (pre-test) P�$� 6O��21��6#�?P�N6��6%�%/�21�O'4� 6N�>��6%O�OR��6#ค 6O�4� 6�1�
�CO�%�คB�/B�>R���21� P�$�6%25#"61�RN�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?PR#NQ�N�'BN#�5/1$N6��?PQ�O0@�16 � 6�/� 
10 %6$ N AP1 >�6%�6ค/6#$6��N6$ ค/6#N/#642#�1�"616O'4�O1N2�1O�4N >P#N�>#�6��COQ/O25#"61�R N AP1
ค/6#2#�C%�R�1�O��21��6#O'4�O1#C'�?P�O1��6% �6��5Q�� 6O��21��6#�1��?P 3 O'4�1��?P 4 � 6R�
ค 6�/�/6คN6ค/6#N�AP1#5P� (Reliability) �O/$/>�?/>Nค%64/R คN625#�%42>��>NO1'!N6�1�ค%1��6ค (Cronbach’s 
Coefficient of Alpha) (�B�N%?$� ��%0>'�P, 2548) R�OคN6ค/6#N�AP1#5P��1�O�N'4�1�N�N6�5� 0.989 O'4 
0.935 �6#' 6�5� �6��5Q�� 6�6%�%5��%B�O�OR�O��21��6#Q/ON�็���5�2#�C%�R O'O/� 6R�N�O�%/�%/#
�O1#C'�6��'BN#�5/1$N6� 

2.4 �@#�?�2?!!�@O��!?2N/�#N/! �5Q�Q�'5�1�4�'BN#$N1$Q� AQ��?PO'425##�6%/# N AP1N AP1
0@�162"6 �ั�/6 �ั��5$O'4N�AP1�R� �'1���O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N
1B��6� P�$Q�OO���5��@��O1#C' O'4Nค%AP1��5��@�N2?$� 

 

3. �@#N�O�#/�#/!�Oอ!Cล 

�6%/>�5$ค%5Q��?QN�็��6%/>�5$N�>�2 6%/� N AP1%/�%/#�O1#C'N�?P$/�5��6%�5��6%Q��6%N'?Q$�R�NR�N
1>��%?$R O'4�6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R�5Q�O�N�O��Q 6 �'6��Q 6 O'4�'6$�Q 6  N AP1Q/OR�O
�O1#C'�?P�%��6#/5��B�%42�คR�1��6�/>�5$ �@P�R�O�O1#C'�6�O/'N��N6� N �5��?Q 

3.1 �Oอ!Cล��! C!>ัN�O�%/�%/#�O1#C'P�$Q�OO��21��6#�?P�CO/>�5$2%O6��@Q��6��'BN#�5/1$N6��?P
� 6/��R/O � 6#621��6#�'BN#�5/1$N6� 

3.2 �Oอ!Cล�B�>" C!>ัN�็��6%N�O�%/�%/#�O1#C'26%2�N�0�6�N1�26% /6%26% ��ค/6#�6�
/>�6�6% />�$6�> ��R �6�/>�5$�?PN�?P$/�O1��6�/�N/$�6��N6� N �1�%5�O'4N1��� O'4�6�N/O�R��R N AP1Q�O
N�็��O1#C'Q��6%0@�16/>�5$ 

3.3 �@#�?�2?!!�@O��!?2N/�#N/! �5Q�Q�'5�1�4�'BN#$N1$Q� AQ��?PO'425##�6%/# N AP10@�16
2"6 �ั�/6 �ั��5$O'4N�AP1�R� �'1���O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N1B��6� 
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4. �@#/>Nค#@>ห์�Oอ!Cล 

4.1 2�>�>�?PQ�OQ��@#/>Nค#@>ห์�Oอ!Cล 

4.1.1ั�Oอ!CลN�>�คB� @� />Nค%64/R�O1#C'P�$�6%�5�/#/�/#CN�O1#C' O'4�6%/>Nค%64/RN�AQ1/6  
4.1.2ั�Oอ!CลN�>��#>!@�ั/>Nค%64/R�O1#C'P�$Q�O2�>�>N�>� %%��6 R�OO�N �6%/6คN6ค/6#�?P  

คN6%O1$'4 คN6�P 62B� คN62C�2B� คN6N�'?P$ O'42N/�N�?P$�N��#6�%�6�  
4.2 �@#/>Nค#@>ห์�Oอ!Cล�@#/>�?" 

4.2.1ั�Oอ!Cล�@�O��2อ��@! 

�CO/>�5$� 6�O1#C'�?PN�O�%/�%/#R�O#6/>Nค%64/R P�$#?%6$'4N1?$�2�>�>�?PQ�OQ��6%/>Nค%64/R�O1#C' 
�5��?Q 

�1��?P 1 �O1#C'�5P/R��1�N�1�%�% />Nค%64/R�O/$�6%/6คN6ค/6#�?P คN6%O1$'4 คN6�P 62B� 
คN62C�2B� คN6N�'?P$ O'42N/�N�?P$�N��#6�%�6� 

�1��?P 2 �O1#C'N�?P$/�5��6%N'?Q$�R�NR�N1>��%?$R />Nค%64/R�O/$�6%/6คN6ค/6#�?P คN6%O1$'4 
คN6�P 62B� คN62C�2B� O'4คN6N�'?P$ 

�1��?P 3 �6%��>�5�>�6##6�%�6��0B25�/R1>��%?$R />Nค%64/R�O/$�6%/6คN6ค/6#�?P คN6%O1$
'4 คN6�P 62B� คN62C�2B� O'4คN6N�'?P$ 

2 6/%5��6%� 6/��ค4O��%4�5��6%��>�5�> Q�O/>�?�6%�%4#6�คN6�1� likert scale 5 %4�5� 
� 6คN6�?PR�O#6/6คN6ค4O��N�'?P$O'O/� 6#6N�%?$�N�?$��5�ค4O��O�N'4%4�5��?P� 6/��ค/6#2 6ค5��1��ั��5$ 
�5��?Q 

�N/�%4�5�ค4O��N�'?P$ = ค4O��2C�2B� – ค4O���P 62B� 

     � 6�/��5Q� 

   =  5 – 1 = 0.8 

       5 

�6#/'5�N���R�5��'N6/ �4R�Oค4O��Q�O�N'4%4�5� �5��?Q 
ค>O��N�ล?P"     ค/@!ห!@" 

4.21 – 5.00    ��>�5�>�6##6�%�6�%4�5�#6��?P2B� 

3.41 – 4.20    ��>�5�>�6##6�%�6�%4�5�#6� 

2.61 – 3.40    ��>�5�>�6##6�%�6�%4�5��6��'6� 
1.81 – 2.60    ��>�5�>�6##6�%�6�%4�5��O1$ 

1.00 – 1.80    ��>�5�>�6##6�%�6�%4�5��O1$�?P2B�/R#N��>�5�> 
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�1��?P 4 �ั�/6O'4�O1N2�1O�4Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% 
�ั�/6Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% />Nค%64/R�O/$�6%/6คN6ค/6#�?P คN6%O1$'4 คN6�P 62B� 
คN62C�2B� O'4คN6N�'?P$ P�$�6%O�'ค/6#/#6$คN6ค4O��N�'?P$%4�5��ั�/6 Q�ON���RN�?$/�5��1��?P 3 
�5��'N6/�O6��O� 

�6#/'5�N���R�5��'N6/ �4R�Oค4O��Q�O�N'4%4�5� �5��?Q 
ค>O��N�ล?P"     ค/@!ห!@" 

4.21 – 5.00    #?�ั�/6Q�%4�5�#6��?P2B� 

3.41 – 4.20    #?�ั�/6Q�%4�5�#6� 

2.61 – 3.40    #?�ั�/6Q�%4�5��6��'6� 
1.81 – 2.60    #?�ั�/6Q�%4�5��O1$ 

1.00 – 1.80    #?�ั�/6Q�%4�5��O1$�?P2B�/R#N#?�ั�/6 

2 6/%5��O1N2�1O�4Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% />Nค%64/RP�$�6%
�5�/#/�/#CN�O1#C'O'4�6%/>Nค%64/RN�AQ1/6 

4.2.2ั�Oอ!Cล�@��@#2?!!�@O��!?2N/�#N/! />Nค%64/RP�$�6%�5�/#/�/#CN�O1#C'O'4�6%
/>Nค%64/RN�AQ1/6 
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���?Pั4 

�ล�@#/>�?" 

 

�6%/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ �CO/>�5$R�OO�N��6%� 6N2�1�'�6%
/>Nค%64/R11�N�็� 3 �1� �5��?Q 

�1��?P 1 �6%/>Nค%64/R/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R 
�1��?P 2 �6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R 
�1��?P 3 �ั�/6 �O1N2�1O�4 O'4O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N1B��6� 

 

�อ��?Pั1ัั�@#/>Nค#@>ห์หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ 

�6��6%0@�16 �/N6/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R ("6 �?P 4.1) �%4�1��O/$ค/6#N�AP1#P$�
�1��>��%%#�N6�N Q��6%�'>�R�NR�N1>��%?$R �5Q�O�N�O��Q 6 (�ั��5$Q��6%�'>�R�NR�N1>��%?$R) �'6��Q 6 (�6%N'?Q$�
R�NR�N1>��%?$R) ���@��'6$�Q 6 (�6%� 6/�N6$�'�'>�R�N1>��%?$R) P�$#?%6$'4N1?$�1�คR�%4�1�O�N'4%4�5� 
�5��?Q 

 

 @��?Pั4.1 /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R 
 

 

 

  

 

• �?P�>�
• �B�ัั  N�>��B�ั
              �ั��?"�@#�ล>��N@�ัN
• O#��@�
• �@#�#>�อ��@#

�O��Q @ �ล@��Q @ �ล@"�Q @

�ั��?"�@#�ล>�
�@#�?�ห@�ั��?"�@#�ล>�ั

�@#�?��@#�@!!@�#�@��0B2?�/์
อ>��#?"์ั ั�O@�
• �AQ��?PNล?Q"�
• �@#�?��@#
• OหลN��?P!@
• อ@ห@#2?�/์
• �@#�?��@#2B� @�
• �@#�?��@#!Cล2?�/์ �อ�N2?"
• �@#�?��@��Oอ!Cล

• #C�O���@#� @ห�N@"
• �N/�N/ล@� @ห�N@"
• �@#�>��Nอ�?��CO�AQอ

�@#� @ห�N@"�ล�ล>�
R�NR�Nอ>��#?"์�@#Nล?Q"�R�NR�N
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1.1ั#>�?��O��Q @  
�>��%%#%4�5��O��Q 6Q�/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R R�OO�N �>��%%#�?PN�?P$/�5��6%

�5�/6�ั��5$�6%�'>�2 6/%5��6%N'?Q$�R�NR�N1>��%?$R �@P� R�OO�N �?P�>� �B� O%��6� O'4�6%�%4�1��6% P�$#?
�'�6%0@�16 �5��?Q 

1.1.1ั�?P�>�ัN#AP1 >�6%�6 AQ��?P�A1ค%1��5Q�/#� O'4'5�1�4�6%ค%1�ค%1��?P�>��1�N�1�%�%�CO
N'?Q$�R�NR�N1>��%?$R Q�"6 %/#N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#? AQ��?P�A1ค%1��5Q�/#�N�'?P$ 10.31 2N/�N�?P$�N��
#6�%�6� 13.748 R%N O'4N�1�%�%2N/�Q/�N#?�?P�>�N�็��1���N1� %6$'4N1?$�O2��Q��6%6��?P 4.1 

1)ั�AQ��?P�Aอค#อ��?Q�ห!�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N %O1$'4 49.18 #?
 AQ��?P�A1ค%1��5Q�/#��O1$�/N6 5 R%N %1�'�#6%O1$'4 14.75 N�N6�5� #? AQ��?P�A1ค%1��5Q�/#� 6-10 R%N O'4 11-
15 R%N %O1$'4 11.48 #? AQ��?P�A1ค%1��5Q�/#�#6��/N6 20 R%N �@Q�R� O'4%O1$'4 9.84 #? AQ��?P�A1ค%1��5Q�/#� 
16-20 R%N �6#' 6�5� P�$#? AQ��?P�A1ค%1��5Q�/#��P 62B� 0.50 R%N 2C�2B� 100.00 R%N  AQ��?P�A1ค%1��5Q�/#�N�'?P$ 
10.31 2N/�N�?P$�N��#6�%�6� 13.748 R%N  

2)ัล?�1�>�@#ค#อ�ค#อ��?P�>�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N%O1$'4 
98.36 #?�?P�>�N�็��1���N1� #?N�1�%�%�CON'?Q$�R�NR�N1>��%?$RN ?$�%O1$'4 1.64 �?PR#N#?�?P�>�N�็��1���N1� P�$
N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 3.28 #?�6%N�N6�?P�>�  
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�@#@��?Pั4.1  AQ��?P�A1ค%1��5Q�/#� O'4'5�1�4�6%ค%1�ค%1��?P�>��1�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  
N = 61 

#@"ล>Nอ?"�ั � @�/�ั(ค�) #Oอ"ล> 
�AQ��?P�Aอค#อ��?Q�ห!�ั(R#N)ั   

�O1$�/N6 5 30 49.18 

6-10 9 14.75 

11-15 9 14.75 

16-20 6 9.84 

20 R%N�@Q�R�  7 11.48 

คN6�P 62B� =  0.50 R%N            คN62C�2B� = 100.00 R%N  
คN6N�'?P$ =  10.31 R%N             2N/�N�?P$�N��#6�%�6� = 13.748 

�?P�>��อ���Nอ�ั(R#N)ั   

R#N#? 1 1.64 

#? 60 98.36 

�O1$�/N6 5 31 50.82 

6-10 8 13.11 

11-15 8 13.11 

16-20 6 9.84 

20 R%N�@Q�R�  7 11.48 

คN6�P 62B� =  0.50 R%N            คN62C�2B� = 100.00 R%N  
คN6N�'?P$ =  10.11 R%N           2N/�N�?P$�N��#6�%�6� = 13.875  

�?P�>�N�N@ั(R#N)ั   

R#N#? 59 96.72 

#? 2 3.28 

7 1 1.64 

15 1 1.64 

คN6�P 62B� =  7 R%N                คN62C�2B� = 15 R%N  
คN6N�'?P$ =  11.00 R%N           2N/�N�?P$�N��#6�%�6� = 7.141 

 

1.1.2ั�B�ั�6��6%0@�16� 6O���B��?PQ�OQ��6%N'?Q$�R�NR�N1>��%?$R11�O�็� 2 2N/� คA1 N�>��B� 
O'4�ั��5$�6%�'>��N6� N �?PQ�OQ��6%N'?Q$�R�NR�N1>��%?$R P�$#?%6$'4N1?$� �5��?Q 

1)ัN�>��B� N�1�%�CON'?Q$�R�NR�N1>��%?$R�4�5�/6N�>��B�Q��6%N'?Q$�R�NR�N1>��%?$R 2 O/'N� คA1 
Q�ON�>��B��1���N1� O'4#?�6%�CON�>��6�O/'N��N6� N P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 68.85 Q�ON�>��B�
�1���N1�O'4N�>��CO %1�'�#6%O1$'4 27.87 Q�ON�>��B��1���N1��5Q�/#� O'4%O1$'4 3.28 Q�ON�>��B��6�
N�>��CO�5Q�/#� 2 6/%5�O/'N�N�>��CO  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 52.46 �CON�>��6���6ค6%N AP1
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�6%N�1�%O'42/�%�R/%A12�6�5��6%N�>�1AP� N %1�'�#6%O1$'4 18.03 �CON�>��6��1��B�/#CN�O6� O'4�CON�>�
�6��6�>O'4N AP1��O6� 2/�%�R�N6�N />26/�>��B#�� �6$�B� O'4�'BN#N�1�%�% ค>�N�็�%O1$'4 8.20, 3.28, 
3.28, 1.64 O'4 1.64 �6#' 6�5� (�6%6��?P 4.2) 
 

�@#@��?Pั4.2 O/'N�N�>��B�O'4O/'N�N�>��CO�1�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  
N = 61 

#@"ล>Nอ?"� � @�/�ั(ค�) #Oอ"ล> 
N�>��B�   

N�>��B���N1��5Q�/#� 17 27.87 

N�>��B��1���N1�O'4N�>��CO 42 68.85 

N�>��CO�5Q�/#�  2 3.28 

OหลN�N�>��CO*ั   

�6�>O'4N AP1��O6� 5 8.20 

�6$�B� 1 1.64 

��2./2�6�5��6%N�>� 32 52.46 

2/�%�R�N6�N 2 3.28 

�1��B�/#CN�O6�  11 18.03 

/>26/�>��B#��  2 3.28 

�'BN#N�1�%�% 1 1.64 

/#6$N/�B:  *N�1�%�%�1�R�O#6��/N6 1 �O1  
 

2)ั�ั��?"�@#�ล>��?PQ�ONล?Q"�R�NR�Nอ>��#?"์ัR�OO�N  5��BRR�NR�N1>��%?$R 16/6%R�NR�N1>��%?$R 
P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R N�1�%�CON'?Q$�R�NR�N1>��%?$R�5�/6�ั��5$�6%�'>��N6�N �5��?Q 

2.1) พ?#"@์R�NR�Nอ>#!1?0์  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 62.30 N'?Q$�R�NR�N
1>��%?$R 5��BRP%�R�$ %1�'�#6%O1$'4 16.39 N'?Q$�R�NR�N1>��%?$R 5��BR'C��2# (P%�R�$ + N�?P$�R2O) %O1$'4 
14.75 N'?Q$�R�NR�N1>��%?$R 5��BR�? ?�%6/�R O'4%O1$'4 6.56 N'?Q$�R�NR�N1>��%?$R 5��BRN'O�21%R� P�$#?O/'N��?P#6
�1� 5��BRR�NR�N1>��%?$R�6��6%N 64 5��BRN1� /�N/$�6�"6ค%5�� 6#6O�� O'4�AQ1�6��%>15��?P� 6/�N6$ 5��BR
R�NR�N P�$ �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 50.82 R�O 5��BRR�NR�N�6�/�N/$�6�%6��6%� 6#6O�� 
O'4�AQ1 5��BRR�NR�N�6�O/'N��N6� N %1�'�#6%O1$'4 16.39 R�O 5��BRR�NR�N#6�6��%>15��?P��N1�N�็�2#6�>�/
'C�คO6 O'4%O1$'4 14.75 N 64 5��BRR�NR�NN1� (�6%6��?P 4.3) 

P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?P�AQ1 5��BRR�NR�N#6N'?Q$� %O1$'4 64.52 �AQ1 5��BRR�NR�N�6�
�'BN#N�1�%�%//>26/�>��B#�� %1�'�#6 %O1$'4 19.35 �AQ1 5��BRR�NR�N�6�%O6�คO6/�%>15� %O1$'4 9.68 �AQ1
 5��BRR�NR�N�6�O/'N�1AP� (Pค%��6%/'/� #/6/>�$6'5$N�1�%062�%R) O'4%O1$'4 6.45 �AQ1 5��BRR�NR�N�6�
N AP1��O6� (�6%6��?P 4.3) 
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�@#@��?Pั4.3ั 5��BRR�NR�N1>��%?$RO'4O/'N��?P#6�1� 5��BRR�NR�N1>��%?$R      

N=61 

#@"ล>Nอ?"� � @�/�ั(ค�) #Oอ"ล> 
�?��B์R�NR�Nอ>��#?"์ั   

 5��BR �? ? �%6/�R 9 14.75 

 5��BRP%�R�$  38 62.30 

 5��BR'C��2# (P%�R�$ + N�?P$�R2O) 10 16.39 

 5��BRN'O�21%R�  4 6.56 

OหลN��?P!@�อ��?��B์R�NR�Nอ>��#?"์*   

N 64 5��BRN1� 9 14.75 

/�N/$�6�%6��6%� 6#6O�� 31 50.82 

�6��%>15��?P��N1�N�็�2#6�>�/'C�คO6 10 16.39 

�AQ1 (�1�R�O#6��/N6 1 �O1) 31 50.82 

- �6�%O6�คO6/�%>15�  6 19.35 

- �6�N AP1��O6� 2 6.45 

- �6��'BN#N�1�%�%//>26/�>��B#��  20 64.52 

- 1AP�N (�6�Pค%��6%/'/� #/6/>�$6'5$N�1�%062�%R) 3 9.68 

/#6$N/�B:  *N�1�%�%�1�R�O#6��/N6 1 �O1  
 

2.2) อ@ห@1R�NR�Nอ>#!1?0์  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 86.89 �2#16/6%
R�NR�N1>��%?$R�O/$��N1�P�$Q�O/5��B�>�16/6%�?P#?1$CNQ��O1��>P� %1�'�#6%O1$'4 16.39 Q�O/5/16/6%�2#�5�
16/6%�?P#?1$CNQ��O1��>P� %O1$'4 14.75 Q�O16/6%2 6N%O�%C��2#�5�16/6%�?P#?1$CNQ��O1��>P� O'4%O1$'4 3.28 
Q�O16/6%2 6N%O�%C� (�6%6��?P 4.4) 

P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?P�2#16/6%N1� %O1$'4 88.68 Q�O/5��B�>�16/6%�?P�'C�
N1� %1�'�#6%O1$'4 35.85 Q�O/5��B�>�16/6%�?P�AQ1�6�N�1�%�%1AP� %O1$'4 11.32 Q�O/5��B�>�16/6%�?P�AQ1
�6�O/'N�1AP�N (Pค%��6%/'/� �'BN#�?P#?Q�%5�%1�16/6%1>��%?$R �5/O��� 6/�N6$/5��B�>� O'4P%��6��6�
�6/�6��5P/'>2�) %O1$'4 5.66 Q�O/5��B�>�16/6%�?P�AQ1�6�/�N/$�6�%6��6% O'4%O1$'4 1.89 Q�O/5��B�>�
16/6%�?P�AQ1�6�%O6�คO6Q��O1��>P� (�6%6��?P 4.4) 
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�@#@��?Pั4.4ั16/6%�?PQ�OQ��6%N'?Q$�R�NR�N1>��%?$R 
N=61 

อ@ห@#�?PQ�OQ��@#Nล?Q"�R�NR�Nอ>��#?"์ � @�/�ั(ค�) #Oอ"ล> 
16/6%�?PQ�OQ��6%N'?Q$�R�NR�N1>��%?$R*   

16/6%�2#N1� P�$Q�O/5��B�>�16/6%�?P#?1$CNQ��O1��>P�  53 86.89 

- �'C�N1� 47 88.68 

- �6�N�1�%�%1AP�  19 35.85 

- %O6�คO6Q��O1��>P�  1 1.89 

- �6�/�N/$�6�%6��6%  3 5.66 

- 1AP�N (�6�Pค%��6%/'/� �'BN#�?P#?Q�%5�%1�16/6%1>��%?$R/�5/O��� 6/�N6$
/5��B�>� O'4P%��6��6��6/�6��5P/'>2�) 

6 11.32 

16/6%2 6N%O�%C�  2 3.28 

16/6%2 6N%O�%C��2#�5�16/6%�?P#?1$CNQ��O1��>P�  9 14.75 

/5/16/6%�2#�5�16/6%�?P#?1$CNQ��O1��>P�  10 16.39 

   

2.3) P1�N1?อ#Oล>อ@%�1�์Q#�@1Nล?้0�R�NR�Nอ>#!1?0์  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R
N'?Q$�R�NR�N1>��%?$RQ�P%�N%A1�%4��N�>� #?�6%2%O6�P%�N%A1��O/$��N1� 2 6/%5�1B��%�RQ��6%N'?Q$�R�NR�N#?�5Q�
2%O6��O/$��N1� R�O%5��6%2�5�2�B��6�"6ค%5� O'4�AQ1�6�%O6�คO6/%A1�%>15��6$1B��%�R P�$#?
%6$'4N1?$� �5��?Q 

(1) P%�N%A1�N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 100.00 #?
P%�N%A1�Q��6%N'?Q$�R�NR�N1>��%?$R �5��?Q %O1$'4 96.72 #?P%�N%A1�N'?Q$�R�NR�N1>��%?$R � 6�/� 1-2 /'5� O'4
%O1$'4 3.28 #?P%�N%A1�N'?Q$�R�NR�N1>��%?$R � 6�/� 3-4 /'5� �6#' 6�5� P�$#?P%�N%A1�N'?Q$�R�NR�N1>��%?$R
�P 62B� 1 /'5� คN62C�2B� 3 /'5� คN6N�'?P$ 1.12 /'5� O'4#?2N/�N�?P$�N��#6�%�6�  0.454 P�$��6��1�
P%�N%A1�#?��6�O���N6��5�R� N�N� 2×2 N#�% 4×6 N#�% 5×7 N#�% 5×10 N#�% O'4 20×20 N#�%  

2 6/%5�'5�1�4P%�N%A1�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 68.85 2%O6�
P%�N%A1�O���N6$ N %1�'�#6%O1$'4 27.87 2%O6�P%�N%A1��6#O��#6�%�6��1��%#�0B25�/R O'4%O1$'4 
3.28 Q�OQ�O�B��O6� 5�1605$ (�6%6��?P 4.5) 

(2) 1B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R   �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 
50.82 �AQ11B��%�R#6Q�OQ��6%N'?Q$�R�NR�N1>��%?$R %1�'�#6%O1$'4 39.34 R�O%5��6%2�5�2�B�1B��%�R�6�
/�N/$�6�%6��6% O'4%O1$'4 34.43 � 61B��%�RQ��6%N'?Q$�R�NR�N1>��%?$RN1� (�6%6��?P 4.5) 

P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?P�AQ11B��%�R#6Q�OQ��6%N'?Q$�R�NR�N1>��%?$R %O1$'4 
77.42 �AQ11B��%�R�6�%O6�คO6Q��O1��>P� %O1$'4 12.90 �AQ11B��%�R�6��CO�'>�/N�1�%�%1AP� %O1$'4 9.68 
�AQ11B��%�R�6��%>15��6$1B��%�R %O1$'4 6.45 �AQ11B��%�R�6��%>15��?P��N1�N�็�2#6�>�/'C�คO6 O'4%O1$
'4 3.23 �AQ11B��%�R�6��CO�6$1AP�N N�N� Pค%��6%/'/� (�6%6��?P 4.5)  
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�@#@��?Pั4.5ัP%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R      

N=61 

P#�N#Aอ�Oล>อB��#�์Q��@#Nล?Q"�R�NR�Nอ>��#?"์ � @�/�ั(ค�) #Oอ"ล> 
� @�/�P#�N#Aอ�Nล?Q"�R�NR�Nอ>��#?"์ั(หล?�)  

R#N#?  0 0.0 

#?  61 100.0 

1-2 59 96.72 

3-4 2 3.28 

คN6�P 62B� =  1 /'5�      คN62C�2B� =  3 /'5�    

คN6N�'?P$ =  1.12 /'5�  2N/�N�?P$�N��#6�%�6� = 0.454   

P#�N#Aอ��?PQ�ONล?Q"�R�NR�Nอ>��#?"์   

P%�N%A1��6#O��#6�%�6��1��%#�0B25�/R 17 27.87 

P%�N%A1��N6$ N 42 68.85 

Q�OQ�O�B��O6� 5�1605$ 2 3.28 

OหลN��อ�อB��#�์�?PQ�ONล?Q"�R�NR�Nอ>��#?"์ั   

� 6N1� 21 34.43 

/�N/$�6�%6��6%2�5�2�B� 24 39.34 

�AQ1 �6� (�1�R�O#6��/N6 1 �O1)  31 50.82 

- %O6�คO6Q��O1��>P�  24 77.42 

- �CO�'>�/N�1�%�%1AP� 4 12.90 

- �%>15��6$1B��%�R  3 9.68 

- �%>15��?P��N1�N�็�2#6�>�/'C�คO6 2 6.45 

- 1AP�N (Pค%��6%/'/�) 1 3.23 

 

1.1.3ัO#��@�ั�6��6%0@�16  �/N6 N�1�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N (%O1$'4 91.80) Q�O
O%��6���N1�O'4O%��6�Q�ค%1�ค%5/ 2 6/%5�O%��6��O6�  �/N6 #? N�1�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N
%O1$'4 8.20 �O6�O%��6� P�$� 6�/�O%��6��O6�2C�2B�คA1 5 ค� O'4� 6�/�O%��6��O6��P 62B�คA1 1 ค� 
(�6%6��?P 4.6) 
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�@#@��?Pั4.6ั� 6�/�O%��6�Q��6%N'?Q$�R�NR�N1>��%?$R 
N=61 

� @�/�O#��@�Q��@#Nล?Q"�R�NR�Nอ>��#?"์ � @�/�ั(ค�) #Oอ"ล> 
O#��@���Nอ�Oล>O#��@�Q�ค#อ�ค#?/ั(ค�)ั   

R#N#? 5 8.20 

#? 56 91.80 

1-2 43 70.49 

3-4 12 19.67 

5 1 1.64 

คN6�P 62B� = 1 ค�               คN62C�2B� = 5 ค�  

คN6N�'?P$ = 1.91 ค�           2N/�N�?P$�N��#6�%�6� = 0.925  

O#��@��O@�ั(ค�)ั   

R#N#? 56 91.80 

#?  5 8.20 

1-2 4 6.56 

5 1 1.64 

คN6�P 62B� = 1 ค�                คN62C�2B� = 5 ค�   

คN6N�'?P$ = 2.17 ค�            2N/�N�?P$�N��#6�%�6� = 1.598  

 

1.1.4ั�@#�#>�อ��@#ั�6��6%0@�16  �/N6 �6%�%4�1��6%N'?Q$�R�NR�N1>��%?$RN�็��6%
�%4�1��6%Q�%C�O���B%�>�O��N�O6�1�ค�N�?$/ N�็�!6%R#��6�N'O� Q�OO%��6�Q�ค%1�ค%5/ N�็�/'5� 
P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R� 6/�O6�?P/6�O��O'4�%>/6%�5��6%N�?P$/�5��6%�5�/6�ั��5$�6%�'>��5Q�O�N
 5��BR25�/R 16/6%25�/R P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R  �6%�O6�O%��6� �6%�5�2>�Q�Q��6%
�5��6%�6%�'>�R�NR�N1>��%?$R %/#�5Q��6%�6$�'�'>�R�NR�N1>��%?$R 

 

1.2ั#>�?��ล@��Q @ั 
/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R%4�5��'6��Q 6 R�OO�N N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  

�>��%%#%4�5��'6��Q 6 คA1 �6%N'?Q$�R�NR�N1>��%?$R P�$#?�6%�5��6%�6#�O1� 6/���1�#6�%�6�2>�คO6
N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R 

�6��6%0@�16/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R%4�5��O��Q 6  �/N6 �>��%%#%4�5��'6$�Q 6 
คA1 �6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% P�$#?%6$'4N1?$�N�?P$/�5��O1#C'�5P/R��1�N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R 2"6 �6%N'?Q$�R�NR�N1>��%?$R O'4�6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�6#�O1� 6/���1�#6�%�6�2>�คO6
N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R �5��?Q 
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1.2.1ั�Oอ!Cล�?P/R��อ�N�1�#�#�CONล?Q"�R�NR�Nอ>��#?"์ �6��6%0@�16�O1#C'�5P/R��1�N�1�%�%
�CON'?Q$�R�NR�N1>��%?$R �%4�1��O/$ N 0 16$B %4�5��6%0@�16 � 6�/�2#6�>�Q�ค%5/N%A1��5Q�/#� 16�? /'5� 
16�? %1� %6$R�O�6�"6ค�6%N�1�%Q��? 2565 �?P�N6�#6 O/'N��?P#6�1�ค/6#%COQ��6%�5��6%N'?Q$�R�NR�N
1>��%?$R O'4�%4N�O�ค/6#%COQ��6%�5��6%N'?Q$�R�NR�N1>��%?$R (�6%6��?P 4.7) �5��?Q 

1) N 0  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 50.82 N�็�N 0/�>� O'4%O1$'4 
49.18 N�็�N 0�6$  

2) 16$B  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 36.07 #?16$B1$CNQ��N/� 51-60 �? 
%1�'�#6 %O1$'4 22.95 #?16$B#6��/N6 61 �?�@Q�R� %O1$'4 19.67 #?16$B1$CNQ��N/� 41-50 �? %O1$'4 
18.03 #?16$B1$CNQ��N/� 31-40 �? %O1$'4 1.64 N�N6�5� #?16$B�P 6�/N6 20 �? O'4#?16$B 21-30 �? �6#' 6�5�  

3) %4�5��6%0@�16  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 24.59 N�N6�5� ��
�6%0@�16Q�%4�5��%4�#0@�16�1��O� O'4���6%0@�16Q�%4�5�#5�$#0@�16�1��'6$/�/2. %O1$'4 
14.75 ���6%0@�16Q�%4�5��%>��6�%? %O1$'4 13.11 N�N6�5� ���6%0@�16Q�%4�5��%4�#0@�16�1�
�'6$ O'4#5�$#0@�16�1��O�/�/�. %O1$'4 4.92 R#NR�ON%?$�/�5�2A1 O'4%O1$'4 3.28 ���6%0@�162C�
�/N6�%>��6�%? �6#' 6�5� 

4) � 6�/�2#6�>�Q�ค%5/N%A1��5Q�/#�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 60.66 
#?� 6�/�2#6�>�Q�ค%5/N%A1��5Q�/#� 3-4 ค� %1�'�#6 %O1$'4 26.23 #?� 6�/�2#6�>�Q�ค%5/N%A1��5Q�/#� 
1-2 ค� O'4%O1$'4 13.11 #?� 6�/�2#6�>�Q�ค%5/N%A1��5Q�/#� 5-6 ค� �6#' 6�5� P�$#?� 6�/�2#6�>�Q�
ค%5/N%A1��5Q�/#��P 62B� 1 ค� 2C�2B� 6 ค� � 6�/�2#6�>�Q�ค%5/N%A1��5Q�/#�N�'?P$ 3.18 ค� 2N/�N�?P$�N��
#6�%�6� 1.324 

5) 16�? /'5�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 73.77 � 6�6 %1�'�#6 %O1$'4 
16.39 � 6R%N-� 62/� %O1$'4 3.28 N�N6�5� คO6�6$ N'?Q$�25�/R O'4 �5��6��%>15� �6#' 6�5�  

6) 16�? %1�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 88.52 N'?Q$�25�/R %1�'�#6 %O1$
'4 44.26 � 6R%N-� 62/� %O1$'4 26.23 �'C� A��5�2/�ค%5/ %O1$'4 19.67 %5��O6��5P/R� O'4%O1$'4 8.20 
คO6�6$ �6#' 6�5�  

7) %6$R�O�6��6%�'C� A�  �/N6 Q��?�?P�N6�#6 ( .0. 2565) N�1�%�%�CON'?Q$�R�NR�N1>��%?$R 
%O1$'4 22.95 R#N#?%6$R�O�6��6%�'C� A� O'4%O1$'4 77.05 #?%6$R�O�6��6%�'C� A� �5��?Q %O1$'4 29.51 
#?%6$R�O�6��6%�'C� A� 40,001 �6��N1�?�@Q�R� %1�'�#6 %O1$'4 16.39 #?%6$R�O�6��6%�'C� A� 
10,001-20,000 �6��N1�? %O1$'4 16.39 #?%6$R�O�6��6%�'C� A� 20,001-30,000 �6��N1�? %O1$'4 
14.75 #?%6$R�O�6��6%�'C� A��P 6�/N6 10,000 �6��N1�? O'4%O1$'4 1.64 #?%6$R�O�6��6%�'C� A� 
30,001-40,000 �6��N1�? �6#' 6�5� P�$#?%6$R�O�P 62B� 4,000 �6��N1�? 2C�2B� 200,000 �6��N1�? N�'?P$ 
40,205.95 �6��N1�? 2N/�N�?P$�N��#6�%�6� 37,176.470 
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8) %6$R�O�6��6%N'?Q$�25�/R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 18.03 R#N#?%6$R�O
�6��6%N'?Q$�25�/R O'4%O1$'4 81.97 #?%6$R�O�6��6%N'?Q$�25�/R �5��?Q %O1$'4 31.15 #?%6$R�O�6��6%N'?Q$�
25�/R 40,001 �6��N1�?�@Q�R� %1�'�#6 %O1$'4 22.95 #?%6$R�O�6��6%N'?Q$�25�/R�P 6�/N6 10,000 �6��N1�? 
%O1$'4 14.75 #?%6$R�O�6��6%N'?Q$�25�/R 10,001-20,000 �6��N1�? %O1$'4 11.48 #?%6$R�O�6��6%N'?Q$�
25�/R 20,001-30,000 �6��N1�? O'4%O1$'4 1.64 #?%6$R�O�6��6%N'?Q$�25�/R 30,001-40,000 �6��N1�? 
�6#' 6�5� P�$#?%6$R�O�P 62B� 2,000 �6��N1�? 2C�2B� 350,000 �6��N1�? N�'?P$ 56,391.49 �6��N1�? 2N/�
N�?P$�N��#6�%�6� 79,488.543 

9) %6$R�O1AP�N  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 90.16 R#N#?%6$R�O1AP�N O'4
%O1$'4 9.84 #?%6$R�O1AP�N �5��?Q %O1$'4 4.92 N�N6�5� #?%6$R�O1AP�N �P 6�/N6 50,000 �6��N1�? O'4%6$R�O
1AP�N 50,001-100,000 �6��N1�? P�$#?%6$R�O1AP�N �P 62B� 24,000 �6��N1�? 2C�2B� 100,000 �6��N1�? 
N�'?P$ 59,000.00 �6��N1�? 2N/�N�?P$�N��#6�%�6� 39,924.930 

10) O/'N��?P#6�1�ค/6#%COQ��6%�5��6%N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R %O1$'4 90.16 R�O%5�ค/6#%CO�6�N�O6/�O6�?P�1��%#�0B25�/R %1�'�#6 %O1$'4 42.62 R�O%5�ค/6#%CO
�6��6%0@�1621��6#�CON'?Q$�R�NR�N1>��%?$R1AP�N %O1$'4 36.07 R�O%5�ค/6#%CO�6��6%��>�5�> %O1$'4 21.31 
N�N6�5� R�O%5�ค/6#%CO�6��6%0@�16�O/$��N1��6�/�5�2A1/� 6%6 O'4�6�1>�N�1%RN�O�/N!��BP�/N/O�R��R 
O'4%O1$'4 16.39 R�O%5�ค/6#%CO�6�16�6%$R�?P#/6/>�$6'5$O#NP�O �6#' 6�5�  

11) �%4N�O�ค/6#%COQ��6%�5��6%N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R 
%O1$'4 88.52 R�O%5�ค/6#%COQ��O6�/'5��6%N'?Q$�R�NR�N1>��%?$R %1�'�#6 %O1$'4 81.97 R�O%5�ค/6#%COQ��O6�
�6%�5��6%16/6%25�/R1>��%?$R %O1$'4 72.13 R�O%5�ค/6#%COQ��O6��6%'��O��B��6%�'>� %O1$'4 62.30 
R�O%5�ค/6#%COQ��O6��6%�5��6%!6%R#R�NR�N1>��%?$R %O1$'4 50.82 R�O%5�ค/6#%COQ��O6�#6�%�6��0B25�/R
1>��%?$R %O1$'4 45.90 R�O%5�ค/6#%COQ��O6��6%�5��6%2B�6">�6'O'4�O1��5�P%ค O'4%O1$'4 34.43 R�O%5�
ค/6#%COQ��O6��6%� 6/�N6$�'�'>�/�6%�'6� �6#' 6�5�  
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�@#@��?Pั4.7ั�O1#C'�5P/R��1�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  
N = 61 

�Oอ!Cล�?P/R�ั � @�/�ั(ค�) #Oอ"ล> 
N�0   

�6$ 30 49.18 

/�>� 31 50.82 

อ@"Bั(�?)ั   

�P 6�/N6 20 1 1.64 

21-30 1 1.64 

31-40 11 18.03 

41-50 12 19.67 

51-60  22 36.07 

61 �?�@Q�R�  14 22.95 

#>�?��@#0@�1@   

R#NR�ON%?$�/�5�2A1 3 4.92 

�%4�#0@�16�1��O�  15 24.59 

�%4�#0@�16�1��'6$ 8 13.11 

#5�$#0@�16�1��O�/ �/�. 8 13.11 

#5�$#0@�16�1��'6$/ �/2.  15 24.59 

�%>��6�%?  9 14.75 

2C��/N6�%>��6�%? 2 3.28 

� @�/�2!@�>�Q�ค#?/N#Aอ��?Q�ห!�ั(ค�)ั   

1-2 16 26.23 

3-4 37 60.66 

5-6 8 13.11 

คN6�P 62B� =  1 ค�                 คN62C�2B� = 6 ค�   

คN6N�'?P$ =   3.15 ค�            2N/�N�?P$�N��#6�%�6� = 1.324  

อ@�?�หล?�   

� 6�6 45 73.77 

คO6�6$ 2 3.28 

� 6R%N-� 62/� 10 16.39 

N'?Q$�25�/R  2 3.28 

1AP�N ( �5��6��%>15�)  2 3.28 
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�@#@��?Pั4.7ั(�Nอ)ั 
�Oอ!Cล�?P/R�ั � @�/�ั(ค�) #Oอ"ล> 

อ@�?�#อ�*ั   

N'?Q$�25�/R 54 88.52 

�'C� A��5�2/�ค%5/ 16 26.23 

%5��O6��5P/R�  12 19.67 

� 6R%N-� 62/�  27 44.26 

1AP�N (คO6�6$) 5 8.20 

#@"R�O�@� @ค�@#N�1�#Q��?ั2565 �?P�N@�!@   

#@"R�O�@��@#�ลC��A�ั(�@��Nอ�?)ัั   

R#N#? 14 22.95 

#? 47 77.05 

�P 6�/N6 10,000  9 14.75 

10,001-20,000 10 16.39 

20,001-30,000 9 14.75 

30,001-40,000 1 1.64 

40,001 �@Q�R�  18 29.51 

คN6�P 62B� =  4,000 �6��N1�?        คN62C�2B� = 200,000 �6��N1�? 
คN6N�'?P$ =  40,205.95 �6��N1�?   2N/�N�?P$�N��#6�%�6� = 37,176.470 

#@"R�O�@��@#Nล?Q"�2?�/์ั(�@��Nอ�?)ัั   

R#N#? 11 18.03 

#? 50 81.97 

�P 6�/N6 10,000  14 22.95 

10,001-20,000 9 14.75 

20,001-30,000 7 11.48 

30,001-40,000 1 1.64 

40,001 �@Q�R�  19 31.15 

คN6�P 62B� =  2,000 �6��N1�?        คN62C�2B� = 350,000 �6��N1�? 
คN6N�'?P$ =  56,391.49 �6��N1�?   2N/�N�?P$�N��#6�%�6� = 79,488.543 

#@"R�OอAP�Nั(�@��Nอ�?)ัั   

R#N#? 55 90.16 

#? 6 9.84 

�P 6�/N6 50,000  3 4.92 

50,001-100,000 3 4.92 

คN6�P 62B� =  24,000 �6��N1�?        คN62C�2B� = 100,000 �6��N1�? 
คN6N�'?P$ =  59,000.00 �6��N1�?    2N/�N�?P$�N��#6�%�6� = 39,924.930 
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�@#@��?Pั4.7ั(�Nอ)ั 
�Oอ!Cล�?P/R�ั � @�/�ั(ค�) #Oอ"ล> 

OหลN��?P!@�อ�ค/@!#COQ��@#�?��@#Nล?Q"�R�NR�Nอ>��#?"์*  

N�O6/�O6�?P�1��%#�0B25�/R 55 90.16 

0@�16�O/$��N1��6�/�5�2A1/� 6%6 13 21.31 

1>�N�1%RN�O�/N!��BP�/N/O�R��R 13 21.31 

N%?$�%CO�6��6%��>�5�>  22 36.07 

0@�16�6��6%21��6#�CON'?Q$�R�NR�N1>��%?$R1AP�N  26 42.62 

1AP�N (#/6/>�$6'5$O#NP�O)  10 16.39 

�#>N�O�ค/@!#COQ��@#�?��@#Nล?Q"�R�NR�Nอ>��#?"์*  

/'5��6%N'?Q$�R�NR�N1>��%?$R  54 88.52 

�6%'��O��B��6%�'>� 44 72.13 

�6%�5��6%16/6%25�/R1>��%?$R  50 81.97 

�6%�5��6%2B�6">�6'O'4�O1��5�P%ค 28 45.90 

�6%� 6/�N6$�'�'>�/�6%�'6� 21 34.43 

�6%�5��6%!6%R#R�NR�N1>��%?$R 38 62.30 

#6�%�6��0B25�/R1>��%?$R 31 50.82 

/#6$N/�B: N�1�%�%�1�R�O#6��/N6 1 �O1  
 

1.2.2ั2 @��@#Nล?Q"�R�NR�Nอ>��#?"์�อ�N�1�#�# �6��6%0@�162"6 �6%N'?Q$�R�NR�N1>��%?$R
�1�N�1�%�% R�OO�N �%4N"��6%N'?Q$�R�NR�N1>��%?$R %4$4N/'6Q��6%N'?Q$�R�NR�N1>��%?$R N/�B�'Q��6%N'?Q$�R�N
R�N1>��%?$R �6%R�O%5�#6�%�6�N�1�%1>��%?$R �6%�1%5�%1�#6�%�6�N�1�%1>��%?$R %C�O���6%N'?Q$�R�NR�N
1>��%?$R '5�1�4�6%N'?Q$�R�NR�N1>��%?$R O/'N��Q 6Q��6%N'?Q$�R�NR�N1>��%?$R />�?�6%Q/O�Q 6R�NR�N1>��%?$R %C�O��
�6%Q/O16/6%R�NR�N1>��%?$R �6%Q/O16/6%N2%>#O�NR�NR�N1>��%?$R O'4�6%�5��6%�O6�2B�"6 �1�R�NR�N1>��%?$R 
(�6%6��?P 4.8) �5��?Q  

1) �%4N"��6%N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 83.61 #?
�6%N'?Q$�R�NR�N%4$4R�N %1�'�#6 %O1$'4 16.39 #?�6%N'?Q$� N1O#N 5��BRR�NR�N1>��%?$R N AP1�'>�'C�R�N� 6/�N6$ 
O'4%O1$'4 8.20 #?�6%N'?Q$�'C�R�N�@�%4$4R�NR�N26/ �6#' 6�5� #?%6$'4N1?$��5��?Q  

(1) N#AP1 >�6%�6� 6�/�N�1�%�%�?P#?�6%N'?Q$� N1O#N 5��BRR�NR�N1>��%?$R N AP1�'>�'C�R�N
� 6/�N6$  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 50.00 N'?Q$� N1O#N 5��BRR�NR�N1>��%?$R �P 6�/N6 10 �5/ 
%1�'�#6 %O1$'4 40.00 N'?Q$� N1O#N 5��BRR�NR�N1>��%?$R 11-20 �5/ O'4%O1$'4 10.00 N'?Q$� N1O#N 5��BRR�NR�N
1>��%?$R#6��/N6 20 �5/�@Q�R� �6#' 6�5� P�$#?�6%N'?Q$� N1O#N 5��BRR�NR�N1>��%?$R�P 62B� 10 �5/ 2C�2B� 50 �5/ 
N�'?P$ 17.50 �5/ O'4#?2N/�N�?P$�N��#6�%�6�  12.810 
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(2) N#AP1 >�6%�6� 6�/�N�1�%�%�?P#?�6%N'?Q$�'C�R�N�@�%4$4R�NR�N26/�5Q�/#�  �/N6 
N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 80.00 N'?Q$�'C�R�N�@�%4$4R�NR�N26/ � 6�/� 20 �5/ O'4%O1$'4 20.00 
N'?Q$�'C�R�N�@�%4$4R�NR�N26/ � 6�/� 50 �5/ P�$#?�6%N'?Q$�'C�R�N�@�%4$4R�NR�N26/�P 62B� 20 �5/ 2C�2B� 50 �5/ 
N�'?P$ 26.00 �5/ O'4#?2N/�N�?P$�N��#6�%�6�  16.021 

(3) N#AP1 >�6%�6� 6�/�N�1�%�%�?P#?�6%N'?Q$�R�NR�N%4$4R�N  �/N6 N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R %O1$'4 45.10 N'?Q$�R�NR�N%4$4R�N 11-20 �5/ %1�'�#6 %O1$'4 29.41 N'?Q$�R�NR�N%4$4R�N 1-10 �5/ 
%O1$'4 13.73 N'?Q$�R�NR�N%4$4R�N 21-30 �5/ %O1$'4 9.80 N'?Q$�R�NR�N%4$4R�N#6��/N6 40 �5/�@Q�R� O'4%O1$'4 
1.96 N'?Q$�R�NR�N%4$4R�N 31-40 �5/ �6#' 6�5� P�$#?�6%N'?Q$�R�NR�N%4$4R�N�P 62B� 2 �5/ 2C�2B� 2,000 �5/ N�'?P$ 
210 �5/ O'4#?2N/�N�?P$�N��#6�%�6�  508.490 

2) %4$4N/'6Q��6%N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 59.02 
N'?Q$�R�NR�N1>��%?$R �6� 1-2 �? %1�'�#6 %O1$'4 26.23 N'?Q$�R�NR�N1>��%?$R �6� 3-4 �? O'4%O1$'4 11.48 
N'?Q$�R�NR�N1>��%?$R �6� 5-7 �? �6#' 6�5� P�$#?%4$4N/'6Q��6%N'?Q$�R�NR�N1>��%?$R�P 62B� 1 �? 2C�2B� 7 �? N�'?P$ 
2.47 �? O'4#?2N/�N�?P$�N��#6�%�6� 1.460 

3) N/�B�'�?P�5�2>�Q�N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 86.89 
N AP12B�"6 �1���N1�O'4�CO�%>P"ค %1�'�#6 %O1$'4 50.82 �O1��6%1�B%5�1R�%5 $6�%�%%#�6�> %O1$'4 
49.18 #?�'6��6$�'�'>��?PO�N�1� %O1$'4 36.07 %6ค62C��/N6�6%�'>�O�����> O'4%O1$'4 6.56 
N/�B�'1AP�N N�N� �%>P"ค"6$Q�ค%5/N%A1� O'4N�็�16�? N2%>#2%O6�%6$R�O �6#' 6�5�  

4) �6%R�O%5�#6�%�6�N�1�%1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 62.30 
� 6'5�%1$AP��1#6�%�6��0B25�/R1>��%?$R �6��%#�0B25�/R %1�'�#6 %O1$'4 26.23 R�O%5�#6�%�6� <Organic 

Thailand= %O1$'4 9.84 R�O%5�#6�%�6�N�1�%1>��%?$R P�$N�็�#6�%�6�%5�%1���N1� O'4%O1$'4 4.92 
R�O%5�#6�%�6�Q��O1��>P� �6#' 6�5�  

5) �6%�1%5�%1�#6�%�6�N�1�%1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 
78.69 $AP��1%5�%1�P�$�'BN# (%5�%1�O��#?2N/�%N/#/�'BN#N�1�%�%) O'4%O1$'4 24.59 $AP��1%5�%1��O/$
��N1� ($AP��1%5�%1�%6$�Bคค') �6#' 6�5�  

6) %C�O���6%N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 29.51 #?
%C�O���6%N'?Q$�R�NR�N1>��%?$RN�็�O��1>2%4 (N�็�N�O6�1�!6%R#) O'4%O1$'4 72.13 #?%C�O���6%N'?Q$�R�NR�N
1>��%?$RN�็�O��2#6�>� �5��?Q %O1$'4 97.73 N�็�2#6�>�Q��'BN#�CON'?Q$�R�NR�N1>��%?$RQ� AQ��?P O'4%O1$'4 2.27 
N�็�2#6�>��1�Pค%��6%/'/� �6#' 6�5�  

7) '5�1�4�6%N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 70.19 N'?Q$�
�'N1$'6�O'4#?P%�N%A1� O'4%O1$'4 39.34 N'?Q$��'N1$"6$Q�P%�N%A1� P�$#?%6$'4N1?$��5��?Q  

(1) �%�?N'?Q$��'N1$Q�P%�N%A1�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 58.33 
N'?Q$�R�NR�N1>��%?$R 1-2 �5// AQ��?P 1 �6%6�N#�% %1�'�#6 %O1$'4 25.00 N'?Q$�R�NR�N1>��%?$R 5-6 �5// AQ��?P 1 
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�6%6�N#�% O'4%O1$'4 16.67 N'?Q$�R�NR�N1>��%?$R 3-4 �5// AQ��?P 1 �6%6�N#�% �6#' 6�5� P�$#?� 6�/�R�N�?P
N'?Q$��'N1$Q�P%�N%A1��P 62B� 1 �5// AQ��?P 1 �6%6�N#�% คN62C�2B� 6 �5// AQ��?P 1 �6%6�N#�% คN6N�'?P$ 2.27 �5//
 AQ��?P 1 �6%6�N#�% 2N/�N�?P$�N��#6�%�6� 1.687 

(2) �%�?N'?Q$��'N1$'6�O'4#?P%�N%A1�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 
72.09 #? AQ��?P�'N1$ �O1$�/N6 5 �6%6�N#�%/R�NR�N 1 �5/ %1�'�#6 %O1$'4 18.60 #? AQ��?P�'N1$ 6-10 �6%6�N#�%/
R�NR�N 1 �5/ O'4%O1$'4 9.30 #? AQ��?P�'N1$#6��/N6 10 �6%6�N#�%/R�NR�N 1 �5/ �6#' 6�5� P�$#? AQ��?P�'N1$
�P 62B� 0.25 �6%6�N#�%/R�NR�N 1 �5/ คN62C�2B� 20 �6%6�N#�%/R�NR�N 1 �5/ คN6N�'?P$ 4.98 �6%6�N#�%/R�NR�N 1 �5/ 
2N/�N�?P$�N��#6�%�6� 5.480 

8) O/'N��Q 62 6/%5�N'?Q$�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 65.57  
Q�O�Q 6�%4�6Q��6%N'?Q$�R�NR�N1>��%?$R %1�'�#6 %O1$'4 40.98 Q�O�Q 6�N1 (�N1�6�6' �N1�Q 6�B�N1�) %O1$'4 
24.59 Q�O�Q 6�� O'4%O1$'4 11.48 Q�O�Q 6�6�' 6/O/$ /�1� ค'1� �@� �6#' 6�5�  

9) />�?�6%Q/O�Q 6O�NR�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 75.41 �5�/6�Q 6
2416�Q2N%6�/%A1"6��41AP�N �5Q��>Q�R/OQ/O�>��'1�N/'6 %1�'�#6 %O1$'4 22.95 �5�/6�Q 62416�Q/OR�N�>� O�N
R#N�5Q��>Q��'1�N/'6 O'4%O1$'4 1.64 Q/OR�N/6�Q 6�>�N1� �6#' 6�5�  

10) %C�O���6%Q/O16/6%R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 93.44 
�'N1$Q/O/6�>�N1��6#�%%#�6�>O'O/N2%>#16/6% N�O6-N$O� %1�'�#6 %O1$'4 4.92 Q/O�>�16/6%1$N6�N�?$/ P�$
R#N�'N1$Q/O/6�>�N1��6#�%%#�6�> O'4%O1$'4 1.64 �'N1$Q/O/6�>�N1��6#�%%#�6�>1$N6�N�?$/ �6#' 6�5�  

11) �6%Q/O16/6%N2%>#O�NR�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 1.64 R#N
Nค$Q/O16/6%N2%>#O�NR�NR�N1>��%?$R Q���4�?PN�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 98.36 Q/O16/6%N2%>#O�NR�N
R�N1>��%?$R P�$%O1$'4 100.00 N2%>#2#B�R %Q/OR�NR�N1>��%?$R N�N� !O6�4'6$P�% �1%4N O� �%4�>� Q�$N6�6� 
Q�/#N1� �4Rค%O/1# �#>Q� O'4O/�O�� O'4%O1$'4 40.00 N2%>#�Q 6/#5�Q/OR�NR�N1>��%?$R N�N� �Q 6/#5��6�
/$/��'O/$ �Q 6/#5��6��5��'R#O �Q 6/#5��6�$62C� O'4�Q 6/#5��6�R2ON�A1� �6#' 6�5�  

12) �6%%5�16/�O1��5�R�N�N/$  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 91.80 N�1�%�%
%5�16O'4�5�/6N1� O'4%O1$'4 19.67 /�N/$�6�%6��6%#62�5�2�B� �5Q��?QN�1�%�%%5�16R�NR�N1>��%?$R�?P�N/$
P�$�6%O$�R�NR�N1>��%?$R�?P�N/$11� O'4Q/O2#B�R %�>� N�N� !O6�4'6$P�% O'4�1%4N O�  

13) �6%�5�� 6P%�N%A1�O$�2 6/%5�R�NR�N1>��%?$R�?P�N/$  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  
%O1$'4 93.44 #?P%�N%A1�O$�2 6/%5�R�NR�N1>��%?$R�?P�N/$ %1�'�#6 %O1$'4 4.92 R#N#?P%�N%A1�O$�N'?Q$� 
R�NR�N1>��%?$R�?P�N/$ O'4%O1$'4 1.64 #?�6%Q�O2BN#R�NO$�R�NR�N1>��%?$R�?P�N/$ �6#' 6�5�  

14) �6%� 6/5ค�?��O1��5�P%ค  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 77.05 R#NNค$� 6
/5ค�?��O1��5�P%ค N�AP1��6�N�1��%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N� 6R�N26/N�O6#6N'?Q$�N'$ %1�'�#6 %O1$'4 
18.03 � 6/5ค�?��O1��5�P%ค�6#P�%O�%#�1��%#�0B25�/R O'4%O1$'4 4.92 � 6/5ค�?��O1��5�P%คN AP1�O1��5�
P%ค%4�6��6#ค 625P��1�25�/O �$R �6#' 6�5� P�$�6%� 6/5ค�?�O'4%5�16R�NR�N1>��%?$R�1�N�1�%�% %O1$'4 
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19.67 � 6P�$N�O6/�O6�?P R�OO�N N�O6/�O6�?P�0B25�/R 1626�0B25�/R O'4N�O6/�O6�?P�%>15� O'4%O1$'4 14.75 
N�1�%�%� 6/5ค�?�N1� �6#' 6�5�  
 

�@#@��?Pั4.8ั�O1#C'N�?P$/�5�2"6 �6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�% 
N = 61 

�Oอ!CลN�?P"/�?��@#Nล?Q"�R�NR�Nอ>��#?"์�อ�N�1�#�# � @�/�ั(ค�) #Oอ"ล> 
�#>N ��@#Nล?Q"�R�NR�Nอ>��#?"์   

�@#Nล?Q"��Nอ-O!Nั�?��B์R�NR�Nอ>��#?"์ัN�APอ�ล>�ลC�R�N� @ห�N@"ั(�?/) 10 16.39 

�P 6�/N6 10  5 50.00 

11-20 4 40.00 

#6��/N6 20 1 10.00 

คN6�P 62B� =  10 �5/       คN62C�2B� = 50 �5/  
คN6N�'?P$ =  17.50 �5/    2N/�N�?P$�N��#6�%�6� = 12.810 

�@#Nล?Q"�ลC�R�N�@�#>">R�NR�N2@/ั(�?/) 5 8.20 
20 4 80.00 

50 1 20.00 

คN6�P 62B� =  20 �5/         คN62C�2B� =  50 �5/  
คN6N�'?P$ =  26.00 �5/     2N/�N�?P$�N��#6�%�6� = 16.021 

�@#Nล?Q"�R�NR�N#>">R�Nั(�?/) 51 83.61 
1-10 15 29.41 

11-20 23 45.10 

21-30 7 13.73 

31-40 1 1.96 

#6��/N6 40 5 9.80 

คN6�P 62B� =  2 �5/               คN62C�2B� =  2,000 �5/  
คN6N�'?P$ =  210 �5/          2N/�N�?P$�N��#6�%�6� =  508.490 

#>">N/ล@Q��@#Nล?Q"�R�NR�Nอ>��#?"์ั(�?)ั   

1-2 36 59.02 

3-4 16 26.23 

5-7 7 11.48 

คN6�P 62B� =  1 �?      คN62C�2B� = 7 �?  
คN6N�'?P$ =  2.47 �?   2N/�N�?P$�N��#6�%�6� = 1.460 
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�@#@��?Pั4.8ั(�N1) 
�Oอ!CลN�?P"/�?�2 @��@#Nล?Q"�R�NR�Nอ>��#?"์�อ�N�1�#�# � @�/�ั(ค�) #Oอ"ล> 

Nห�B�ล�?P�N@��?�2>�Q�Nล?Q"�R�NR�Nอ>��#?"์*ั  

�O1��6%1�B%5�1R�%5 $6�%�%%#�6�> 31 50.82 

N AP12B�"6 �1���N1�O'4�CO�%>P"ค 53 86.89 

%6ค62C��/N6�6%�'>�O�����> 22 36.07 

#?�'6��6$�'�'>��?PO�N�1� 30 49.18 

1AP�N (�%>P"ค"6$Q�ค%5/N%A1� O'4N�็�16�? N2%>#2%O6�%6$R�O)  4 6.56 

�@#R�O#?�!@�#�@�N�1�#อ>��#?"์   

#6�%�6� 11%R�6�>�R�$O'��R <Organic Thailand= 16 26.23 

#6�%�6�Q��O1��>P� 3 4.92 

%5�%1���N1�  6 9.84 

1AP�N (� 6'5�%1$AP�#6�%�6��0B25�/R1>��%?$R �1��%#�0B25�/R)  38 62.30 

�@#�อ#?�#อ�!@�#�@�N�1�#อ>��#?"์ั  

$AP��1%5�%1��O/$��N1� ($AP��1%5�%1�%6$�Bคค') 15 24.59 

$AP��1%5�%1�P�$�'BN# (%5�%1�O��#?2N/�%N/#/�'BN#N�1�%�%)  48 78.69 

#C�O���@#Nล?Q"�R�NR�Nอ>��#?"์*   

O��1>2%4 (N�็�N�O6�1�!6%R#) 18 29.51 

O��2#6�>�  44 72.13 

- �'BN#�CON'?Q$�R�NR�N1>��%?$RQ� AQ��?P 43 97.73 

- Pค%��6%/'/� 1 2.27 

ล?�1�>�@#Nล?Q"�R�NR�Nอ>��#?"์*   

Nล?Q"��ลNอ"Q�P#�N#Aอ�ั(�?//�AQ��?Pั1ั�@#@�N!�#)ั 24 39.34 

1-2 14 58.33 

3-4 4 16.67 

5-6 6 25.00 

คN6�P 62B� =  1 �5// AQ��?P 1 �%.#.       คN62C�2B� =  6 �5// AQ��?P 1 �%.#.         

คN6N�'?P$ =  2.27 �5// AQ��?P 1 �%.#.    2N/�N�?P$�N��#6�%�6� = 1.687  

Nล?Q"��ลNอ"ล@�ั!?P#�N#Aอ�ั(�@#@�N!�#/R�NR�Nั1ั�?/)ั 43 70.49 

�O1$�/N6 5  31 72.09 

6-10  8 18.60 

#6��/N6 10  4 9.30 

คN6�P 62B� =  0.25 �6%6�N#�%/R�NR�N 1 �5/   คN62C�2B� =  20 �6%6�N#�%/R�NR�N 1 �5/    
คN6N�'?P$ =  4.98 �6%6�N#�%/R�NR�N 1 �5/    2N/�N�?P$�N��#6�%�6� =  5.480 
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�@#@��?Pั4.8ั(�N1) 
�Oอ!CลN�?P"/�?�2 @��@#Nล?Q"�R�NR�Nอ>��#?"์�อ�N�1�#�# � @�/�ั(ค�) #Oอ"ล> 

OหลN��Q @2 @ห#?�Nล?Q"�R�NR�Nอ>��#?"์*ั   

�Q 6�� 15 24.59 

' 6/O/$ /�1� ค'1� �@� 7 11.48 

�Q 6�N1 (�N1�6�6' �N1�Q 6�B�N1�) 25 40.98 

�Q 6�%4�6 40 65.57 

/>�?�@#QหO�Q @O�NR�NR�Nอ>��#?"์*   

�5�/6�Q 62416�Q2N%6�/%A1"6��41AP�N �5Q��>Q�R/OQ/O�>��'1�N/'6 46 75.41 

�5�/6�Q 62416�Q/OR�N�>� O�NR#N�5Q��>Q��'1�N/'6 14 22.95 

Q/OR�N/6�Q 6�>�N1�  1 1.64 

#C�O���@#QหOอ@ห@#R�NR�Nอ>��#?"์ 

�'N1$Q/O/6�>�N1��6#�%%#�6�>1$N6�N�?$/  1 1.64 

�'N1$Q/O/6�>�N1��6#�%%#�6�> O'O/N2%>#16/6% N�O6-N$O� 57 93.44 

Q/O�>�16/6%1$N6�N�?$/ P�$R#N�'N1$Q/O/6�>�N1��6#�%%#�6�>  3 4.92 

�@#QหOอ@ห@#N2#>!O�NR�NR�Nอ>��#?"์ั   

R#NNค$ 1 1.64 

Nค$ (�1�R�O#6��/N6 1 �O1)  60 98.36 

- 2#B�R %  60 100.00 

- �Q 6/#5��N6�N  24 40.00 

�@##?�1@/�Oอ��?�R�N�N/"*ั  

� 6N1�/�5�/6N1�  56 91.80 

/�N/$�6�%6��6%2�5�2�B� 12 19.67 

�@#�?�� @P#�N#Aอ�O"�2 @ห#?�R�NR�Nอ>��#?"์�?P�N/"ั   

R#N#?P%�N%A1�O$� 3 4.92 

#?P%�N%A1�O$� 57 93.44 

1AP�N (2BN#R�N)  1 1.64 

�@#� @/?ค�?��Oอ��?�P#คั   

� 6/5ค�?��O1��5�P%ค�6#P�%O�%#�1��%#�0B25�/R  11 18.03 

� 6/5ค�?��O1��5�P%คN AP1�O1��5�P%ค%4�6��6#ค 625P��1� 
25�/O �$R 

3 
4.92 

R#NNค$� 6N'$  47 77.05 

�CO�?P� @/?ค�?�Oล>#?�1@R�NR�Nอ>��#?"์N!APอ!?อ@�@#�N/"*  

N�O6/�O6�?P (N�O6/�O6�?P�0B25�/R 1626�0B25�/R N�O6/�O6�?P�%>15�) 12 19.67 

N�1�%�%� 6N�>��6%N1� 9 14.75 

/#6$N/�B: N�1�%�%�1�R�O#6��/N6 1 �O1   
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1.2.3ั�@#Nล?Q"�R�NR�Nอ>��#?"์�@!!@�#�@�2>�คO@N�1�#ัN�1�#อ>��#?"์ัNลN!ั2:ั�0B2?�/์อ>��#?"์ 
�'�6��6%0@�16 �/N6 N�1�%�%#?�6%�5��6%Q��6%N'?Q$�R�NR�N�6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% 
N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R �5Q� 7 �O6� �%4�1��O/$  AQ��?PN'?Q$�25�/R �6%�5��6%!6%R# O/'N��?P#6
�1�25�/R 16/6%25�/R �6%�5��6%�O6�2B�"6 25�/R �6%�5��6%#C'25�/RO'4�1�N2?$  O'4�6%���5��@��O1#C' 
P�$ �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�#6��?P2B� 3 

�%4N�O� R�OO�N �6%�5��6%#C'25�/RO'4�1�N2?$ (×̅=4.62) %1�'�#6  AQ��?PN'?Q$�25�/R (×̅=4.54) �6%�5��6%
!6%R# (×̅=4.51) O'4�6%�5��6%�O6�2B�"6 25�/R: �5P/R� (×̅=4.47) #?%4�5��6%��>�5�>Q�%4�5�#6� 1 

�%4N�O� คA1 16/6%25�/R (×̅=4.20) #?%4�5��6%��>�5�>Q�%4�5��6��'6� 2 �%4N�O� คA1 O/'N��?P#6�1�
25�/R (×̅=3.12) O'4�6%���5��@��O1#C' (×̅=2.80) P�$Q��6%�5��6%�O6�2B�"6 25�/R: �6%Q�O$6O'4
26%Nค#? #?%4�5��6%��>�5�>�O1$�?P2B� (×̅=1.43) P�$N#AP1 >�6%�6%6$�%4N�O�#?%6$'4N1?$� �5��?Q  

1)ั�AQ��?PNล?Q"�2?�/์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6#%4N�?$�#6�%�6� 

�0B25�/R1>��%?$R�O6� AQ��?PN'?Q$�25�/RQ�"6 %/#1$CNQ�%4�5�#6��?P2B� (×̅=4.54) P�$N#AP1 >�6%�6%6$'4N1?$�
Q�O�N'4�%4N�O�$N1$  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6#%4N�?$�#6�%�6��0B25�/R1>��%?$RQ�%4�5�#6�
�?P2B� 6 �%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6�#6�R��O1$ (�6%6��?P 4.9) �5��?Q #?�6%O$�N'?Q$�25�/RO�N'4��>�
1$N6��5�N�� (×̅=4.75) %1�'�#6  AQ��?PN'?Q$�25�/R#?�1�N���5�N���5Q��%>N/� AQ��?PQ�'ONค?$� �O1��5��6%
��N�A้1��1�26%Nค#? O'4#?�6%�'C� A� O'4N'?Q$�25�/R�?PN�AQ1�C'�5� (×̅=4.72) N�N6�5� #? A��O1��>P� 2#B�R % 
/�O6 AQ�N#A1� /%A1/5� A� N�็�O/'N�16/6%25�/R�%%#�6�> O'4Q�!6%R##? AQ��?PN�>�P'N�Q/O25�/RR�O11�� 6'5��6$ 
(×̅=4.67) N�N6�5� O'4 AQ��?PN'?Q$�25�/R1$CNQ��?P�Q 6�N/#R#N�@� R#N#?�%4/5�>�Q 6�N/#�5� (×̅=4.58) �6#' 6�5�  
#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�#6� 2 �%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6�#6�R�
�O1$ �5��?Q #?O/'N��?P1$CN1605$�1�25�/R�%%#�6�> N�N� /�1� O#'� �'/� (×̅=4.20) O'4 AQ��?PN'?Q$�25�/R�5Q�1$CN
/N6��6��B#�� ��� P%��6� O'4O/'N��'>�25�/R�5P/R� (×̅=3.97)  

2)ั�@#�?��@#�@#์! N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R
1>��%?$R�O6��6%�5��6%!6%R#Q�"6 %/#1$CNQ�%4�5�#6��?P2B� (×̅=4.51) P�$N#AP1 >�6%�6%6$'4N1?$�Q�O�N
'4�%4N�O�$N1$  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6#%4N�?$�#6�%�6��0B25�/R1>��%?$RQ�%4�5�#6��?P2B� 7 
�%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6�#6�R��O1$ (�6%6��?P 4.9) �5��?Q P%�N%A1�N'?Q$�R�NO$�11��N6�/6��6�
�5/�O6� (×̅=4.88) %1�'�#6 "6$Q�P%�N%A1�#? AQ��?PN ?$� 1Q/OR�N1$CN1$N6�1>2%4 O'4#?� 6�/�%5�R�NN ?$� 1
�5��6%/6�R�N�1�O#NR�N (×̅=4.67) N�N6�5� Q��%�?N'?Q$�R�NO���'N1$�4�O1�#?/'5�ค626#6%��5�O���5��� 
(×̅=4.66) ��6�O'4� 6�/�%5��1�#?N ?$� 1O'4N/#642#�5�� 6�/�R�N (×̅=4.62)  AQ�P%�N%A1�N�็� AQ�O�O� 
N�N� �>�15�O�O� N�็��O� (×̅=4.61) O'4 AQ�P%�N%A1�ค'B#�O/$/52�B%1� AQ� N�N� O�'� �?QN'AP1$ !6� /%A1/�O6 
(×̅=4.46) �6#' 6�5� O'4#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�#6� 1 �%4N�O� คA1 Q�O
/'1�R!Q��6%Q/OO2�2/N6�O�NR�NR�N (×̅=3.48) �6#' 6�5� 
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3)ัOหลN��?P!@�อ�2?�/์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6##6�%�6� 

�0B25�/R1>��%?$R�O6�O/'N��?P#6�1�25�/RQ�"6 %/#1$CNQ�%4�5��6��'6� (×̅=3.12) P�$N#AP1 >�6%�6
%6$'4N1?$�Q�O�N'4�%4N�O�$N1$ (�6%6��?P 4.9)  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R
1>��%?$RQ�%4�5�#6� คA1 #?�6%O$�N'?Q$�%4//N6�R�N�5P/R�O'4R�N1>��%?$RQ�!6%R#N�?$/�5� (×̅=3.89) #?%4�5�
�6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5��6��'6� คA1 �6%� 6R�NN�O6N'?Q$�O��1>��%?$R�O1�� 6N�O6
N#AP1!ั�11��6�R�NR#NN�>� 3 /5� (×̅=2.89) O'4#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5��O1$ 
คA1 R�N�5Q�/#�N�>��6� N1O#NR�NQ�!6%R#��N1� (×̅=2.59)  

4)ัอ@ห@#2?�/์  N�1�%�%�CO N'?Q $�R�N R�N1>��%?$R#?%4�5��6%��>�5�>�6##6�%�6� 

�0B25�/R1>��%?$R�O6�16/6%25�/RQ�"6 %/#1$CNQ�%4�5�#6� (×̅=4.20) P�$N#AP1 >�6%�6%6$'4N1?$�Q�O�N'4
�%4N�O�$N1$  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�#6�#6��?P2B� 5 
�%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6�#6�R��O1$ (�6%6��?P 4.9) �5��?Q #?�6%�'>�16/6%R�NQ�ON1�Q�!6%R# 
(×̅=4.74) %1�'�#6 #?�Q 62416�Q/O25�/R�>�1$N6�N ?$� 1 (×̅=4.69) 16/6%R�N�?PQ�O�O1�#6�6�O/'N�
�%%#�6�>�?PR#NQ�O26%Nค#? (16/6%1>��%?$R) 100% (×̅=4.61) R#NQ�O$6��>�?/�4 $6�5��>� $6O���ั��B�5� 
26%N%N��6%N�%>�N�>�P� /%A126%1AP�Q�Q�16/6%R�N (×̅=4.49) O'4#?�6%Q�O�Q 6/#5��?/"6  2#B�R % �2#'�
R�Q�16/6%R�NO'4�Q 6 (×̅=4.33) �6#' 6�5� 2 6/%5�%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�
�6��'6� 2 �%4N�O� คA1 �%�?�?P/616/6%�6�O/'N��%%#�6�>�?PR#NQ�O26%Nค#?R�O 100% #?�6%Q�O16/6%�6�
O/'N��%%#�6�>�?PR#NQ�O26%Nค#? (16/6%1>��%?$R) 1$N6��O1$ 80% �1�2C�%16/6% (×̅=3.33) O'4Q�%4$4
�%5�N�'?P$�Q�O16/6%�6�O/'N��%%#�6�>�?PR#NQ�O26%Nค#? (16/6%1>��%?$R) 1$N6��O1$ 65% �1�2C�%16/6% 
(×̅=3.23)  

5)ั�@#�?��@#�O@�2B� @�2?�/์ � 6O��N�็��6%�5��6%2B�"6 25�/R�5P/R�O'4�6%Q�O$6
O'426%Nค#?   

(1)ั�@#�?��@#2B� @�2?�/์�?P/R� N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6#
#6�%�6��0B25�/R1>��%?$R�O6��6%�5��6%2B�"6 25�/R�5P/R�Q�"6 %/#1$CNQ�%4�5�#6��?P2B� (×̅=4.47) P�$
N#AP1 >�6%�6%6$'4N1?$�Q�O�N'4�%4N�O�$N1$  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R
1>��%?$RQ�%4�5�#6��?P2B� 5 �%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6�#6�R��O1$ (�6%6��?P 4.9) �5��?Q Q�O A�
2#B�R %/%A1$6O��P�%6�N AP1�6%%5�16P%ค (×̅=4.72) %1�'�#6 � 6�/�R�NN/#642#�5� AQ��?PN'?Q$� 
R#NO115� (×̅=4.69) O$�R�N�N/$11��6��C�O'4�5�Q/O1$CNQ�P%�N%A1��?PN/#642#N AP1�6%%5�16 (×̅=4.67) 
�'N1$Q/OR�NR�O11�� 6'5�O'4คBO$N�?P$ (×̅=4.66) Q�O A�2#B�R %/%A1$6O��P�%6�Q��6%� 6�5� $6�>"6$Q�
O'4 $6�>"6$�1� (×̅=4.62) �6#' 6�5� O'4#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�#6� 
คA1 Q�O26%2�5��6�2#B�R %� 6�5�O#'�/5� O'4$B� (×̅=3.44)  

(2)ั�@#Q�O"@Oล>2@#Nค!? N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6#
#6�%�6��0B25�/R1>��%?$R�O6��6%Q�O$6O'426%Nค#?Q�"6 %/#1$CNQ�%4�5��O1$�?P2B� (×̅=1.43) N#AP1 >�6%�6
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%6$'4N1?$�Q�O�N'4�%4N�O�$N1$  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$RQ�%4�5�
�O1$�?P2B��5Q� 4 �%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6��O1$R�#6� (�6%6��?P 4.9) �5��?Q Q�O26%Nค#?O'4$6 
�N6O#'�� 6�5�O#'�/5� O'4$B� (×̅=1.20) Q�O26%Nค#?� 6�5� $6�>"6$�1�Q�N'O6R�N (×̅=1.34) Q�O$6O��
�ั��B�5� $6��>�?/�4 N AP1%5�16P%คO'4� 6�5� $6�>"6$Q� (×̅=1.69) O'4#?�6%�5��6�R�N (×̅=1.49)  

6)ั�@#�?��@#!Cล2?�/์Oล>�อ�N2?" N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6#
#6�%�6��0B25�/R1>��%?$R�O6��6%�5��6%#C'25�/RO'4�1�N2?$Q�"6 %/#1$CNQ�%4�5�#6��?P2B� (×̅=4.61) 
P�$N#AP1 >�6%�6%6$'4N1?$�Q�O�N'4�%4N�O�$N1$ (�6%6��?P 4.9)  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6#
#6�%�6��0B25�/R1>��%?$RQ�%4�5�#6��?P2B� N%?$�' 6�5�คN6N�'?P$�6�#6�R��O1$ �5��?Q � 6#C'R�NR�� 6N�็��BO$
/#5�/Q2N�O�R#O (×̅=4.77) %1�'�#6 #?�6%� 6�5�N01N/'A1 N�N� 16/6%�?P/'N�/� �Q 6�>Q��6��6%N'?Q$�R�N#?�6%
�>Q�1$N6�N/#642# (×̅=4.56) O'4� 6�5�R�N�6$P�$�6%N�6/�ั� (×̅=4.52) �6#' 6�5�  

7)ั�@#���?��@��Oอ!Cล  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?%4�5��6%��>�5�>�6#
#6�%�6��0B25�/R1>��%?$R�O6��6%���5��@��O1#C'Q�"6 %/#1$CNQ�%4�5��6��'6� (×̅=2.80) P�$N#AP1
 >�6%�6%6$'4N1?$�Q�O�N'4�%4N�O�$N1$  �/N6 N�1�%�%#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$R
Q�%4�5��6��'6� 6 �%4N�O� P�$N%?$�' 6�5�คN6N�'?P$�6�#6�R��O1$ (�6%6��?P 4.9) �5��?Q �6%���5��@�
O/'N��?P#6�1�25�/R (×̅=3.39) %1�'�#6 �6%���5��@�O/'N��?P#6�1�16/6%25�/R (×̅=3.34) �6%���5��@�
�'�'>�R�N (×̅=3.00) �6%���5��@��6%�6$�'�'>� N�N� 'C�R�N R�N26/ R�NR�N O#NR�N �'�%4/6� N�็��O�  
(×̅=2.93) �6%���5��@�� 6�/�'C�R�N (×̅=2.82) O'4�6%���5��@��6%�AQ1�ั��5$�6%�'>� N�N� 'C�R�N 16/6%
R�N /5ค�?� $6 1B��%�R�N6�N N�็��O� (×̅=2.64) �6#' 6�5� O'4#?%4�5��6%��>�5�>�6##6�%�6��0B25�/R
1>��%?$R Q�%4�5��O1$ 2 �%4N�O� R�OO�N �6%���5��@��6%Q/O$6Q�R�N (×̅=2.44) O'4�6%���5��@��6%� 6
/5ค�?� (×̅=1.84) �6#' 6�5�  
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�@#@��?Pั4.9ั%4�5��6%��>�5�>�6##6�%�6��0B25�/R1>��%?$R�1�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  
N=61 

�Oอ� @ห�� 

#>�?��@#��>�?�> 
(� @�/�/#Oอ"ล>) ×̅ 

(S.D) ค/@!ห!@" อ?��?� 

�Oอ"�?P2B� �Oอ" �@��ล@� !@� !@��?P2B� 

1.ั�AQ��?PNล?Q"�2?�/์ั      4.54 
(0.540) 

!@��?P2B�ั  

1.1  AQ��?PN'?Q$�25�/R�5Q�1$CN/N6��6�
�B#�� ��� P%��6� O'4O/'N��'>�25�/R
�5P/R� 

7 

(11.5) 
0 

(0.0) 
8 

(13.1) 
19 

(31.1) 
27 

(44.3) 
3.97 

(1.278) 
#6� 8 

1.2  AQ��?PN'?Q$�25�/R1$CNQ��?P�Q 6�N/#
R#N�@� R#N#?�%4/5�>�Q 6�N/#�5� 

3 

(4.9) 
1 

(1.6) 
0 

(0.0) 
10 

(16.4) 
47 

(77.0) 
4.59 

(0.973) 
#6��?P2B� 6 

1.3  AQ��?PN'?Q$�25�/R#?�1�N��
�5�N���5Q��%>N/� AQ��?PQ�'ONค?$� �O1��5�
�6%��N�A้1��1�26%Nค#? 

1 

(1.6) 
0 

(0.0) 
2 

(3.3) 
9 

(14.8) 
49 

(80.3) 
4.72 

(0.686) 
#6��?P2B� 2 

1.4 Q�!6%R##? AQ��?PN�>�P'N�Q/O25�/R
R�O11�� 6'5��6$ 

1 

(1.6) 
1 

(1.6) 
1 

(1.6) 
11 

(18.0) 
47 

(77.0) 
4.67 

(0.747) 
#6��?P2B� 4 

1.5 #?�6%O$�N'?Q$�25�/RO�N'4��>�
1$N6��5�N�� 

0 

(0.0) 
0 

(0.0) 
4 

(6.6) 
7 

(11.5) 
50 

(82.0) 
4.75 

(0.567) 
#6��?P2B� 1 

1.6 #?�6%�'C� A� O'4N'?Q$�25�/R�?P
N�AQ1�C'�5� 

0 

(0.0) 
0 

(0.0) 
2 

(3.3) 
13 

(21.3) 
46 

(75.4) 
4.72 

(0.521) 
#6��?P2B� 2 

1.7 #? A��O1��>P� 2#B�R % /�O6
 AQ�N#A1� /%A1/5� A� N�็�O/'N�16/6%25�/R
�%%#�6�> 

1 

(1.6) 
0 

(0.0) 
1 

(1.6) 
14 

(23.0) 
45 

(73.8) 
4.67 

(0.676) 
#6��?P2B� 4 

1.8 #?O/'N��?P1$CN1605$�1�25�/R
�%%#�6�> N�N� /�1� O#'� �'/� 

6 

(9.8) 
2 

(3.3) 
4 

(6.6) 
10 

(16.4) 
39 

(63.9) 
4.21 

(1.305) 
#6� 7 

2.ั�@#�?��@#�@#์!ั      4.51 

(0.458) 
!@��?P2B�  

2.1 P%�N%A1�N'?Q$�R�NO$�11�
�N6�/6��6��5/�O6� 

0 

(0.0) 
0 

(0.0) 
0 

(0.0) 
7 

(11.5) 
54 

(88.5) 
4.88 

(0.321) 
#6��?P2B� 1 

2.2 "6$Q�P%�N%A1�#? AQ��?PN ?$� 1
Q/OR�N1$CN1$N6�1>2%4  

1 

(1.6) 
0 

(0.0) 
0 

(0.0) 
16 

(26.2) 
44 

(72.1) 
4.67 

(0.651) 
#6��?P2B� 2 

2.3 Q��%�?N'?Q$�R�NO���'N1$
�4�O1�#?/'5�ค626#6%��5�O���5���  

2 

(3.3) 
0 

(0.0) 
0 

(0.0) 
13 

(21.3) 
46 

(75.4) 
4.66 

(0.793) 
#6��?P2B� 4 

2.4  AQ�P%�N%A1�N�็� AQ�O�O� N�N� 
�>�15�O�O� N�็��O�  

0 

(0.0) 
1 

(1.6) 
4 

(6.6) 
13 

(21.3) 
43 

(70.5) 
4.61 

(0.689) 
#6��?P2B� 6 

2.5  AQ�P%�N%A1�ค'B#�O/$/52�B%1�
 AQ� N�N� O�'� �?QN'AP1$ !6� /%A1/�O6  

3 

(4.9) 
0 

(0.0) 
2 

(3.3) 
17 

(27.9) 
39 

(63.9) 
4.46 

(0.959) 
#6��?P2B� 7 
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�@#@��?Pั4.9ั(�N1) 

�Oอ� @ห�� 

#>�?��@#��>�?�> 
(� @�/�/#Oอ"ล>) ×̅ 

(S.D) ค/@!ห!@" อ?��?� 

�Oอ"�?P2B� �Oอ" �@��ล@� !@� !@��?P2B� 

2.6 ��6�O'4� 6�/�%5��1�#?
N ?$� 1O'4N/#642#�5�� 6�/�R�N 

0 

(0.0) 
0 

(0.0) 
5 

(8.2) 
13 

(21.3) 
43 

(70.5) 
4.62 

(0.637) 
#6��?P2B� 5 

2.7 #?� 6�/�%5�R�NN ?$� 1�5��6%
/6�R�N�1�O#NR�N  

0 

(0.0) 
0 

(0.0) 
4 

(6.6) 
12 

(19.7) 
45 

(73.8) 
4.67 

(0.598) 
#6��?P2B� 2 

2.8 Q�O/'1�R!Q��6%Q/OO2�2/N6�
O�NR�NR�N  

19 

(31.1) 
0 

(0.0) 
4 

(6.6) 
9 

(14.8) 
29 

(47.5) 
3.48 

(1.766) 
#6� 8 

3.ัOหลN��?P!@�อ�2?�/์      3.12 

(1.373) 
�@��ล@�  

3.1 R�N�5Q�/#�N�>��6� N1O#NR�N 
Q�!6%R#��N1�  

32 

(52.5) 
2 

(3.3) 
4 

(6.6) 
5 

(8.2) 
18 

(29.5) 
2.59 

(1.811) 
�O1$ 3 

3.2 #?�6%O$�N'?Q$�%4//N6� 
R�N�5P/R�O'4R�N1>��%?$RQ�!6%R#N�?$/�5�  

13 

(21.3) 
0 

(0.0) 
4 

(6.6) 
8 

(13.1) 
36 

(59.0) 
3.89 

(1.613) 
#6� 1 

3.3 �6%� 6R�NN�O6N'?Q$�O��1>��%?$R
�O1�� 6N�O6N#AP1!ั�11��6�R�NR#NN�>� 3 /5�  

26 

(42.6) 
0 

(0.0) 
9 

(14.8) 
7 

(11.5) 
19 

(31.1) 
2.89 

(1.762) 
�6��'6� 2 

4.ัอ@ห@#2?�/์ั      4.20 
(0.739) 

!@�  

4.1 16/6%R�N�?PQ�O�O1�#6�6�O/'N�
�%%#�6�>�?PR#NQ�O26%Nค#? (16/6%
1>��%?$R) 100% 

0 

(0.0) 
1 

(1.6) 
6 

(9.8) 
9 

(14.8) 
45 

(73.8) 
4.61 

(0.737) 
#6��?P2B� 3 

4.2 Q�%4$4�%5�N�'?P$�Q�O16/6%
�6�O/'N��%%#�6�>�?PR#NQ�O26%Nค#? 
(16/6%1>��%?$R) 1$N6��O1$ 65% �1�
2C�%16/6%  

21 

(34.4) 
2 

(3.3) 
3 

(4.9) 
12 

(19.7) 
23 

(37.7) 
3.23 

(1.764) 
�6��'6� 7 

4.3 �%�?�?P/616/6%�6�O/'N�
�%%#�6�>�?PR#NQ�O26%Nค#?R�O 100%  
#?�6%Q�O16/6%�6�O/'N��%%#�6�>�?PR#NQ�O
26%Nค#? (16/6%1>��%?$R) 1$N6��O1$ 80% 
�1�2C�%16/6%  

20 

(32.8) 
2 

(3.3) 
2 

(3.3) 
12 

(19.7) 
25 

(41.0) 
3.33 

(1.767) 
�6��'6� 6 

4.4 #?�6%�'>�16/6%R�NQ�ON1� 
Q�!6%R#  

2 

(3.3) 
0 

(0.0) 
1 

(1.6) 
6 

(9.8) 
52 

(85.2) 
4.74 

(0.794) 
#6��?P2B� 1 

4.5 R#NQ�O$6��>�?/�4 $6�5��>� $6
O���ั��B�5� 26%N%N��6%N�%>�N�>�P� 
/%A126%1AP�Q�Q�16/6%R�N 

7 

(11.5) 
0 

(0.0) 
0 

(0.0) 
3 

(4.9) 
51 

(83.6) 
4.49 

(1.286) 
#6��?P2B� 4 

4.6 #?�6%Q�O�Q 6/#5��?/"6  
2#B�R % �2#'�R�Q�16/6%R�NO'4�Q 6  

7 

(11.5) 
1 

(1.6) 
1 

(1.6) 
8 

(13.1) 
44 

(72.1) 
4.33 

(1.326) 
#6��?P2B� 5 
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�@#@��?Pั4.9ั(�N1) 

�Oอ� @ห�� 

#>�?��@#��>�?�> 
(� @�/�/#Oอ"ล>) ×̅ 

(S.D) ค/@!ห!@" อ?��?� 

�Oอ"�?P2B� �Oอ" �@��ล@� !@� !@��?P2B� 

4.7 #?�Q 62416�Q/O25�/R�>�1$N6�
N ?$� 1  

3 

(4.9) 
0 

(0.0) 
0 

(0.0) 
7 

(11.5) 
51 

(83.6) 
4.69 

(0.905) 
#6��?P2B� 2 

5.ั�@#�?��@#�O@�2B� @�2?�/์ั         

ัั5.1ั�@#�?��@#� @�2?�/์�?P/R�      4.47 
(0.554) 

!@��?P2B�  

5.1 �'N1$Q/OR�NR�O11�� 6'5�O'4
คBO$N�?P$ 

1 

(1.6) 
0 

(0.0) 
0 

(0.0) 
17 

(27.9) 
43 

(70.5) 
4.66 

(0.655) 
#6��?P2B� 4 

5.2 � 6�/�R�NN/#642#�5� AQ��?P
N'?Q$� R#NO115�  

1 

(1.6) 
0 

(0.0) 
0 

(0.0) 
15 

(24.6) 
46 

(73.8) 
4.69 

(0.647) 
#6��?P2B� 2 

5.3 O$�R�N�N/$11��6��C�O'4�5�
Q/O1$CNQ�P%�N%A1��?PN/#642#N AP1�6%
%5�16  

0 

(0.0) 
0 

(0.0) 
2 

(3.3) 
16 

(26.2) 
43 

(70.5) 
4.67 

(0.539) 
#6��?P2B� 3 

5.4 Q�O A�2#B�R %/%A1$6O��
P�%6�N AP1�6%%5�16P%ค  

1 

(1.6) 
1 

(1.6) 
0 

(0.0) 
10 

(16.4) 
49 

(80.3) 
4.72 

(0.710) 
#6��?P2B� 1 

5.5 Q�O A�2#B�R %/%A1$6O��
P�%6�Q��6%� 6�5� $6�>"6$Q�O'4
 $6�>"6$�1�  

1 

(1.6) 
1 

(1.6) 
1 

(1.6) 
14 

(23.0) 
44 

(72.1) 
4.62 

(0.756) 
#6��?P2B� 5 

5.6 Q�O26%2�5��6�2#B�R %� 6�5�
O#'�/5� O'4$B�  

17 

(27.9) 
3 

(4.9) 
1 

(1.6) 
16 

(26.2) 
24 

(39.3) 
3.44 

(1.688) 
#6� 6 

ัั5.2ั�@#Q�O"@Oล>2@#Nค!?      1.43 
(0.812) 

�Oอ"�?P2B�  

5.7 Q�O$6O���ั��B�5�  
$6��>�?/�4 N AP1%5�16P%คO'4� 6�5�
 $6�>"6$Q�  

49 

(80.3) 
0 

(0.0) 
1 

(1.6) 
4 

(6.6) 
7 

(11.5) 
1.69 

(1.432) 
�O1$�?P2B� 3 

5.8 Q�O26%Nค#?� 6�5� $6�>"6$�1�
Q�N'O6R�N  

55 

(90.2) 
0 

(0.0) 
0 

(0.0) 
3 

(4.9) 
3 

(4.9) 
1.34 

(1.063) 
�O1$�?P2B� 2 

5.9 Q�O26%Nค#?O'4$6�N6O#'�
� 6�5�O#'�/5� O'4$B�  

57 

(93.4) 
1 

(1.6) 
0 

(0.0) 
1 

(1.6) 
2 

(3.3) 
1.20 

(0.813) 
�O1$�?P2B� 1 

5.10 #?�6%�5��6�R�N  53 

(86.9) 
0 

(0.0) 
0 

(0.0) 
2 

(3.3) 
6 

(9.8) 
1.49 

(1.286) 
�O1$�?P2B� 4 

6.ั�@#�?��@#!Cล2?�/์Oล>�อ�N2?"ั      4.61 
(0.530) 

!@��?P2B�  

6.1 � 6#C'R�NR�� 6N�็��BO$/#5�/Q2N
�O�R#O  

0 

(0.0) 
0 

(0.0) 
0 

(0.0) 
14 

(23.0) 
47 

(77.0) 
4.77 

(0.424) 
#6��?P2B� 1 

6.2 #?�6%� 6�5�N01N/'A1 N�N� 
16/6%�?P/'N�/� �Q 6�>Q��6��6%N'?Q$�R�N 
�>Q�1$N6�N/#642#  

0 

(0.0) 
1 

(1.6) 
1 

(1.6) 
22 

(36.1) 
37 

(60.7) 
4.56 

(0.620) 
#6��?P2B� 2 
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�@#@��?Pั4.9ั(�N1) 

�Oอ� @ห�� 

#>�?��@#��>�?�> 
(� @�/�/#Oอ"ล>) ×̅ 

(S.D) ค/@!ห!@" อ?��?� 

�Oอ"�?P2B� �Oอ" �@��ล@� !@� !@��?P2B� 

6.3 � 6�5�R�N�6$P�$�6%N�6/�ั� 3 

(4.9) 
0 

(0.0) 
0 

(0.0) 
17 

(27.9) 
41 

(67.2) 
4.52 

(0.924) 
#6��?P2B� 3 

7.ั�@#���?��@��Oอ!Cล      2.80 
(1.186) 

�@��ล@�  

7.1 �6%���5��@�O/'N��?P#6�1�
25�/R  

14 

(23.0) 
0 

(0.0) 
18 

(29.5) 
6 

(9.8) 
23 

(37.7) 
3.39 

(1.552) 
�6��'6� 1 

7.2 �6%���5��@�O/'N��?P#6�1�
16/6%25�/R  

15 

(24.6) 
0 

(0.0) 
16 

(26.2) 
9 

(14.8) 
21 

(34.4) 
3.34 

(1.559) 
�6��'6� 2 

7.3 �6%���5��@��6%Q/O$6Q�R�N 30 

(49.2) 
3 

(4.9) 
10 

(16.4) 
7 

(11.5) 
11 

(18.0) 
2.44 

(1.608) 
�O1$ 7 

7.4 �6%���5��@��6%� 6/5ค�?�  42 

(68.9) 
2 

(3.3) 
8 

(13.1) 
3 

(4.9) 
6 

(9.8) 
1.84 

(1.381) 
�O1$ 8 

7.5 �6%���5��@��'�'>�R�N 18 

(29.5) 
1 

(1.6) 
22 

(36.1) 
3 

(4.9) 
17 

(27.9) 
3.00 

(1.549) 
�6��'6� 3 

7.6 �6%���5��@�� 6�/�'C�R�N 24 

(39.3) 
1 

(1.6) 
14 

(23.0) 
6 

(9.8) 
16 

(26.2) 
2.82 

(1.658) 
�6��'6� 5 

7.7 �6%���5��@��6%�AQ1�ั��5$�6%
�'>� N�N� 'C�R�N 16/6%R�N /5ค�?� $6 
1B��%�R�N6�N N�็��O�  

25 

(41.0) 
3 

(4.9) 
14 

(23.0) 
7 

(11.5) 
12 

(19.7) 
2.64 

(1.581) 
�6��'6� 6 

7.8 �6%���5��@��6%�6$�'�'>� 
N�N� 'C�R�N R�N26/ R�NR�N O#NR�N�'�%4/6� 
N�็��O�  

20 

(32.8) 
3 

(4.9) 
12 

(19.7) 
13 

(21.3) 
13 

(21.3) 
2.93 

(1.569) 
�6��'6� 4 

 

1.2.4ั�@#�?��@#�ล�ล>�R�NR�Nอ>��#?"์ �6��6%0@�16  �/N6 �'�'>�R�NR�N1>��%?$R�?P�'>�R�OQ�
O�N'4/5��4#?�6%�5��6%Q��O6��N6� N (�6%6��?P 4.10) �5��?Q  

1) �6%� 6ค/6#2416�R�NR�N  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 83.61 #?�6%� 6
ค/6#2416�R�NR�N�N1�� 6/�N6$ P�$�6%Q�O�O62416�O/O�N�O� O'4N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 9.3 

R#N#?�6%� 6ค/6#2416�R�NR�N�N1�� 6/�N6$  
P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 47.54 #?� 6�/�R�NR�N1>��%?$R� 6/�N6$�O1$�/N6 

10 !1��N1/5� %1�'�#6 %O1$'4 26.23 #?� 6�/�R�NR�N1>��%?$R�?P� 6/�N6$ 11-20 !1��N1/5� %O1$'4 6.56 #?
� 6�/�R�NR�N1>��%?$R�?P� 6/�N6$ 501-1,000 !1��N1/5� %O1$'4 3.28 N�N6�5� #?� 6�/�R�NR�N1>��%?$R�?P
� 6/�N6$ 21-30 !1��N1/5� O'4#?� 6�/�R�NR�N1>��%?$R�?P� 6/�N6$#6��/N6 40 !1��N1/5� O'4%O1$'4 1.64 
#?� 6�/�R�NR�N1>��%?$R�?P� 6/�N6$ 100-500 !1��N1/5� �6#' 6�5� O'4N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 
11.48 R#N#?R�NR�N1>��%?$R� 6/�N6$ 
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2) ค5�O$�N�%�R�NR�N  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 78.69 R#N#?�6%O$�
N�%�R�NR�N P�$�6$N�็�R�Nค'4 O'4%O1$'4 14.75 #?�6%O$�N�%�R�NR�NN�็�N�1%R 1 �@�N�1%R 5 O'4N�%� A 

O'4 B    
2 6/%5�%6ค6R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 60.66 �6$R�NR�N  

4 �6��N1!1� %1�'�#6 %O1$'4 14.75 �6$R�NR�N 5 �6��N1!1� %O1$'4 9.84 �6$R�NR�N 7 �6��N1!1� 
O'4%O1$'4 3.28 �6$R�NR�N 6 �6��N1!1� �6#' 6�5�  

3) �6%�5��6%R�NR�N�?P#?ค/6#N2?$/6$ N�N� R�N�B� R�N%O6/ O'4R�N#?'5�1�4�>����>  �/N6 
N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 94.4 � 6R�NR�N1>��%?$R�?PN2?$/6$#6�%>P"คN1�  
 

�@#@��?Pั4.10 �6%�5��6%�'�'>�R�NR�N1>��%?$R�1�N�1�%�% 

N=61 

�@#�?��@#�ล�ล>�R�NR�Nอ>��#?"์�อ�N�1�#�# � @�/�ั(ค�) #Oอ"ล> 
�@#� @ค/@!2>อ@�R�NR�N�Nอ�� @ห�N@"ั   

#?�6%� 6ค/6#2416� (P�$�6%Q�O�O62416�O/O�N�O�)  51 83.61 

R#N#?  3 4.92 

� @�/�R�N�?P� @ห�N@"ั(�อ��Nอ/?�)   

�O1$�/N6 10  29 47.54 

11-20 16 26.23 

21-30 2 3.28 

#6��/N6 40  2 3.28 

100-500 1 1.64 

501-1,000 4 6.56 

R#N#?R�N�6$ 7 11.48 

�@#ค?�O"�N�#�R�NR�Nอ>��#?"์�?P� @ห�N@"ั   

#?�6%O$�N�%�  9 14.75 

R#N#?�6%O$�N�%� (R�Nค'4)  45 73.77 

#@ค@R�NR�NN�ล?P"ั(�@��Nอ�อ�)ั   

4 35 60.66 

5 9 14.75 

6 2 3.28 

7 6 9.84 

�@#�?��@#R�NR�N�?P!?ค/@!N2?"ห@"ั(�B�ั#O@/ัล?�1�>�>����>)ั   

�%>P"คN1�  56 91.80 

� 6�Q 6/#5� 1 1.64 
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1.3ั#>�?��ล@"�Q @ �>��%%#%4�5��'6$�Q 6Q�/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R R�OO�N �6% 

� 6/�N6$�'�'>�R�NR�N1>��%?$R �'�6��6%0@�16 �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 93.44 #?�6%
� 6/�N6$R�NR�N1>��%?$R O'4%O1$'4 6.56 R#N#?�6%� 6/�N6$R�NR�N1>��%?$R N�AP1��6�#?� 6�/�R�NR#N#6��5� �@�Q�O
�%>P"คQ�ค%5/N%A1� (�6%6��?P 4.11) 

1.3.1ั#C�O���@#� @ห�N@"R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R�?P#?�6%� 6/�N6$R�NR�N
1>��%?$R �4� 6N�>��6% 2 %C�O�� คA1 �6%� 6/�N6$R�NR�N1>��%?$RP�$R#N�N6�ค��'6�O'4�6%� 6/�N6$R�NR�N
1>��%?$RP�$�N6�ค��'6��6��6%�'6�  

1)ั�@#� @ห�N@"R�NR�Nอ>��#?"์P�"R!N�N@�ค��ล@�  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R 
%O1$'4 24.56 �6$R�NR�N1>��%?$RP�$R#N�N6�ค��'6� �@P�N�็��6%� 6/�N6$Q�%C�O���6%�6$�'?�Q/O�5�
�CO�%>P"ค�5P/R� P�$� 6R�NR�N1>��%?$RR��6$�?P�'6�2�Q�/#CN�O6� (%O1$'4 12.28) %1�'�#6 �6$R�NR�N1>��%?$R
/�O6!6%R# (%O1$'4 10.53) O'4�6$R�NR�N1>��%?$R�?P�'6��5�2?N�?$/ 'C�คO6�?P� 6 MOU %O6�16/6%O'4
P%�O%#�?P�6$16/6%1>��%?$R %/#�5Q��6$Q/O�5�'C�คO6�?P25P��AQ1P�$�%��N6��N1��6�11�R'�R (%O1$'4 1.75) 
�6#' 6�5� 

2)ั�@#� @ห�N@"R�NR�Nอ>��#?"์P�"�N@�ค��ล@��@��@#�ล@�  �/N6 N�1�%�%�CON'?Q$� 
R�NR�N1>��%?$R%O1$'4 75.54 �6$R�NR�N1>��%?$RP�$�N6�ค��'6� �@P�N�็��6%� 6/�N6$Q�%C�O���6%�6$2N� #?
�6%�6$R�NR�N1>��%?$RQ/O�5��'BN#/>26/�>��B#��O'4Pค%��6%/'/� (%O1$'4 42.11) #6��?P2B� %1�'�#6คA1 
�%>15��?P%5��AQ1�'�'>�N�1�%1>��%?$R (%O1$'4 24.56) O'4 N1คO6%/�%/#�'�'>� (%O1$'4 8.77) �6#' 6�5� 

1.3.2ั�N/�N/ล@�?P�@"R�NR�Nอ>��#?"์  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R%O1$'4 70.49 �6$
�B�25��6/R %1�'�#6 %O1$'4 13.11 �6$�B�/5�Q��N/�N�O6 O'4%O1$'4 8.20 �6$25��6/R'4 3 /5� 
�6#' 6�5�  

1.3.3ั�@#�>��Nอ�?��CO�AQอR�NR�Nอ>��#?"์  �/N6  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R %O1$'4 
57.38 #?�6%�5�/5��AQ1�5��CO�AQ1R�NR�N1>��%?$R O'4%O1$'4 33.3 �>��N1�5��CO�AQ1R�NR�N1>��%?$RO'O/O�N24�/� 
�6#' 6�5�  
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�@#@��?Pั4.11 �6%� 6/�N6$R�NR�N1>��%?$R�1�N�1�%�% 
N = 61 

�Oอ!CลN�?P"/�?��@#Nล?Q"�R�NR�Nอ>��#?"์�อ�N�1�#�# � @�/�ั(ค�) #Oอ"ล> 
�@#� @ห�N@"R�NR�Nอ>��#?"์ั   

R#N#? 4 6.56 

#?  57 93.44 

#C�O���@#� @ห�N@"ั   

1)ัR!N�N@�ค��ล@� 14 24.56 

- �6$/�O6!6%R# 6 10.53 

- �6$Q��'6�/#CN�O6� 7 12.28 

- �6$Q��'6��5�2?N�?$/ 'C�คO6�?P� 6 MOU %O6�คO6O'4P%�O%#  
�6$�%��N6��N1��6�11�R'�R  

1 1.75 

2)ั�N@�ค��ล@� 43 75.44 

-  N1คO6%/�%/#�'�'>�  5 8.77 

- �%>15�%/�%/#�'�'>� 14 24.56 

- �'BN#/>26/�>��B#��O'4Pค%��6%/'/� 24 42.11 

�N/�N/ล@�?P�@"R�NR�Nอ>��#?"์*   

- �6$�B�/5� (N�O6) 8 13.11 

- �6$�B�25��6/R  43 70.49 

- 1AP�N (�6$ 3 /5��N125��6/R) 5 8.20 

�@#�>��Nอ�?��CO�AQอR�NR�N   

- �CO�AQ1#?�6%�5�/5��AQ1 35 57.38 

- O'O/O�N24�/� 18 29.51 

- 1AP�N (�6#'5�1�4�6%�6$�6#�'6� organic �4R��>��N1�CO
�AQ1/�6# MOU/�6#� 6/���1��'6�) 

1 1.64 

/#6$N/�B: N�1�%�%�1�R�O#6��/N6 1 �O1  
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�อ��?Pั2ั�@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ 

 �6��6%0@�16�6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R�1��%4N�0R�$ P�$Q�OO�/ค>��1�
�6%�5��6%/N/�P�N1B��6� SCOR Model �?P�%4�1��O/$�%4�/��6%/'5� คA1 �6%/6�O�� �6%�5��AQ1
�5�/6 �6%�'>� �6%2N�#1� O'4�6%2N�คA� #?%6$'4N1?$� �5��?Q 

2.1ั�@#/@�O��ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%/6�O���O6��ั��5$�6%�'>� �O6��6%�'>� 
O'4�O6��6%2N�#1�O'4%5�คA��'�'>�R�R�N1>��%?$R �5��?Q 

2.1.1ั�@#/@�O���@#�?��AQอ�?�ห@�ั��?"�@#�ล>� N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%
/6�O��N�?P$/�5� 5��BRR�NR�N1>��%?$R 16/6%R�NR�N1>��%?$R P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R �5��?Q 

1) �6%/6�O���O6� 5��BRR�NR�N1>��%?$R N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%� 6/��� 6�/� 

R�NR�N1>��%?$R�?P�O1��6%N'?Q$�  5��BRR�NR�N�?P�O1��6% O/'N��?P#6�1� 5��BRR�NR�N O'4/5�N/'6�?P�O1�25P��AQ1 5��BRR�NR�N 
#?�6%�>��N1�CO�'>�/�CO� 6/�N6$ 5��BRR�NR�N1>��%?$R'N/�/�O6 

2) �6%/6�O���O6�16/6%R�NR�N1>��%?$R N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�4 >�6%�6�@� ��>�
�1�/5��B�>�16/6%25�/R�?P�O1�Q�ON�็�16/6%R�NR�N1>��%?$R �%>#6��1�/5��B�>�16/6%25�/R�?P�O1�Q�O O/'N��1�
/5��B�>�16/6%25�/R O'4/5�N/'6�?P�O1�25P��AQ1 #?�6%�>��N1�CO�'>�/�CO� 6/�N6$/5��B�>�16/6%25�/R1>��%?$R
'N/�/�O6 /%A1#?�6%/6�O���6%�'>�/5��B�>�16/6%25�/R�?P�O1��6%Q�O'N/�/�O6 

P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�6�%6$#?�6%/6�O��Q��6%�'C� A��?PQ�ON�็�/5��B�>�
16/6%25�/R O'4#?�6%/6�O���AQ1/5��B�>�16/6%25�/R�6�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R"6$Q��'BN#N�?$/�5� 
Q���4�?PN�1�%�%�CON'?Q$�R�NR�N1>��%?$R�6��'BN##?�6%� 6�O1��'�'N/�/�O6�5��'BN#�CO�'>� A�16/6%25�/R N�N� 
�CO�'>��O6/Q�%4��N�1�%1>��%?$RQ��6%�AQ1�'6$�O6/1>��%?$R /%A1�5� A��N6�N N�N� �5P/N/'A1� N�็��O� 
�1��6��?Q N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�6��'BN##?/6�O���6%25P��AQ1/5��B�>�16/6%25�/R'N/�/�O6 �6�
�N6��%4N�0 N�N� �6��5P/N/'A1�1>��%?$R�6��%4N�01>�N�?$ P�$25P��AQ1Q��%>#6�#6�O'O/� 6#6�5�O�N�
"6$Q��'BN#N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  

3) �6%/6�O��N�?P$/�5�P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R N�1�%�%�CON'?Q$� 
R�NR�N1>��%?$R#?�6%/6�O��Q��6%�N12%O6�P%�N%A1� �>��5Q�%5�R�N O'4�5�/61B��%�RQ/O16/6%O'4�Q 6 P�$Q/O#?
� 6�/��?PN ?$� 1�5�� 6�/�R�NR�N�?PN'?Q$�O'4N�็�R��6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R 
N'N# 2: �0B25�/R1>��%?$R 

2.1.2ั�@#/@�O���O@��@#�ล>�ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%/6�O��Q��6%N'?Q$�R�NR�N
1>��%?$R�?PQ/O#?�6%�5��6%�'>��6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R 
�5Q� 7 �O6� �%4�1��O/$  AQ��?PN'?Q$�25�/R �6%�5��6%!6%R# O/'N��?P#6�1�25�/R 16/6%25�/R �6%�5��6%�O6�
2B�"6 25�/R �6%�5��6%#C'25�/RO'4�1�N2?$ O'4�6%���5��@��O1#C' 

�1��6��?Q N�1�%�%�CON'?Q$�R�NR�N1>��%?$RR�O#?�6%/6�O��N�?P$/�5��6%�5��6%�'�'>�R�N1>��%?$R 
Q/ON�็�R��6#ค/6#�O1��6%�1�'C�คO6/%A1�CO%5��AQ1�'�'>� �5Q�Q��O6��6%ค5�N�%�R�NR�N O'4�%%�B"5��R  
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2.1.3ั�@#/@�O���O@��@#2N�!อ�Oล>2N�คA��ล�ล>�R�NR�Nอ>��#?"์ N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R#?�6%/6�O��N�?P$/�5�%4$4N/'6�6%2N�#1��'�'>�R�NR�N1>��%?$R�6#�'6��1�R�NR�N1>��%?$R�?P
� 6/�N6$ P�$#?�5Q��6%2N�#1�/%A1� 6/�N6$Q/O�5�'C�คO6�B�/5�Q��%�?�?P�6$/�O6!6%R# O'42N�#1�/%A1
� 6/�N6$Q/O�5�'C�คO6/%A1ค��'6��?P%5��AQ1�'�'>��6#�N/�N/'6�?P� 6/�� N�N� 25��6/R'4 1 ค%5Q� /%A125��6/R
'4 2-3 ค%5Q� �@Q��5��O1��'��AQ1�6$ 

�1��6��?Q N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%/6�O��N�?P$/�5��6%�5�2N�R�NR�N1>��%?$RP�$
�%4�/��6%2N�#1��@Q�1$CN�5��N1��6��6%�'6� R�OO�N Q�O%���2N��1��5/N1� #?%���2N��6��%>15�#6%5�  

2.2ั�@#�?��AQอ�?�ห@�ั��?"�@#�ล>�ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%�5�/6�ั��5$�6%�'>��O6�
 5��BRR�NR�N1>��%?$R 16/6%R�NR�N1>��%?$R P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R �5��?Q 

2.2.1ั�?��B์R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%�5�/6 5��BRR�NR�N1>��%?$R�6�/'6$
O/'N��'>��@Q��5�/5��B�%42�คRO'4ค/6#26#6%�Q��6%�5�/6 5��BRR�NR�N1>��%?$R P�$#?O/'N� 5��BRR�NR�N1>��%?$R 
�5��?Q 

1) /�N/$�6�"6ค%5� R�OO�N �%#�0B25�/R 0C�$R 5��6�0B25�/R�6# %4%6�� 6%> 1 6N"1�N6��O6$ 
�5�//5�N'$ O'4#/6/>�$6'5$O#NP�O 

2) %O6�คO6O'4�%>15��?P�6$R�NR�N26$ 5��BR�6��6%คO6 
3) �'BN#N�1�%�%O'4/>26/�>��B#�� 

4) N AP1��O6� 

5) �'>�'C�R�NR�N1>��%?$RN1� 
2.2.2ัอ@ห@#R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R�4N�็��CO�2#16/6%2 6/%5�N'?Q$�R�NR�N

1>��%?$R P�$Q�O/5��B�>�16/6%25�/R��>��N6� N �O/$��N1� �@P�N�1�%�%�CON'?Q$�R�NR�N1>��%?$RO�N'4%6$/�'BN##?
�6%�5��AQ1/�5�/6/5��B�>�16/6%25�/R�?PO���N6��5� �5��?Q 

1) 25P��AQ1/5��B�>�16/6%25�/R1>��%?$R�6�N�1�%�%�CO�'C� A�1>��%?$R P�$#?�6%25P��1�
'N/�/�O6/%A1� 6�O1��'�'N/�/�O6  

2) 25P��AQ1/5��B�>�16/6%25�/R1>��%?$R�6���>��6��N6��%4N�0 R�OO�N �6��5P/N/'A1�1>��%?$R 
P�$#?�6%25P��AQ1�6��%4N�01>�N�?$ #?�6%��2N��6�N%A1 P�$25P��AQ1Q��%>#6�#6�O'O/� 6#6�5�O�N�Q/O
N�1�%�%�CON'?Q$�R�NR�N1>��%?$R"6$Q��'BN# 

3) �'C� A�1>��%?$R�O/$��N1� O'4� 6 A�/%A1�' '1$R�O/%A1N01N/'A1#6Q�ON�็�/5��B�>�
16/6%25�/R R�OO�N �6%� 6�6�O6/1>��%?$R�?PR�O�'6$�O6/O'4% 6�O6/�6��6%2?�O6/1>��%?$R�1��5/N1� �6%�'C�
 A�/�5�Q�%4��N�1�%1>��%?$R O'O/� 6 A�/�5�O'4N01N/'A1#6Q�ON�็�16/6%2 6/%5�N'?Q$�R�NR�N1>��%?$R 

4) 25P��AQ1/5��B�>�16/6%25�/R1AP� N �6��CO�6$/5��B�>�16/6%25�/R P�$/5��B�>�16/6%25�/R�5Q�
26#6%�Q�OR�OQ��%>#6��?P� 6/���6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R
1>��%?$R P�$�6%�5�2N�/5��B�>�16/6%25�/R�CO�6$�4N�็��CO�?P�5�2N�Q/O�@�!6%R# 
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2.2.3ัP#�N#Aอ�Oล>อB��#�์Q��@#Nล?Q"�R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%
�5�/6P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N1>��%?$R �5��?Q 

1) P%�N%A1�N'?Q$�R�NR�N N�1�%�%�CON'?Q$�R�NR�N1>��%?$R2%O6�P%�N%A1�N'?Q$�R�NR�N�O/$��N1� 
P�$Q�O/52�B�?P26#6%��5��AQ1�6#%O6�คO6�5P/R�  

2) %5�R�N2 6/%5�Q/OO#NR�N/6�R�N N�1�%�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�NQ�O�4�%O6 '62�>��?P
�AQ1�6#%O6�คO6�5P/R� #?N�1�%�%�6�%6$�?P2%O6�%5�R�N�?P#?'5�1�4N�็��'N1�R#O�?P#?�N1�2 6/%5�Q/OO#NR�N/6�R�N 

3) 1B��%�RQ/O16/6%O'4�Q 6Q��6%N'?Q$�R�NR�N1>��%?$R N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�AQ1
1B��%�RQ/O16/6%O'4�Q 6�6#%O6�คO6�5P/R� #?N�1�%�%�6�%6$�?P�5�� 6%6�16/6%R�NR�N�O/$��N1� P�$Q�O%6�
 '62�>� %6�R#O /%A1%6��C� 

2.3 �@#�ล>�ั�6%N'?Q$�R�NR�NN AP1Q/OR�OR�NR�N1>��%?$R�4� 6N�>��6%�6#�O1� 6/���1�#6�%�6�2>�คO6
N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R �5Q� 7 �O6� �%4�1��O/$  AQ��?PN'?Q$�25�/R �6%�5��6%!6%R# 
O/'N��?P#6�1�25�/R 16/6%25�/R �6%�5��6%�O6�2B�"6 25�/R �6%�5��6%#C'25�/RO'4�1�N2?$ O'4�6%���5��@�
�O1#C' 

2.3.1ั�AQ��?PNล?Q"�R�NR�Nอ>��#?"์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$RN'?Q$�R�NR�NO���'N1$ AQ� #? AQ��?P
�'6�O�O�Q/OR�NR�N11�#6N�>�คBO$N�?P$O'4O2�� &�>�%%#�6#�%%#�6�> P�$ AQ��?PN'?Q$�R�NR�N#?�1�N�� AQ��?P
�5�N�� O'41$CN/N6��6��O6� 5�1605$ 

2.3.2ั�@#�?��@#�@#์!Nล?Q"�R�NR�Nอ>��#?"์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%N'?Q$�R�NR�NO��
�'N1$ AQ� P%�N%A1�N�็�P%�N%A1�O��N�>�  AQ�P%�N%A1�N�็� AQ��>�15�O�N�#?O�'�%1� AQ� #? AQ��?P�'N1$
�'6�O�O�Q/OR�N11�#6N�>�คBO$N�?P$/6�>�16/6% "6$Q�P%�N%A1�#?ค1��1� %5�R�N 1B��%�RQ/O16/6%O'4�Q 6 

2.3.3ัOหลN��?P!@�อ�R�NR�Nอ>��#?"์ N�1�%�%N'?Q$�R�NR�N1>��%?$R 5��BRP%�R12RO'��RR�$�?P�'>�
 5��BRP�$�%#�0B25�/R  5��BR'C��2#P%�R12RO'��RR�$�5� 5��BRN�?P$�R2O  5��BRN'O�21%R��6/ O'4 5��BR�? ?�%6/�R 
�@P��AQ1�6�/�N/$�6�"6ค%5�O'4O/'N�� 6/�N6$�5P/R� R#NQ�NO/'N��'>� 5��BRR�NR�N1>��%?$RP�$N� 64 O�N
N�AP1��6�N�1�%�%N'?Q$�R�NR�NN�็�%4$4N/'6�6� � 6Q/O#?%4$4�%5�N�'?P$��6#�?P#6�%�6�� 6/�� คA1 25�/R
�?��'>�R�N#?%4$4�%5�N�'?P$� 6 25��6/R 

2.3.4ัอ@ห@#R�NR�Nอ>��#?"์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�2#16/6%2 6/%5�N'?Q$�R�NR�N1>��%?$R
�O/$��N1� #?N�1�%�%�6�%6$Q�O16/6%�2#�1��'BN#�?P��N1�N�็�2#6�>� /5��B�>�16/6%25�/R�?P� 6#6Q�O
�2#16/6%R�NR�N1>��%?$R2N/�Q/�NQ�O/5��B�>�16/6%25�/R1>��%?$R�?PR�O�6��6%�'C�Q�!6%R#�1���N1� N�N� 
�O6/ �%4�>� /�O6//6�1>2%6N1' O'4�'O/$ #?�6%25P��AQ1/5��B�>�16/6%25�/R�6�Nค%A1�N6$N�1�%1>��%?$R�?PR�O
%5�%1�#6�%�6�N�1�%1>��%?$R IFOAM N�N� N�'A1��BO� N�'A1��C#O6 �6��'BN#�%4#�1>��%?$R�?PO/'#�5�N�?Q$
�6��5�//5�2#B�%�%6�6% O'4�6��6�6�Nค%A1�N6$�%?�N�� �1��6��?Q $5�#?�6%25P��AQ1/5��B�>�16/6%25�/R
�6�Nค%A1�N6$�'BN#N�1�%�%�?P�'>� A�1>��%?$R N�N� �O6/P �1>��%?$R�6��5�//5��6����B%? �5P/N�?$/1>��%?$R
�6��B%?%5#$R  



83 

 

 

O'4#?�6%�AQ1/5��B�>�16/6%25�/R�6���>��?PR#N26#6%��'>�R�OO'4R#NQ�N /5��B�>�16/6%25�/R
1>��%?$R#6Q�O�2#16/6%25�/RQ�%4�5��?P26#6%�Q�OR�O�6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R 
N'N# 2: �0B25�/R1>��%?$R 

2.3.5ั�@#�?��@#2B� @�R�NR�Nอ>��#?"์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$RQ�O2#B�R %Q��6%�O1��5�
%5�16P%ค P�$#?�6%�'C�2#B�R %�?P26#6%�� 6#6Q�OQ��6%�O1��5�P%คR�NR�N Q��%>N/�!6%R#N'?Q$�R�NR�N N�N� 
!O6�4'6$P�% �1��6��?Q $5�#?�6%�'>��Q 6/#5��?/"6 �?PQ�ON AP1Q/OR�NR�N#?2B�"6 O�O�O%� #?�6%O$�N'?Q$�R�N�N/$ 
O�N$5�#?N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�6�%6$�?P#?�6%Q�O$6O���ั��B�5�Q��6%%5�16P%คR�NR�N  

2.3.6ั�@#�?��@#!Cล2?�/์Oล>�อ�N2?" N�1�%�%�CON'?Q$�R�NR�N1>��%?$R� 6#C'R�N#6Q�ON�็��BO$
2 6/%5� A�Q�!6%R# O'4� 6�5�R�N�6$P�$�6%�ั��'� 

2.3.7ั�@#���?��@��Oอ!Cล N�1�%�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N#?�6%���5��@��O1#C'Q��O6�
O/'N��?P#6�1� 5��BR25�/RO'416/6%25�/R O'4� 6�/��'�'>�R�NR�N 2N/��O1#C'1AP� N #?�6%�5��@��O1$  

2.3.8ั�@#�?��@#�ล�ล>�R�NR�Nอ>��#?"์ N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%N�O�R�NR�N 2 �@� 4 
ค%5Q��N1/5� �6��5Q�� 6ค/6#2416�R�NR�N P�$N�1�%�%�6�%6$/�'BN# #?�6%ค5�N�%�R�NR�N�6#�Q 6/�5��N1�
�%%�BQ��%%�B"5��R P�$#?�6%O�N�N�%�R�NR�N 2 O�� คA1 1) N�%� A O'4N�%� B O'4 2) N�%�R�N N�1%R 1 
�@� N�1%R 5 �%%�B"5��RR�NR�N1>��%?$R#? 2 ��6� คA1 O���'N1��%4�61/%A1�'N1� '62�>��?P�%%�BR�N 10 
!1� O'4O���%%�BQ��6� '62�>�/%A1�6��%4�61�?P�%%�BR�N 30 !1� 

2.4 �@#2N�!อ�R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%� 6/���6%2N�#1��'�'>�R�NR�N
1>��%?$R�6#�'6��1�R�NR�N1>��%?$R�?P� 6/�N6$ �@P�#?�5Q��6%2N�#1�/%A1� 6/�N6$Q/O�5�'C�คO6�B�/5�Q��%�?�?P
�6$/�O6!6%R# O'42N�#1�/%A1� 6/�N6$Q/O�5�'C�คO6/%A1ค��'6��?P%5��AQ1�'�'>��6#�N/�N/'6�?P� 6/�� 
N�N� 25��6/R'4 1 ค%5Q� /%A125��6/R'4 2-3 ค%5Q� �@Q��5��O1��'��AQ1�6$ 

�%4�/��6%2N�#1�/%A1�6%�5�2N�R�NR�N1>��%?$R �@Q�1$CN�5��N1��6��6%�6$R�NR�N1>��%?$R �5��?Q 
1) �%�?�6$Q/O�5��CO�%>P"คP�$�%� R�OO�N �6$/�O6!6%R# �'6��5�2?N�?$/ �%�?�?Q �CO�%>P"ค#6

�AQ1R�NR�N1>��%?$R/�O6!6%R#/%A1/�O6%O6� O'O/N�็��CO� 6R�NR�N1>��%?$R�'5�R��%>P"ค  
2) �%�?2N��6$Q/O�5��CO25P��AQ1�?PN�็�%6$Q/�N N�N� P%�O%# %O6�P#N�>%R�N�%� �CO25P�2>�คO6�?P1$CNQ�

N���%B�N� 3 O'4�%>#��' �4Q�O%���2N��1��5/N1� P�$R�NR�N1>��%?$R2N�Q�/5�N/'6�?P� 6/�� O'4 �  
�B��%4�6$2>�คO6�?P� 6/�� (P%�O%#0>/6N�' %O6�N'#1�!6%R#) O'4#?�CO�%>�6%��2N�%5�R�NR�N1>��%?$R�6� 

�B��%4�6$2>�คO6R�2N�Q/O�CO�%>P"คP�$�%�  
3) �%�?2N��6$Q/O�5�0C�$R�%4�6$2>�คO6/%A10C�$R%/�%/#R�N �'BN#N�1�%�%�CON'?Q$�R�NR�N1>��%?$R

�6��'BN#�4Q�O%���2N��1��%>15�Q�Nค%A1N AP12N�R�NR�N1>��%?$RR�$5�0C�$R�%4�6$2>�คO6/%A10C�$R%/�%/#R�N  
4) �%�?�6$Q/O�5��%>15�%5��AQ1�'�'>�N�1�%1>��%?$R �%>15��4#6%5��AQ1R�NR�N1>��%?$R�?P!6%R#

%N/#�5��'�'>�N�1�%1>��%?$R1AP�N  
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5) �%�?�6$Q/O�5�Pค%��6%/'/�/%A1�'BN#N�1�%�%/%A1/>26/�>��B#�� N�1�%�%�CON'?Q$�R�NR�N
1>��%?$RN�็��CO��2N�R�NR�N1>��%?$RR�$5�Pค%��6%/'/�/%A1�'BN#N�1�%�%/%A1/>26/�>��B#�� �@P��4� 6/�O6�?P
�5�� 6/�N6$R�NR�N1>��%?$R�N1R�  

2.5ั�@##?�คA� R#N ��6%2N�คA�2>�คO6N�AP1��6�N�>�ค/6#N2?$/6$%4//N6���2N��O1$#6� O'4'C�คO6
#?ค/6#N�O6Q�N�?P$/�5�'5�1�4�1�R�NR�NO'4ค/6#N2?$/6$�?P16��4N�>��@Q�%4//N6��6%��2N�  N�AP1��6�R�NR�N
N�>�ค/6#N2?$/6$R�O�N6$�6��6%��2N� �5��5Q�N�1�%�%�4#?�6%ค5�N'A1�R�NR�N�?P#?2"6 2#�C%�R� 6/�N6$ �O6
 �R�NO�� R�N�B�%O6/ �4� 6#6�%>P"คN1�/%A1� 6#6� 6�Q 6/#5��?/"6   

 

�6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R�1��%4N�0R�$ P�$Q�OO�/ค>��1��6%�5��6% 

/N/�P�N1B��6� SCOR Model �?P�%4�1��O/$ 5 �%4�/��6%/'5� ("6 �?P 4.2) คA1 <PSMDR” R�OO�N �6%
/6�O�� (P-Plan) �6%�5��AQ1�5�/6 (S-Source) �6%�'>� (M-Make) �6%2N�#1� (D-Deliver) O'4�6%
2N�คA� (R-Return)  
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�อ��?Pั3ั�ัญห@ั�OอN2�อO�>ัOล>O�/�@��@#�?��@�@#�ล>�R�NR�Nอ>��#?"์�ลอ�หN/�P�NอB��@� 

�6��6%0@�16/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ ��ั�/6O'4�O1N2�1O�4Q�
�6%�'>�R�NR�N1>��%?$R�1�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R O'4#?�O1N2�1O�/�6��6% 5��6�6%�'>�R�NR�N
1>��%?$R�'1�/N/�P�N1B��6� �5��?Q 

3.1ั�ัญห@Oล>�OอN2�อO�>Q��@#�ล>�R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R ��ั�/6O'4
#?�O1N2�1O�4Q��6%�'>�R�NR�N1>��%?$R �5��?Q 

3.1.1 �ัญห@Q��@#�ล>�R�NR�Nอ>��#?"์ั�6��6%0@�16  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R
�%42��ั�/6Q��6%�5��6%N'?Q$�R�NR�N1>��%?$RQ�"6 %/#1$CNQ�%4�5��O1$ (×̅=2.20) N#AP1 >�6%�6�ั�/6Q�
O�N'4%4�5�/N/�P�N1B��6� (�6%6��?P 4.12) %6$'4N1?$��5��?Q  

1)ั#>�?��O��Q @  �?P N�?P$/�O1��5��ั��5$Q��6%�'>�R�NR�N1>��%?$R   �/N6 N�1�%�% 

�CON'?Q$�R�NR�N1>��%?$R#?�ั�/6Q�%4�5��O1$ Q��O6��B�Q��6%N'?Q$�R�NR�N1>��%?$R (×̅=2.49) %1�'�#6 �O6�16/6%
R�NR�N1>��%?$R (×̅=2.36) Q��%4N�O��6��N/�N/'6�6�Oค'�/5��B�>�16/6%25�/R�6���>� N�N� �6��5P/N/'A1�O'4
�O6/P � O'4�O6� 5��BRR�NR�N1>��%?$R (×̅=2.26) �6#' 6�5� 

2)ั#>�?��ล@��Q @ �?PN�?P$/�O1��5��6%�5��6%�6%�'>�R�NR�N1>��%?$R  �/N6 N�1�%�%�CON'?Q$�
R�NR�N1>��%?$R#?�ั�/6Q�%4�5��O1$ Q��O6��6%�1%5�%1�#6�%�6�N�1�%1>��%?$R (×̅=2.39) %1�'�#6 �O6��6%
���5��@��O1#C'�N6�N N�?P$/�5��6%N'?Q$�R�NR�N1>��%?$R (×̅=2.36) �O6�คB�"6 �1�R�NR�N1>��%?$R (×̅=2.33) Q�
�%4�O�R�N#?��6�!1�N'O�R#NR�O#6�%�6�O'42?R�NO��คN1��O6��?� �O6�O/'N�ค/6#%CON%AP1��6%N'?Q$�R�NR�N
1>��%?$R (×̅=2.25) �O6� AQ��?PN'?Q$�R�NR�N1>��%?$RO'4�O6��6%�5��6%25�/R�N/$ (×̅=2.02) �O6�P%ค%4�6�O'4
�6%�O1��5�P%ค%4�6� (×̅=1.95) O'4�O6�O/'N��Q 6�?PQ�ON'?Q$�R�NR�N1>��%?$R (×̅=1.93) �6#' 6�5� 

3)ั#>�?��ล@"�Q @ N�?P$/�O1��5��6%�5�� 6/�N6$�'�'>�R�NR�N1>��%?$R  �/N6 N�1�%�% 

�CON'?Q$�R�NR�N1>��%?$R#?�ั�/6Q�%4�5��O1$ Q��O6��'6��1�R�NR�N1>��%?$R (×̅=2.13) O'4�O6�%6ค6� 6/�N6$
�'�'>�R�NR�N1>��%?$R (×̅=2.10) �6#' 6�5�  
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�@#@��?Pั4.12 �ั�/6Q��6%�5��6%�6%N'?Q$�R�NR�N1>��%?$R�1�N�1�%�%  
N=61 

�#>N�O�ั #>�?�ค/@!ค>�NหO��Nอ�ญัห@ 
(� @�/�/#Oอ"ล>) ×̅ 

ั(S.D) ค/@!ห!@" อ?��?� 

�O1$�?P2B� �O1$ �6��'6� #6� #6��?P2B� 

1. �O6��B�Q��6%N'?Q$�R�NR�N1>��%?$R  17 

(27.9) 
11 

(18.0) 
23 

(37.9) 
6 

(9.8) 
4 

(6.6) 
2.49 

(1.192) 
�O1$ 1 

2. �O6� 5��BRR�NR�N1>��%?$R  20 

(32.8) 
15 

(24.6) 
19 

(31.1) 
4 

(6.6) 
3 

(4.9) 
2.26 

(1.139) 
�O1$ 6 

3. �O6�16/6%R�NR�N1>��%?$R  19 

(31.1) 
12 

(19.7) 
22 

(36.1) 
5 

(8.2) 
3 

(4.9) 
2.36 

(1.155) 
�O1$ 3 

4. �O6� AQ��?PN'?Q$�R�NR�N1>��%?$R  29 

(47.5) 
9 

(14.8) 
19 

(31.1) 
1 

(1.6) 
3 

(4.9) 
2.02 

(1.147) 
�O1$ 10 

5. �O6�O/'N��Q 6�?PQ�ON'?Q$�R�NR�N1>��%?$R  28 

(45.9) 
15 

(24.6) 
14 

(23.0) 
2 

(3.3) 
2 

(3.3) 
1.93 

(1.063) 
�O1$ 13 

6. �O6��6%�5��6%25�/R�N/$  25 

(41.0) 
13 

(21.3) 
21 

(34.4) 
1 

(1.6) 
1 

(1.6) 
2.02 

(0.991) 
�O1$ 10 

7. �O6�P%ค%4�6�O'4�6%�O1��5�P%ค
%4�6� 

29 

(47.5) 
11 

(18.0) 
17 

(27.9) 
3 

(4.9) 
1 

(1.6) 
1.95 

(1.056) 
�O1$ 12 

8. �O6��6%���5��@��O1#C'�N6�N N�?P$/�5�
�6%N'?Q$�R�NR�N1>��%?$R  

23 

(37.7) 
11 

(18.0) 
15 

(24.6) 
6 

(9.8) 
6 

(9.8) 
2.36 

(1.342) 
�O1$ 3 

9. �O6��6%�1%5�%1�#6�%�6�N�1�%
1>��%?$R  

17 

(27.9) 
14 

(23.0) 
21 

(34.4) 
7 

(11.5) 
2 

(3.3) 
2.39 

(1.115) 
�O1$ 2 

10. �O6�O/'N�ค/6#%CON%AP1��6%N'?Q$�R�NR�N
1>��%?$R  

24 

(39.3) 
9 

(14.8) 
21 

(34.4) 
3 

(4.9) 
4 

(6.6) 
2.25 

(1.220) 
�O1$ 7 

11. �O6�คB�"6 �1�R�NR�N1>��%?$R 19 

(31.1) 
12 

(19.7) 
23 

(37.7) 
5 

(8.2) 
2 

(3.3) 
2.33 

(1.106) 
�O1$ 5 

12. �O6�%6ค6� 6/�N6$�'�'>�R�NR�N
1>��%?$R  

26 

(42.6) 
10 

(16.4) 
20 

(32.8) 
3 

(4.9) 
2 

(3.3) 
2.10 

(1.121) 
�O1$ 9 

13. �O6��'6��1�R�NR�N1>��%?$R  24 

(39.3) 
14 

(23.0) 
16 

(26.2) 
5 

(8.2) 
2 

(3.3) 
2.13 

(1.132) 
�O1$ 8 

 @�#/!      2.20 

(0.185) 
�Oอ"  

 

3.1.2ั�OอN2�อO�>Q��@#�ล>�R�NR�Nอ>��#?"์ัN�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�O1N2�1O�4 คA1 
�6%2�5�2�B��6�/�N/$�6�"6ค%5�Q��6%Q/Oค/6#%CON�?P$/�5��6%�'>�R�NR�N1>��%?$R Q��%4N�O�  

1) �6%�5��6%�N6� N Q��6%N'?Q$�R�NR�N1>��%?$R�6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% 
N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R  

2) 2C�%16/6%R�NR�N1>��%?$R�?P�N/$'��O��B��6%�'>�O'4N >P#��6�!1�R�N 
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3) �6%���5��@��O1#C'Q��%4N�O��N6� N �6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% 
N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R 

4) �6%�O1��5�P%ค%4�6� %/#�5Q��6%Q/Oค 6�%@�16�6�N�O6/�O6�?P�0B25�/R 
3.2ัO�/�@��@#�?��@�@#�ล>�R�NR�Nอ>��#?"์�ลอ�หN/�P�NอB��@� �6��'�6%0@�1626#6%�

N2�1O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$RQ�O�N'4%4�5�/N/�P�N1B��6� N AP1Q/O�6%�'>�R�NR�N1>��%?$R
26#6%� 5��6�6%N'?Q$�R�O1$N6��N1N�AP1�O'4$5P�$A� �5��?Q 

3.2.1ั#>�?��O��Q @ O�/�6��6% 5��6Q��O6��ั��5$�6%�'>�R�NR�N1>��%?$R�?P2 6ค5� R�OO�N  5��BR
R�NR�N1>��%?$RO'416/6%R�NR�N1>��%?$R 

1)  5��BRR�NR�N1>��%?$R  
(1) N�1�%�%�CON'?Q$�R�NR�N1>��%?$R  

- ค/%#?�6%/6�O��Q��6%�'>�'C�R�NR�N1>��%?$RQ�!6%R#�1���N1� P�$N� 64
N�1�%�%�?P#?�6%N'?Q$�R�NR�N1>��%?$R� 6�/�#6� 

- 2 6/%5��'BN#N�1�%�% 16�#?�6%2N�N2%>#O'42�5�2�B�Q/O2#6�>��6�%6$�?P#?
ค/6# %O1# Q/O� 6�6%�'>�'C�R�NR�N1>��%?$RN AP1� 6/�N6$Q/O�5�2#6�>�"6$Q��'BN#  

- �%�?25P��AQ1 5��BRR�NR�N1>��%?$R�6�"6$�1�!6%R# N�1�%�%ค/%#?�6%/6�O��
O'425P��AQ1'N/�/�O6 P�$ >�6%�6O/'N��'>�R�NR�N1>��%?$R�?PN�AP1�A1R�O N�N� �%#�0B25�/R �%>15�N1����?P
� 6/�N6$ 5��BR25�/R /%A1/�N/$�6��?P�'>� 5��BR25�/R� 6/�N6$ P�$#?�6%�5�� 6�O1��'�'N/�/�O6Q��O6�� 6�/�
R�NR�N�?P�O1��6%25P��AQ1 %4$4N/'6�?P�O1��6%R�NR�N %/#�5Q��6%�5�2N�R�NR�N�5��'N6/  

 (2) /�N/$�6��?PN�?P$/�O1� R�OO�N �%#�0B25�/R O'42�6�5��6%0@�16 
- ค/%#?�6%�%5��%B� 5��BR R�NR�N1>��%?$R�?P N/#642#�5�2"6 �6%N'?Q$��1�

N�1�%�% %/#�5Q��6%�$6$ 5��BRR�NR�N1>��%?$RQ/O#?� 6�/��?PN ?$� 1�5�ค/6#�O1��6%�1�N�1�%�%�CON'?Q$� 

R�NR�N1>��%?$R 
- �5�/6O'42%O6�Nค%A1�N6$Q/O�5�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�5��'BN#N�1�%�%�?P

�'>� 5��BRR�NR�N1>��%?$R 
- Q/O�O1#C'N�?P$/�5�O/'N� 5��BRR�NR�N1>��%?$R 

2) 16/6%R�NR�N1>��%?$R 16/6%�5�N�็��ั��5$2 6ค5�Q��6%�'>�R�NR�N1>��%?$R N�AP1��6�
25# 5��R�5��'�'>�R�NR�N1>��%?$RO'4�O��B�Q��6%N'?Q$�R�NR�N1>��%?$R R�NR�N1>��%?$R� 6N�็��O1�R�O%5�16/6%�B�
/5�Q��%>#6��?PN ?$� 1�5�ค/6#�O1��6% �5��5Q� Q��6%�'>�R�NR�N1>��%?$R�@��O1�Q�O16/6%O'4/5��B�>�16/6%
1>��%?$R� 6�/�#6� �@P�16/6%O'4/5��B�>�16/6%�?P� 6#6Q�ON'?Q$�R�NR�N1>��%?$R�O1�#?�6%�'>�Q�%4��N�1�%
1>��%?$R�6#�?P%4�BQ��O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R 2 6/%5�
O�/�6�Q��6%�5��6%�O6�16/6%O'4/5��B�>�16/6%2 6/%5�N'?Q��R�NR�N1>��%?$R#?�5��?Q 
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(1) N�1�%�%�CON'?Q$�R�NR�N1>��%?$R ค/%#?�6%� 6N�>��6% �5��?Q 
- #?�6%�'C� A�16/6%25�/R�?P26#6%�Q�ON�็�/5��B�>�16/6%2 6/%5�N'?Q$�R�NR�N1>��%?$R

"6$Q�!6%R#�1���N1� N AP1�O1��5��ั�/6�6%�6�Oค'�16/6%R�NR�N1>��%?$R 1?��5Q�$5��N/$'��O��B��6%�'>� 

- �%�?�AQ116/6%/%A1/5��B�>�16/6%R�NR�N1>��%?$R�6�"6��1�!6%R# N�N� �6�
2#6�>�"6$Q��'BN#N�1�%�%�CON'?Q$�R�NR�N1>��%?$R �'BN#�CO�'>� A�1>��%?$R /%A1�%>15��?P� 6/�N6$/5��B�>�16/6%
25�/R1>��%?$R �O1�N'A1�O/'N��'>��?PR�O%5��6%%5�%1�#6�%�6�1>��%?$R P�$#?�6%/6�O��O'425P��AQ1'N/�/�O6 #?
�6%�5�� 6�O1��'�'N/�/�O6Q��O6���>�O'4�%>#6��1�/5��B�>�16/6%25�/R1>��%?$R�?P�O1��6%25P��AQ1 %4$4N/'6
O'4�6%�5�2N�/5��B�>�16/6%25�/R1>��%?$R�5��'N6/ 

- #?�6%2%O6�Nค%A1�N6$�5��'BN#N�1�%�%�?P�'C� A�1>��%?$R N AP1Q/O#?O/'N��1� A�
16/6%25�/R N01N/'A1 /%A1�' '1$R�O�6� A�1>��%?$R�?P26#6%�� 6#6Q�ON'?Q$�R�NR�N1>��%?$RR�O 

(2) /�N/$�6��?P N�?P$/�O1� R�OO�N  �%#�0B25�/R  �%#2N�N2%>#�6%N�1�% O'4
2�6�5��6%0@�16 ค/%#?�6%� 6N�>��6% �5��?Q 

- #?�6%�5�1�%#Q/Oค/6#%CON�?P$/�5�16/6%R�NR�N1>��%?$R O'4�6%�'>� A�16/6%
25�/R1>��%?$R�?P26#6%�� 6#6Q�ON'?Q$�R�NR�N1>��%?$RR�O 

- ค>�คO�2C�%16/6%R�NR�N1>��%?$R�?PQ�O/5��B�>�16/6%25�/RQ��O1��>P� �?PN�1�%�%
26#6%��'C�/%A1�5�/6R�O�N6$ 

- �5�/6O'42%O6�Nค%A1�N6$Q/O�5�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�5��'BN#N�1�%�%�?P
�'C� A�1>��%?$R  

- Q/O�O1#C'N�?P$/�5�O/'N��1�16/6%O'4/5��B�>�16/6%R�NR�N1>��%?$R 
3.2.2ั#>�?��ล@��Q @ O�/�6��6% 5��6Q��O6��6%N'?Q$�R�NR�N1>��%?$R�6#�O1� 6/���1�

#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R #?�5��?Q 
(1) N�1�%�%�CON'?Q$�R�NR�N1>��%?$R ค/%#?�6%� 6N�>��6% �5��?Q 

- � 6ค/6#N�O6Q��O1��>�5�>�N6�N �?P� 6/��Q�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R 
N'N# 2: �0B25�/R1>��%?$R 

- �CO� 6�'BN#N�1�%�%ค/%Q/Oค/6#%COO'4ค/6#N�O6Q�Q�N%AP1��6%�'>�R�NR�N1>��%?$R
1$N6��C��O1� O'4�5�Q/O#?N�1�%�% ?PN'?Q$�Q��6%O�4� 62#6�>�Q/#N 

- #?�6%%/#�'BN#O'42%O6�Nค%A1�N6$Q��6%�'>�R�NR�N1>��%?$RQ/Oค%�/��%�6%�'>� 
#?�'BN#�'>�%1�%5�Q�%4���'1�/N/�P�N1B��6� 

- #?�6%ค/�คB#คB�"6 �'�'>�R�NR�N1>��%?$R 
(2) /�N/$�6��?PN�?P$/�O1� R�OO�N �%#�0B25�/R 2�6�5��6%0@�16 ค/%#?�6%� 6N�>��6% 

�5��?Q 
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- #?�6%�5�1�%#Q/Oค/6#%COQ��6%�'>�R�NR�N1>��%?$RQ�O�N'4�5Q��1��6#�O1� 6/��
�1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R  

- #?�6%�5��5Q�0C�$RN%?$�%CO�O�O���6%�'>�R�NR�N1>��%?$R 
3.2.3ั#>�?��ล@"�Q @ O�/�6��6% 5��6Q��O6��6%� 6/�N6$�'�'>�R�NR�N1>��%?$R #?�5��?Q 

(1) N�1�%�%�CON'?Q$�R�NR�N1>��%?$R ค/%#?�6%� 6N�>��6% �5��?Q 
- #?�6%%/#�'BN#Q��6%�5�� 6/�N6$�'�'>�R�NR�N1>��%?$R �5Q�O�N�6%�5�/6�'6� 

R�NR�N1>��%?$R'N/�/�O6 �6%%/�%/#�'�'>��1�2#6�>�Q��'BN# �6%� 6/��%6ค6R�NR�N1>��%?$R  �6%O'4�5�2N�
R�NR�N1>��%?$R 

(2) /�N/$�6��?PN�?P$/�O1� R�OO�N �%#�0B25�/R �%4�%/� 6�>�$R /�N/$�6��O1��>P� 
N�N� 1�คR�6%�%>/6%2N/�� 6�' N�0�6' O'41 6N"1 ค/%#?�6%� 6N�>��6% �5��?Q 

- #?�6%�5�/6�'6�2 6/%5�R�NR�N1>��%?$R O'4�N/$�%4�625# 5��RQ/O�CO�%>P"ค%5�%CO#6��@Q�  
- 2�5�2�B�O'4Q/Oค/6#%CON�?P$/�5��%%�B"5��RR�NR�N  
- #?�6%�C%�6�6%%4//N6�/�N/$�6��?P2N�N2%>#�6%�'>�R�NR�N1>��%?$RO'4/�N/$�6��?P

� 6�5��CO'�O6��'6��5Q��'6��1��ั��5$�6%�'>�O'4�'�'>� N AP1Q/O�6%�'>�R�NR�N1>��%?$R26#6%�
� 6N�>��6%R�O1$N6�#?�%42>��>"6 �'1�/N/�P�N1B��6� 

�6��'�6%0@�1626#6%�N2�1O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$RQ�O�N'4/N/�P�N1B��6� 
N AP1Q/O�6%�'>�R�NR�N1>��%?$R26#6%� 5��6�6%N'?Q$�R�O1$N6��N1N�AP1�O'4$5P�$A� ("6 �?P 4.3) �5��?Q 

 @��?Pั4.3ัO�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N1B��6�  

 

O�/�@�
  2%O6�Nค%A1�N6$�5�N�1�%�%
�CO�'>��ั��5$�5$�6%�'>� 
  5��BR25�/RO'416/6%25�/R
1>��%?$R 
  %/#�'BN#N�1�%�%N AP1�'>�
�ั��5$�5$�6%�'>�
  1�%#Q/Oค/6#%COQ��6%�'>�
�ั��5$�6%�'>�   5��BR25�/RO'4
16/6%25�/R1>��%?$R 

�O��Q @ �ล@��Q @ �ล@"�Q @

�ั��?"�@#�ล>�
�@#�?�ห@�ั��?"�@#�ล>�ั

�@#� @ห�N@"�ล�ล>�
R�NR�Nอ>��#?"์

�@#�?��@#�@#�ล>�R�NR�N�@!
!@�#�@��0B2?�/์อ>��#?"์

�CON�?P"/�Oอ�ัั   N�1�%�%
   2#6�>��'BN#N�1�%�%
   /�N/$�6��?PN�?P$/�O1� 
• �%4�%/�N�1�%O'42/�%�R: �%#�0B25�/R �%#2N�N2%>#�6%N�1�%2 6�5��6�N�1�%O'42/�%�R�5�//5�
• �%4�%/� 6�>�$R: 2 6�5��6� 6�>�$R�5�//5�
• 2�6�5��6%0@�16

O�/�@�
  O�N��ั�ค/6#%COQ��6%N'?Q$�
R�NR�N1>��%?$RQ��'BN#N�1�%�%
  2%O6� ?PN'?Q$�2 6/%5��6%N'?Q$�
R�NR�N1>��%?$R�1��'BN#N�1�%�%
  1�%#Q/Oค/6#%CON�?P$/�5��6%
N'?Q$�R�NR�N1>��%?$R

O�/�@�
�%�?�6$�%�
  %/#�'BN#N�1�%�% 2%O6�
Nค%A1�N6$N AP1� 6/�N6$�'�'>�
  �5�/6�'6��5Q�11!R'�RO'4
11�R'�R
�%�?�6$�N6�ค��'6�
  %/#�'BN#N�1�%�%N AP1
� 6/�N6$�'�'>�
  �5�/6�'6� �5/O��� 6/�N6$
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���?Pั5 

2#B�ัอ >�#@"�ลัOล>�OอN2�อO�> 
 

�6%/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ #?�6%2%B�O'41">�%6$�'�6%/>�5$ 
O'4�O1N2�1O�4 �5��?Q 
 

1. 2#B�Oล>อ >�#@"�ล�@#/>�?"ั 
1.1ั�@#/>Nค#@>ห์หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ 

�6��6%0@�16/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R�%4�1��O/$ค/6#N�AP1#P$��1��>��%%#
�N6�N Q��6%�'>�R�NR�N1>��%?$R �5Q�O�N%4�5��O��Q 6 R�OO�N �ั��5$Q��6%�'>�R�NR�N1>��%?$RO'4�6%�5�/6�ั��5$
�6%�'>� %4�5��'6��Q 6 R�OO�N �6%N'?Q$�R�NR�N1>��%?$R�6##6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2:  
�0B25�/R1>��%?$R ���@�%4�5��'6$�Q 6 R�OO�N �6%� 6/�N6$�'�'>�R�NR�N1>��%?$R P�$#?%6$'4N1?$�Q�O�N'4
%4�5�/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R �5�O2��Q��6%6��?P 5.1  

�6��6%0@�16 �/N6 �CON'?Q$�R�NR�N1>��%?$R2N/�Q/�NN�็�N�1�%�%%6$$N1$�?P#?� 6�/�R�NR�N
1>��%?$R�?PN'?Q$�R#N#6��5� #?N�1�%�%�6�%6$�?P#?�6%N'?Q$�R�NR�N1>��%?$R� 6�/�#6� �5��5Q��6%Q�O�ั��5$�6%
�'>��N6�N �@�#?�%>#6��6%Q�OQ�� 6�/��O1$�?PN�1�%�%26#6%��'C� A��5�Q�!6%R#/%A1� 6N01N/'A1�6�
 A��5�Q�!6%R##6Q�ON�็�/5��B�>�16/6%2 6/%5�R�NR�N1>��%?$RR�O1$N6�N ?$� 1 2 6/%5�N�1�%�%�?P #?�6%N'?Q$� 
R�NR�N1>��%?$R� 6�/�#6�/%A1#?�6%%/#�'BN#N�1�%�%26#6%�/6�O��Q��6%25P��AQ1/%A1� 6�O1��'��5��'BN#
N�1�%�%�?P�'>� A�1>��%?$R/%A1�%>15��?P� 6/�N6$/5��B�>�16/6%25�/R1>��%?$RR�O'N/�/�O6O'4#?�%>#6�
N ?$� 1 

Q��O6��6%�'>� �CON'?Q$�R�NR�N1>��%?$R26#6%���>�5�>�6#�O1� 6/��#6�%�6�1>��%?$RR�O�B��O1 
N�AP1��6�#?�6%N'?Q$�R�NR�N1>��%?$R� 6�/�R#N#6� O�N ��6%���5��@��O1#C'#?�6%��>�5�>�O1$ N�AP1��6�
N�1�%�%#?�6%N'?Q$�R�NR�N1>��%?$R� 6�/��O1$O'4$5�R#NN/O�ค/6#2 6ค5� 

Q��O6��6%�5�� 6/�N6$2>�คO6 �CON'?Q$�R�NR�N1>��%?$R26#6%�� 6/�N6$R�NR�N1>��%?$RR�O�5Q�/#� 
N�AP1��6�#?�'�'>�R�NR�N� 6�/��O1$�/N6ค/6#�O1��6%�1��CO�%>P"ค P�$�CO�AQ1R�NR�N1>��%?$RN�็��CO�%>P"คN� 64
�'BN#�?P�O1��6%R�NR�N�?P�'1�"5$�N12B�"6 �1���N1�O'4ค%1�ค%5/ �@�$>��?�AQ1R�NR�N1>��%?$R�?P#?%6ค62C��/N6
R�NR�N�5P/R�  
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�@#@��?Pั5.1 /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R 

#>�?��O��Q @ 
�ั��5$Q��6%�'>�R�NR�N1>��%?$R 

�6%�5�/6�ั��5$�6%�'>� 

#>�?��ล@��Q @ 
�6%N'?Q$�R�NR�N�6##6�%�6� 

�0B25�/R1>��%?$R1>��%?$R 
 

#>�?��ล@"�Q @ 
�6%� 6/�N6$�'�'>�R�NR�N1>��%?$R 

1. �?P�>� 

-  AQ��?P�A1ค%1��5Q�/#�N�'?P$ 10.31 R%N  
- '5�1�4�6%ค%1�ค%1��?P�>� 2N/�Q/�NN�็�

�?P�>��1���N1� 
2. �B�   

2.1 N�>��B�Q��6%N'?Q$�R�NR�N1>��%?$R#6�6�  
2 O/'N� คA1 N�>��B��1���N1� O'4N�>��CON�>��6�
2�6�5��6%N�>� �1��B�/#CN�O6� O'4O/'N�1AP�N 

2.2 �ั��5$�6%�'>� R�OO�N  
-  5��BRR�NR�N1>��%?$R R�O�6��6%N 64 5��BRN1� 

/�N/$�6�"6ค%5�� 6#6O�� O'4�AQ1�6��%>15��?P
� 6/�N6$ 5��BRR�NR�N 

- 16/6%R�NR�N1>��%?$R R�O�6��6%�2#
16/6%R�NR�N1>��%?$R�O/$��N1�P�$Q�O/5��B�>�
16/6%�?P#?1$CNQ��O1��>P� Q�O/5/16/6%�2#�5�
16/6%�?P#?1$CNQ��O1��>P� O'4Q�O16/6%2 6N%O�%C�
�2#�5�16/6%�?P#?1$CNQ��O1��>P� 

- P%�N%A1�O'41B��%�RQ��6%N'?Q$�R�NR�N
1>��%?$R #?�6%N'?Q$�R�NR�NQ�P%�N%A1�%4��N�>� 
2%O6�P%�N%A1��O/$��N1� 2 6/%5�1B��%�RQ��6%
N'?Q$�R�NR�N#?�5Q�2%O6��O/$��N1� R�O%5��6%
2�5�2�B��6�"6ค%5� O'4�AQ1�6�%O6�คO6/%A1
�%>15� 

3. O%��6�  
Q�OO%��6���N1� O%��6�Q�ค%1�ค%5/ O'4

O%��6��O6� 
4. �6%�%4�1��6% 

Q�%C�O���B%�>�O��N�O6�1�ค�N�?$/ N�็�
!6%R#��6�N'O� P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R
� 6/�O6�?P/6�O��O'4�%>/6%�5��6%N�?P$/�5��6%
�5�/6�ั��5$�6%�'>� �6%N'?Q$�R�NR�N1>��%?$R O'4
�6%�6$�'�'>�R�NR�N1>��%?$R 

1. �6%�5��6%Q��6%N'?Q$�R�NR�N1>��%?$R 
N�1�%�%#?�6%�5��6%Q��6%N'?Q$�R�N

R�N�6#�O1� 6/���1�#6�%�6�2>�คO6
N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R
1>��%?$R �5Q� 7 �O6� �%4�1��O/$  

-  AQ��?PN'?Q$�25�/R  
- �6%�5��6%!6%R#  
- O/'N��?P#6�1�25�/R  
- 16/6%25�/R  
- �6%�5��6%�O6�2B�"6 25�/R  
- �6%�5��6%#C'25�/RO'4�1�N2?$  
- �6%���5��@��O1#C' 

2. �6%�5��6%�'�'>�R�NR�N1>��%?$R  
- #?�6%� 6ค/6#2416�R�NR�N�N1�

� 6/�N6$ P�$�6%Q�O�O62416�O/O�N�O� 

- N�1�%�%�6�%6$#?�6%ค5�O$�
N�%�R�NR�NN�็�N�1%R 1 �@�N�1%R 5 O'4
N�%� A O'4 B O'4#?N�1�%�% 
�6�%6$R#N#?�6%ค5�O$�N�%�R�N  

- %6ค6R�NR�N1>��%?$R�?P�6$ 4-7 �6�
�N1!1� 

1. %C�O���6%� 6/�N6$R�NR�N1>��%?$R#? 2 
%C�O�� คA1  

1.1 �6%� 6/�N6$R�NR�N1>��%?$RP�$ 

R#N�N6�ค��'6� P�$�6$Q/O�CO�%>P"ค
�5P/R��?P�'6�2�Q�/#CN�O6� /�O6!6%R# 
�'6��5�2?N�?$/ 'C�คO6�?P� 6 MOU 

%O6�16/6%O'4P%�O%#�?P�6$16/6%
1>��%?$R  

1.2 �6%� 6/�N6$R�NR�N1>��%?$RP�$
�N6�ค��'6��6��6%�'6� P�$�6$
Q/O�5��'BN#/>26/�>��B#��O'4Pค%��6%
/'/� �%>15��?P%5��AQ1�'�'>�N�1�%
1>��%?$R O'4 N1คO6%/�%/#�'�'>� 

2. �N/�N/'6Q��6%� 6/�N6$R�NR�N
1>��%?$R คA1 �B�/5�  25��6/R'4 3 /5� 
O'4�B�25��6/R  
3. �6%�>��N1�5��CO�AQ1R�NR�N1>��%?$R #?
�6%�5�/5��AQ1�5��CO�AQ1R�NR�N1>��%?$R O'4
�>��N1�5��CO�AQ1R�NR�N1>��%?$R�6#ค/6#
24�/�  
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1.2 �@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ 
�6��6%0@�16�6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R�1��%4N�0R�$ P�$Q�OO�/ค>��1�

�6%�5��6%/N/�P�N1B��6� SCOR Model �?P�%4�1��O/$ 5 �%4�/��6%/'5� (Supply Chain Council, 

2010) คA1 <PSMDR= คA1 �6%/6�O�� (P-Plan) �6%�5��AQ1�5�/6 (S-Source) �6%�'>� (M-Make) �6%�5�2N�
/%A1�6%2N�#1� (D-Deliver) O'4�6%2N�คA� (R-Return) P�$N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%� 6N�>��6%�5�
%6$'4N1?$�Q��6%6��?P 5.2 

 

�@#@��?Pั5.2 �6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R �O/$ SCOR Model 

 

�#>�/��@#�?��@# �@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ั�O/"ัSCOR Model 

1.ั�@#/@�O��ั(P-Plan) 
   1.1 �6%/6�O���6%�5��AQ1
�5�/6�ั��5$�6%�'>� 

1) �6%/6�O���O6� 5��BR
R�NR�N1>��%?$R P�$
� 6/��� 6�/�R�NR�N
1>��%?$R�?P�O1��6%N'?Q$� 
 5��BRR�NR�N�?P�O1��6% 
O/'N��?P#6�1� 5��BRR�NR�N 
O'4/5�N/'6�?P�O1�25P��AQ1 
#?�6%�>��N1�CO�'>�/ 
�CO� 6/�N6$ 5��BRR�NR�N
1>��%?$R'N/�/�O6 

2) �6%/6�O���O6�16/6%
R�NR�N1>��%?$R P�$ >�6%�6
�@���>��1�/5��B�>�16/6%
25�/R�?P�O1�Q�ON�็�16/6% 
R�NR�N1>��%?$R �%>#6��1�
/5��B�>�16/6%25�/R�?P�O1�Q�O 
O/'N��1�/5��B�>�16/6%
25�/R O'4/5�N/'6�?P�O1�
25P��AQ1 #?�6%�>��N1�CO�'>�/ 
�CO� 6/�N6$/5��B�>�16/6%
25�/R1>��%?$R'N/�/�O6 /%A1#?
�6%/6�O���6%�'>�
/5��B�>�16/6%25�/R�?P
�O1��6%Q�O'N/�/�O6�6�
N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R"6$Q��'BN#N�?$/�5� 
O'4�6��6%� 6�O1��'�
'N/�/�O6�5��'BN#�CO�'>� A�
16/6%25�/R %/#�5Q�#?�6%
/6�O���6%25P��AQ1/5��B�>�
16/6%25�/R'N/�/�O6�6�
�N6��%4N�0  

3) �6%/6�O��N�?P$/�5�
P%�N%A1�O'41B��%�RQ�
�6%N'?Q$�R�NR�N1>��%?$R #?
�6%/6�O��Q��6%�N12%O6�
P%�N%A1� �>��5Q�%5�R�N O'4
�5�/61B��%�RQ/O16/6%
O'4�Q 6 P�$Q/O#?� 6�/��?P
N ?$� 1�5�� 6�/�R�NR�N�?P
N'?Q$�O'4N�็�R��6#
�O1� 6/���1�#6�%�6�
2>�คO6N�1�% N�1�%
1>��%?$R N'N# 2: �0B25�/R
1>��%?$R 
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�@#@��?Pั5.2 (�N1) 
 

�#>�/��@#�?��@# �@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ั�O/"ัSCOR Model 

   1.2 �6%/6�O���O6��6%
�'>� 

  #?�6%/6�O��Q��6%N'?Q$�R�NR�N1>��%?$R�?PQ/O#?�6%�5��6%�'>��6#�O1� 6/���1�
#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R �5Q� 7 �O6� �%4�1��O/$ 
 AQ��?PN'?Q$�25�/R �6%�5��6%!6%R# O/'N��?P#6�1�25�/R 16/6%25�/R �6%�5��6%�O6�2B�"6 
25�/R �6%�5��6%#C'25�/RO'4�1�N2?$ O'4�6%���5��@��O1#C' O'4#?�6%/6�O��N�?P$/�5�
�6%�5��6%�'�'>�R�N1>��%?$R Q/ON�็�R��6#ค/6#�O1��6%�1�'C�คO6/%A1�CO%5��AQ1�'�'>�
�5Q�Q��O6��6%ค5�N�%�R�NR�N O'4�%%�B"5��R 

   1.3 �6%/6�O���O6��6%2N�
#1�O'42N�คA��'�'>�R�NR�N
1>��%?$R  

  #?�6%/6�O��N�?P$/�5�%4$4N/'6�6%2N�#1��'�'>�R�NR�N1>��%?$R P�$2N�#1�Q/O�5�
�CO�%>P"คP�$�%��?P�6$/�O6!6%R# O'42N�#1�Q/O�5�ค��'6��?P%5��AQ1�'�'>��6#
�N/�N/'6�?P� 6/��   

2.ั�@#�?��AQอ�?�ห@�ั��?"�@#�ล>�ั(S-Source) 
   2.1  5��BRR�NR�N1>��%?$R   #?�6%�5�/6 5��BRR�NR�N1>��%?$R�6�/'6$O/'N��'>��@Q��5�/5��B�%42�คRO'4ค/6#26#6%�

Q��6%�5�/6 5��BRR�NR�N1>��%?$R P�$#?O/'N� 5��BRR�NR�N1>��%?$R คA1 1) /�N/$�6�"6ค%5� 
R�OO�N �%#�0B25�/R 0C�$R 5��6�0B25�/R�6# %4%6�� 6%> 1 6N"1�N6��O6$ �5�//5�N'$ O'4
#/6/>�$6'5$O#NP�O 2) %O6�คO6O'4�%>15��?P�6$R�NR�N26$ 5��BR�6��6%คO6 3) �'BN#N�1�%�%
O'4/>26/�>��B#�� 4) N AP1��O6� 5) �'>�'C�R�NR�NN1� 

   2.2 16/6%R�NR�N1>��%?$R    N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�4N�็��CO�2#16/6%2 6/%5�N'?Q$�R�NR�NP�$Q�O /5��B�>�
16/6%25�/R��>��N6� N �O/$��N1� �@P�N�1�%�%�CON'?Q$�R�NR�N1>��%?$RO�N'4%6$/�'BN##?
�6%�5��AQ1�5�/6/5��B�>�16/6%25�/R�?PO���N6��5� �5��?Q 
  1) 25P��AQ1/5��B�>�16/6%25�/R1>��%?$R�6�N�1�%�%�CO�'C� A�1>��%?$R P�$#?�6%25P��1�
'N/�/�O6/%A1� 6�O1��'�'N/�/�O6  
  2) 25P��AQ1/5��B�>�16/6%25�/R1>��%?$R�6���>��6��N6��%4N�0 R�OO�N �6��5P/N/'A1�
1>��%?$R P�$#?�6%25P��AQ1�6��%4N�01>�N�?$ Q�O/>�?�6%��2N��6�N%A1 �@P�25P��AQ1Q�
�%>#6�#6�O'O/� 6#6�5�O�N�Q/ON�1�%�%�CON'?Q$�R�NR�N1>��%?$R"6$Q��'BN# 

  3) �'C� A�1>��%?$R�O/$��N1� O'4� 6 A�/%A1�' '1$R�O/%A1N01N/'A1#6Q�ON�็�
/5��B�>�16/6%25�/R R�OO�N �6%� 6�6�O6/1>��%?$R�?PR�O�'6$�O6/O'4% 6�O6/�6��6% 

2?�O6/1>��%?$R�1��5/N1� �6%�'C� A�/�5�Q�%4��N�1�%1>��%?$R O'O/� 6 A�/�5�O'4
N01N/'A1#6Q�ON�็�16/6%2 6/%5�N'?Q$�R�NR�N1>��%?$R 
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�@#@��?Pั5.2 (�N1) 
 

�#>�/��@#�?��@# �@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ั�O/"ัSCOR Model 

2.ั�@#�?��AQอ�?�ห@ั(S-Source) 
   2.2 16/6%R�NR�N1>��%?$R  
(�N1) 

  4) 25P��AQ1/5��B�>�16/6%25�/R1AP� N �6��CO�6$/5��B�>�16/6%25�/R P�$/5��B�>�16/6%
25�/R�5Q�26#6%�Q�OR�OQ��%>#6��?P� 6/���6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% 
N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R P�$�CO�6$/5��B�>�16/6%25�/R�4N�็��CO�?P�5�2N�Q/O
�@�!6%R# 

   2.3 P%�N%A1�O'41B��%�R
Q��6%N'?Q$�R�NR�N1>��%?$R  

1) P%�N%A1�N'?Q$�R�NR�N 
N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R2%O6�P%�N%A1�
N'?Q$�R�NR�N�O/$��N1� 
P�$Q�O/52�B�?P26#6%�
�5��AQ1�6#%O6�คO6�5P/R� 

2) %5�R�N2 6/%5�Q/OO#NR�N
/6�R�N N�1�%�%�CON'?Q$�R�N
R�N1>��%?$R2N/�Q/�NQ�O
�4�%O6 '62�>��?P�AQ1�6#
%O6�คO6�5P/R� #?N�1�%�%
�6�%6$�?P2%O6�%5�R�N�?P#?
'5�1�4N�็��'N1�R#O�?P#?
�N1�2 6/%5�Q/OO#NR�N/6�R�N 

3) 1B��%�RQ/O16/6%O'4�Q 6
Q��6%N'?Q$�R�NR�N1>��%?$R 
N�1�%�%�CON'?Q$�R�NR�N
1>��%?$R�AQ11B��%�RQ/O
16/6%O'4�Q 6�6#%O6�คO6
�5P/R� #?N�1�%�%�6�%6$�?P
�5�� 6%6�16/6%R�NR�N�O/$
��N1� P�$Q�O%6� '62�>� 
%6�R#O /%A1%6��C� 

3. �@#�ล>�ั(M-Make)ั�6%N'?Q$�R�NR�NN AP1Q/OR�OR�NR�N1>��%?$R�4� 6N�>��6%�6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% 
N�1�%1>��%?$R N'N# 2: �0B25�/R1>��%?$R 
   3.1  AQ��?PN'?Q$�R�NR�N1>��%?$R   N'?Q$�R�NR�NO���'N1$ AQ� #? AQ��?P�'6�O�O�Q/OR�N R�N11�#6N�>�คBO$N�?P$O'4O2��

 &�>�%%#�6#�%%#�6�> P�$ AQ��?PN'?Q$�R�NR�N#?�1�N�� AQ��?P�5�N�� O'41$CN/N6��6�
�O6� 5�1605$ 

   3.2 �6%�5��6%!6%R#N'?Q$�
R�NR�N1>��%?$R  

  #?�6%N'?Q$�R�NR�NO���'N1$ AQ� P%�N%A1�N�็�P%�N%A1�O��N�>�  AQ�P%�N%A1�N�็�
 AQ��>�15�O�N�#?O�'�%1� AQ� #? AQ��?P�'N1$�'6�O�O�Q/OR�N11�#6N�>�คBO$N�?P$/6�>�
16/6% "6$Q�P%�N%A1�#?ค1��1� %5�R�N 1B��%�RQ/O16/6%O'4�Q 6 

   3.3 O/'N��?P#6�1�R�NR�N
1>��%?$R  

  N�1�%�%N'?Q$�R�NR�N1>��%?$R 5��BRP%�R12RO'��RR�$�?P�'>� 5��BRP�$�%#�0B25�/R  5��BR
'C��2#P%�R12RO'��RR�$�5� 5��BRN�?P$�R2O  5��BRN'O�21%R��6/ O'4 5��BR�? ?�%6/�R �@P�
�AQ1�6�/�N/$�6�"6ค%5�O'4O/'N�� 6/�N6$�5P/R� R#NQ�NO/'N��'>� 5��BRR�NR�N1>��%?$R
P�$N� 64 O�NN�AP1��6�N�1�%�%N'?Q$�R�NR�NN�็�%4$4N/'6�6�  � 6Q/O#?%4$4
�%5�N�'?P$��6#�?P#6�%�6�� 6/�� คA1 25�/R�?��'>�R�N#?%4$4�%5�N�'?P$� 6 25��6/R 
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�@#@��?Pั5.2 (�N1) 
 

�#>�/��@#�?��@# �@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ั�O/"ัSCOR Model 

   3.4 16/6%R�NR�N1>��%?$R   N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�2#16/6%2 6/%5�N'?Q$�R�NR�N1>��%?$R�O/$��N1� #?
N�1�%�%�6�%6$Q�O16/6%�2#�1��'BN#�?P��N1�N�็�2#6�>� /5��B�>�16/6%25�/R�?P
� 6#6Q�O�2#16/6%R�NR�N1>��%?$R2N/�Q/�NQ�O/5��B�>�16/6%25�/R1>��%?$R�?PR�O�6��6%
�'C�Q�!6%R#�1���N1� N�N� �O6/ �%4�>� /�O6//6�1>2%6N1' O'4�'O/$ #?�6%25P��AQ1
/5��B�>�16/6%25�/R�6�Nค%A1�N6$N�1�%1>��%?$R�?PR�O%5�%1�#6�%�6�N�1�%1>��%?$R 
IFOAM N�N� N�'A1��BO� N�'A1��C#O6 �6��'BN#�%4#�1>��%?$R�?PO/'#�5�N�?Q$ �5�//5�
2#B�%�%6�6% O'4�6��6�6�Nค%A1�N6$�%?�N�� �1��6��?Q $5�#?�6%25P��AQ1/5��B�>�
16/6%25�/R�6�Nค%A1�N6$�'BN#N�1�%�%�?P�'>� A�1>��%?$R N�N� �O6/P �1>��%?$R�6�
�5�//5��6����B%? �5P/N�?$/1>��%?$R�6��B%?%5#$R %/#�5Q�#?�6%�AQ1/5��B�>�16/6%25�/R�6�
��>��?PR#N26#6%��'>�R�OO'4R#NQ�N/5��B�>�16/6%25�/R1>��%?$R#6Q�O�2#16/6%25�/RQ�
%4�5��?P26#6%�Q�OR�O�6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: 
�0B25�/R1>��%?$R 

   3.5 �6%�5��6%2B�"6 R�NR�N
1>��%?$R  

  N�1�%�%�CON'?Q$�R�NR�N1>��%?$RQ�O2#B�R %Q��6%�O1��5�%5�16P%ค P�$#?�6%�'C�
2#B�R %�?P26#6%�� 6#6Q�OQ��6%�O1��5�P%คR�NR�N Q��%>N/�!6%R#N'?Q$�R�NR�N N�N�  
!O6�4'6$P�% �1��6��?Q $5�#?�6%�'>��Q 6/#5��?/"6 �?PQ�ON AP1Q/OR�NR�N#?2B�"6 
O�O�O%� #?�6%O$�N'?Q$�R�N�N/$ O�N$5�#?N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�6�%6$�?P#?�6%Q�O
$6O���ั��B�5�Q��6%%5�16P%คR�NR�N 

   3.6 �6%�5��6%#C'25�/RO'4
�1�N2?$  

  N�1�%�%�CON'?Q$�R�NR�N1>��%?$R� 6#C'R�N#6Q�ON�็��BO$2 6/%5� A�Q�!6%R# O'4� 6�5� 

R�N�6$P�$�6%�ั��'� 

   3.7 �6%���5��@��O1#C'    N�1�%�%�CON'?Q$�R�NR�N1>��%?$R2N/�Q/�N#?�6%���5��@��O1#C'Q��O6�O/'N��?P#6�1�
 5��BR25�/RO'416/6%25�/R O'4� 6�/��'�'>�R�NR�N 2N/��O1#C'1AP� N #?�6%�5��@��O1$ 

   3.8 �6%�5��6%�'�'>�R�NR�N
1>��%?$R  

  N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�6%N�O�R�NR�N 2 �@� 4 ค%5Q��N1/5� �6��5Q�� 6ค/6#2416�
R�NR�N P�$N�1�%�%�6�%6$/�'BN# #?�6%ค5�N�%�R�NR�N�6#�Q 6/�5��N1��%%�BQ��%%�B
"5��R P�$#?�6%O�N�N�%�R�NR�N 2 O�� คA1 1) N�%� A O'4 B O'4 2) N�%�R�N N�1%R 1 
�@� N�1%R 5 2 6/%5��%%�B"5��RR�NR�N1>��%?$R#? 2 ��6� คA1 O���'N1��%4�61/%A1�'N1�
 '62�>��?P�%%�BR�N 10 !1� O'4O���%%�BQ��6� '62�>�/%A1�6��%4�61�?P�%%�BR�N 
30 !1� 
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�@#@��?Pั 5.2 (�N1) 
 

�#>�/��@#�?��@# �@#�?��@#หN/�P�NอB��@��@#�ล>�R�NR�Nอ>��#?"์ั�O/"ัSCOR Model 

4 �@#2N�!อ�ั 
(D-Deliver) 

  #?�6%� 6/���6%2N�#1��'�'>�R�NR�N1>��%?$R�6#O/'N�� 6/�N6$O'4�6#�N/�N/'6�?P
� 6/�� P�$#?�%4�/��6%2N�#1��@P��@Q�1$CN�5��N1��6��6%�6$R�NR�N1>��%?$R คA1 1)

�6$Q/O�5��CO�%>P"คP�$�%� 2) �6$Q/O�5��CO25P��AQ1%6$Q/�N N�N� P%�O%# %O6�P#N�>%R�N�
%� N�็��O� 3) �6$Q/O�5�0C�$R�%4�6$2>�คO6/%A10C�$R%/�%/#R�N 4) �6$Q/O�5��%>15�
%5��AQ1�'�'>�N�1�%1>��%?$R O'4 5) �6$Q/O�5�Pค%��6%/'/�/�'BN#N�1�%�%/
/>26/�>��B#�� 

5.ั�@#2N�คA�ั 
(R-Return) 

  R#N �/N6#?�6%2N�คA�2>�คO6 N�AP1��6�N�>�ค/6#N2?$/6$%4//N6���2N��O1$#6� O'4
'C�คO6N�O6Q�N�?P$/�5�'5�1�4�1�2>�คO6O'4ค/6#N2?$/6$�?P16��4N�>��@Q�%4//N6��6%
��2N�   

 

�6��6%0@�16/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ �%4�1��O/$ค/6#N�AP1#P$�
�1��>��%%#�N6�N Q��6%�'>�R�NR�N1>��%?$R �5Q�O�N%4�5��O��Q 6 R�OO�N �ั��5$Q��6%�'>�R�NR�N1>��%?$RO'4�6%
�5�/6�ั��5$�6%�'>� %4�5��'6��Q 6 R�OO�N �6%N'?Q$�R�NR�N1>��%?$R�6##6�%�6�2>�คO6N�1�% N�1�%1>��%?$R 
N'N# 2: �0B25�/R1>��%?$R ���@�%4�5��'6$�Q 6 R�OO�N �6%� 6/�N6$�'�'>�R�NR�N1>��%?$R 21�ค'O1��5� ��>�  
P2%5��R (2550: 62-102) �?P�'N6//N6 �6%�5��6%/N/�P�N1B��6� N�็��6%� 6N�>��6��?P�$6$�1��N6$�6�%4�5�
"6$Q��%>15� R�2CNค/6#%N/##A1%4//N6��%>15��5Q�Q�2N/��?PN�?P$/�O1��5��CO�'>�/%A1�CO�6$ �5Q�O�N�O��Q 6 �'6��Q 6 
O'4�'6$�Q 6 21�ค'O1��5��6�/>�5$�1� N�>� R�%�%6 (2556) R�O� 6�6%0@�16/>�5$Q�N%AP1� �6% 5��6/N/�P�N
�6%�'>�O'4�'6�2>�คO6N�1�% คA1 �6%/6�ั��5$�6%�'>� (�O��Q 6) �6%�'>� (�'6��Q 6) �6%%/�%/#�'�'>� 
O'4�6%ค5�N�%�2>�คO6 �6%คO6/คO62N� (�'6$�Q 6) �6%O�%%C�O'4�%%�B/?�/N1 O'4�6%�6$�'?�O'4�6%2N�11�  

�6%�5��6%/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$R�1��%4N�0R�$ P�$Q�OO�/ค>��1��6%�5��6%
/N/�P�N1B��6� SCOR Model �?P�%4�1��O/$ 5 �%4�/��6%/'5� คA1 <PSMDR= R�OO�N �6%/6�O��  
(P-Plan) �6%�5��AQ1�5�/6 (S-Source) �6%�'>� (M-Make) �6%2N�#1� (D-Deliver) O'4�6%2N�คA�  
(R-Return) N�็�R��6#O��� 6'1�1O6�1>��6%� 6N�>��6�Q�/N/�P�N1B��6� /%A1 SCOR Model (Supply 

Chain Operations Reference Model) �?P�C� 5��6�@Q��5Q�O�N�? ค.0. 1996 P�$ค�4�CON�?P$/�6��O6��5 '6$
N��O'4P'�>2�>�2R�6� Supply Chain Council (SCC) O'421�ค'O1��5��6�/>�5$�1� #��>%6  %#�? O'4
ค�4 (2565) �6%0@�16O��� 6'1�1O6�1>��6%� 6N�>��6�/N/�P�N1B��6� (SCOR Model) �%�?0@�16: 
�CO�%4�1��6%�B%�>�!6%R#�>Q�/%?� �B#���O6�O2��1 � 6�'�5/Q/�N 1 6N"1�Q 6 1� �5�//5��1�O�N� #?
/5��B�%42�คRN AP1�5�� 6 SCOR Model 2 6/%5��6%� 6/��Pค%�%N6�/N/�P�N1B��6� �%4�1�R��O/$ �6%
/6�O�� �6%�5�/6 �6%�'>� �6%�5�2N� O'4�6%2N�คA�  
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1.3ั�ัญห@ัOล>�OอN2�อO�>Q��@#�ล>�R�NR�Nอ>��#?"์ 
�6��6%0@�16/N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ ��ั�/6O'4�O1N2�1O�4

Q��6%�'>�R�NR�N1>��%?$R�1�N�1�%�%�CON'?Q$�R�NR�N1>��%?$R �5��?Q 
1.3.1 �ั�/6Q��6%�'>�R�NR�N1>��%?$R �6��6%0@�16  �/N6 N�1�%�%�CON'?Q$�R�NR�N1>��%?$R

�%42��ั�/6Q��6%�5��6%N'?Q$�R�NR�N1>��%?$RQ�"6 %/#1$CNQ�%4�5��O1$ �5Q�Q�%4�5��O��Q 6 �?PN�?P$/�O1��5�
�ั��5$Q��6%�'>��6%�'>�R�NR�N1>��%?$R %4�5��'6��Q 6 �?PN�?P$/�O1��5��6%�5��6%�6%�'>�R�NR�N1>��%?$R O'4
%4�5��'6$�Q 6 �?PN�?P$/�O1��5��6%�5�� 6/�N6$�'�'>�R�NR�N1>��%?$R  

1.3.2 �O1N2�1O�4Q��6%�'>�R�NR�N1>��%?$R N�1�%�%�CON'?Q$�R�NR�N1>��%?$R#?�O1N2�1O�4 
N�?P$/�5��6%2�5�2�B��6�/�N/$�6�"6ค%5�Q��6%Q/Oค/6#%CON�?P$/�5��6%�'>�R�NR�N1>��%?$R Q��%4N�O� �6%
�5��6%Q��6%N'?Q$�R�NR�N1>��%?$R�6#�O1� 6/���1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2:  
�0B25�/R1>��%?$R �O6�2C�%16/6%R�NR�N1>��%?$R �O6��6%���5��@��O1#C' O'4�O6��6%�O1��5�P%ค%4�6� 
%/#�5Q��6%Q/Oค 6�%@�16�6�N�O6/�O6�?P�0B25�/R 

1.4ัO�/�@��@#�?��@�@#�ล>�R�NR�Nอ>��#?"์�ลอ�หN/�P�NอB��@� 

O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N1B��6� �6��'�6%0@�1626#6%�N2�1
O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$RQ�O�N'4%4�5�/N/�P�N1B��6� �5�O2��Q��6%6��?P 5.3 
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�@#@��?Pั5.3 O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R�'1�/N/�P�N1B��6� 

 

O�/�@��@#�?��@�@#�ล>�R�NR�Nอ>��#?"์�ลอ�หN/�P�NอB��@� 

#>�?��O��Q @ 
1.ั�?��B์R�NR�Nอ>��#?"์ 

 

N�1�#�#�CONล?Q"�R�NR�Nอ>��#?"์ 
- #?�6%/6�O��Q��6%�'>�'C�R�NR�N1>��%?$RQ�
!6%R#�1���N1�  
- #?�6%2N�N2%>#O'42�5�2�B�Q/O#?�6%�'>�
'C�R�NR�N1>��%?$R"6$Q��'BN#N�1�%�%  
- #?�6%/6�O��O'425P��AQ1'C�R�NR�N1>��%?$R
'N/�/�O6 �6�O/'N��'>��?P�N6N�AP1�A1  

 

ห�N/"�@��?PN�?P"/�Oอ�ั 
1)ั�#!�0B2?�/์ั(2 @�?��@��0B2?�/์

�?�ห/?�Oล>�0B2?�/์อ @N อ)ัOล>
2�@�?��@#0@�1@ 
- #?�6%�%5��%B� 5��BRR�NR�N1>��%?$R�?P

N/#642#�5�2"6 �6%N'?Q$��1�N�1�%�%  
2) �#!�0B2?�/์ั(2 @�?��@��0B2?�/์

�?�ห/?�Oล>�0B2?�/์อ @N อ)ัOล>
2 @�?��@�N�1�#Oล>2ห�#�์�?�ห/?� 

- �5�/6O'42%O6�Nค%A1�N6$Q/O�5�
N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�5��'BN#
N�1�%�%�?P�'>� 5��BRR�NR�N1>��%?$R 

- Q/O�O1#C'N�?P$/�5�O/'N� 5��BRR�NR�N
1>��%?$R 

2.ัอ@ห@#R�NR�N
อ>��#?" ์

N�1�#�#�CONล?Q"�R�NR�Nอ>��#?"์ 
- #?�6%�'C� A�16/6%25�/R�?P26#6%�Q�ON�็�
/5��B�>�16/6%2 6/%5�N'?Q$�R�NR�N1>��%?$R
"6$Q�!6%R#�1���N1�  
- N'A1�O/'N��'>�16/6%25�/RO'4/5��B�>�
16/6%25�/R�?PR�O%5��6%%5�%1�#6�%�6�
1>��%?$R  
- #?�6%2%O6�Nค%A1�N6$�5��'BN#N�1�%�%�?P�'C�
 A�1>��%?$R  

ห�N/"�@��?PN�?P"/�Oอ� 
1)ั�#!�0B2?�/์ั(2 @�?��@��0B2?�/์

�?�ห/?�Oล>�0B2?�/์อ @N อ)ัOล>
2�@�?��@#0@�1@ 
- �5�1�%#Q/Oค/6#%CON�?P$/�5�16/6%R�N

R�N1>��%?$R O'4�6%�'>� A�16/6%25�/R
1>��%?$R 

- ค>�คO�2C�%16/6%R�NR�N1>��%?$R�?PQ�O
/5��B�>�16/6%25�/RQ��O1��>P�  

- Q/O�O1#C'N�?P$/�5�O/'N��1�16/6%
O'4/5��B�>�16/6%R�NR�N1>��%?$R 
2)ั�#!�0B2?�/์ั(2 @�?��@��0B2?�/์
�?�ห/?�Oล>�0B2?�/์อ @N อ)ัOล>�#!
2N�N2#>!�@#N�1�# 

- �5�/6O'42%O6�Nค%A1�N6$Q/O�5�
N�1�%�%�CON'?Q$�R�NR�N1>��%?$R�5��'BN#
N�1�%�%�?P�'C� A�1>��%?$R  
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�@#@��?Pั5.3 (�N1) 
 

O�/�@��@#�?��@�@#�ล>�R�NR�Nอ>��#?"์�ลอ�หN/�P�NอB��@� 

#>�?��ล@��Q @ N�1�#�#�CONล?Q"�R�NR�Nอ>��#?"์ั 
- � 6ค/6#N�O6Q��O1��>�5�>�N6�N �?P� 6/��Q�
#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R N'N# 2: 
�0B25�/R1>��%?$R 
- �CO� 6�'BN#N�1�%�%ค/%Q/Oค/6#%COO'4ค/6#
N�O6Q�Q�N%AP1��6%�'>�R�NR�N1>��%?$R1$N6�
�C��O1� O'4�5�Q/O#?N�1�%�% ?PN'?Q$�Q��6%
O�4� 62#6�>�Q/#N 
- #?�6%%/#�'BN#O'42%O6�Nค%A1�N6$Q��6%�'>�
R�NR�N1>��%?$RQ/Oค%�/��%�6%�'>�  
- #?�6%ค/�คB#คB�"6 �'�'>�R�NR�N1>��%?$R 

ห�N/"�@��?PN�?P"/�Oอ�  
�#!�0B2?�/์ั(2 @�?��@��0B2?�/์�?�ห/?�
Oล>�0B2?�/์อ @N อ)ั2 @�?��@�N�1�#
Oล>2ห�#�์�?�ห/?�ัOล>
2�@�?��@#0@�1@ 

- �5�1�%#Q/Oค/6#%COQ��6%�'>�R�NR�N
1>��%?$RQ�O�N'4�5Q��1��6#�O1� 6/��
�1�#6�%�6�2>�คO6N�1�% N�1�%1>��%?$R 
N'N# 2: �0B25�/R1>��%?$R  

- #?�6%�5��5Q�0C�$RN%?$�%CO�O�O���6%
�'>�R�NR�N1>��%?$R 

#>�?��ล@"�Q @ N�1�#�#�CONล?Q"�R�NR�Nอ>��#?"์ั 
- #?�6%%/#�'BN#Q��6%�5�� 6/�N6$�'�'>�R�N
R�N1>��%?$R N AP1�5�/6�'6�R�NR�N1>��%?$R �6%
� 6/��%6ค6 O'4�6%�5�2N�R�NR�N1>��%?$R 

ห�N/"�@��?PN�?P"/�Oอ�ั 
1)ั�#!�0B2?�/์ั(2 @�?��@��0B2?�/์
�?�ห/?�Oล>�0B2?�/์อ @N อ)ั2 @�?��@�
N�1�#Oล>2ห�#�์�?�ห/?�ัOล>
2 @�?��@��@�>�"์�?�ห/?� 

- #?�6%�5�/6�'6�2 6/%5�R�NR�N1>��%?$R  
- #?�6%�C%�6�6%%4//N6�/�N/$�6��?P
2N�N2%>#�6%�'>�R�NR�N1>��%?$RO'4
/�N/$�6��?P� 6�5��CO'�O6��'6� 

2)ั�#!�0B2?�/์ั(2 @�?��@��0B2?�/์
�?�ห/?�Oล>�0B2?�/์อ @N อ)ั2 @�?��@�
N�1�#Oล>2ห�#�์�?�ห/?�ัOล>�#!
2N�N2#>!�@#N�1�# 
- 2�5�2�B�O'4Q/Oค/6#%CON�?P$/�5��%%�B
"5��RR�NR�N  

 

3.ั�OอN2�อO�> 
�6%/>�5$N%AP1� /N/�P�N1B��6��6%�'>�R�NR�N1>��%?$RQ��%4N�0R�$ #?�O1N2�1O�4Q��6%/>�5$ �5��?Q 

3.1ั2 @ห#?�N�1�#�#�CONล?Q"�R�NR�Nอ>��#?"์ �O1N2�1O�4N�?P$/�5�O�/�6��6% 5��6�6%�'>�R�NR�N
1>��%?$R%4�5�N�1�%�% N AP1Q/O�6%�'>�R�NR�N1>��%?$R� 6N�>��6%R�O�%42��'2 6N%O�O'4� 6N�>��6%�N1R�1$N6�
$5P�$A� #?�5��?Q 



100 

 

 

1) N�1�%�%ค/%� 6N�>��6%�'>��6��6%N�1�%Q�%C��1��6%N�1�%O���2#�26� �@P�#?�6%
� 6N�>��6%�'>��5Q� A�O'425�/R�?P#?�6%N�AQ1�C'�5��1��ั��5$�6%�'>� �O�4� 6Q/O'��ั�/6�6%�6�Oค'�/5��B�>�
16/6%25�/R1>��%?$R /%A1'��ั�/6�6%R#N26#6%�/616/6%1>��%?$RQ/O25�/RN'?Q$�R�O 

2) N�1�%�%ค/%#?�6%2%O6�Nค%A1�N6$%4//N6��'BN#�1���N1��5��'BN#N�1�%�%1AP� N �?PN'?Q$� 
R�NR�N1>��%?$R /%A1�'BN#N�1�%�%1AP�N �?P�'>�/5��B�>�16/6%25�/R/%A1 A�16/6%25�/R N AP1Q/ON�>��6%O'�N�'?P$�
ค/6#%CO �%42��6%�R �O1ค>�N/O��N6�N %/#�5Q�#?�6%O'�N�'?P$��ั��5$�6%�'>� N�N� /5��B�>�16/6%25�/R/%A1 A�
16/6%25�/R #?�6%2%O6�ค/6#25# 5��R�?P�?�N1�5� �N/$N/'A1�B�N�A1�N1�5� O'4$5��N/$2%O6�ค/6#N�O#O�O�Q��6%
�'>�O'4�6%�'6�  

3.2ั2 @ห#?�ห�N/"�@��?PN�?P"/�Oอ� �O1N2�1O�4N�?P$/�5�O�/�6��6% 5��6�6%�'>�R�NR�N1>��%?$R
2 6/%5�/�N/$�6��?PN�?P$/�O1�#?2N/�Q��6%�'5��5�Q/O�6%�'>�R�NR�N1>��%?$R25#&��>N�'O'4� 6N�>��6%R�O1$N6�
�N1N�AP1� #?�5��?Q 

1) "6ค%5�ค/%#?�6%2N�N2%>#�6%N'?Q$�R�NR�N1>��%?$R1$N6��%>��5�O'4�N1N�AP1� 
2) "6ค%5�P�$N� 64/�N/$�6��1��%4�%/�N�1�%O'42/�%�R N�N� �%#�0B25�/R �%#

2N�N2%>#�6%N�1�% ค/%#?�P$�6$�5�/6/5��B�>�16/6%25�/R1>��%?$R /%A1�'>� A�16/6%25�/R1>��%?$RQ/O�5�
N�1�%�%�?PN'?Q$�R�NR�N1>��%?$R N AP1�N/$'��ั�/6�O6�16/6%25�/R1>��%?$R 

3) N�O6/�O6�?P2N�N2%>#�6%�'>��0B25�/R1>��%?$Rค/%#?�6%Q/Oค/6#%CON�?P$/�5��6%�'>�R�NR�N
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�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

3. �O@��B�Q��@%Nล?Q$�R�NR�Nอ>��%?$์      

'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

�B�Q��@%Nล?Q$�R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
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 4. �O@��@%�อ%?�%อ�#@�%�@�N�1�%อ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

�@%�อ%?�%อ�#@�%�@�N�1�%อ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

 5. �O@� ?��B์R�NR�Nอ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

 ?��B์R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

6. �O@�อ@3@%R�NR�Nอ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

 ?��B์R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

7. �O@�O3ลN��Q @�?PQ�ONล?Q$�R�NR�Nอ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

O3ลN��Q @�?PQ�ONล?Q$�R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
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8. �O@��@%�?��@%2?�/์�N/$ 

'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 
1 2 3 4 5 

�@%�?��@%2?�/์�N/$      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

9. �O@�P%ค%>�@�Oล>�@%�Oอ��?�P%ค%>�@� 

'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 
1 2 3 4 5 

P%ค%>�@�Oล>�@%�Oอ��?�P%ค%>�@�      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

10.  �O@��@%���?��@��Oอ#Cล�N@�N N�?P$/�?��@%Nล?Q$�R�NR�Nอ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

�@%���?��@��Oอ#Cล�N@�N N�?P$/�?��@%Nล?Q$�R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

  11.  �O@�%@ค@� @3�N@$�ล�ล>� ( NอO#N ?��B์R�NR�Nอ>��%?$์/ ลC�R�N�@�%>$>R�NR�N2@//R�NR�Nอ>��%?$์) 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

%@ค@� @3�N@$�ล�ล>��?P�@$ ( NอO#N ?��B์R�NR�Nอ>��%?$์/ ลC�R�N�@�%>$>R�N
R�N2@//R�NR�Nอ>��%?$์) 

     

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
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12.  �O@��ล@��อ�R�NR�Nอ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

�ล@��อ�R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

13.  �O@�คB�"@ �อ�R�NR�Nอ>��%?$์ 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

คB�"@ �อ�R�NR�Nอ>��%?$์      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

14.  �O@�อAP�N (�O@#?) 
'ัญ3@Oล>�OอN2%อO%> #> ?&ค/@!ค> N3O%!Nอ'ัญ3@ 

1 2 3 4 5 

�O@�………………………………………………………………………………………..      

�OอN2�อO�> (P�%�%>�B)………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………………………….. 
 

 

�อ�อ&�#>คB�#B�#N@%#?PQ3Oค/@!อ%BNค#@>3์Q%�@#!อ&O&&2อ&"@!�@#/>�?"Q%ค#?Q�%?Q 
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